= 1)—X CClI

AVENTICS™  AVENTICSCCI>U—X a2 INY &
1) A (1SO 21287 X
M3 ) EMERSON.



AVENTICSCCI =X AV NI KD H 2

< 1)—X CCl

AVENTICS CCI 21U —X (IS0 21287) D AR EHMN TN N s BE L ERICHSETEDRITTT, CClU—
A(1S021287) k., OYJARNA—VIZRET, Y1 IVIN A ALALBBHEEZHEILTZEOOEHNBMLTVET,
toHER., TEP<KFRICIXNTOFMEIIC, LV A2EBICBRYFTREHNTEET,

EMERSON.



AVENTICSCCI =X AV NI KD H 3
(1SO 21287) 2023-11-22

ABK

AB7

AT4 &‘@?}‘ MP4
S

AA4
<y
MP2 % S
29
&

MS1
X MF1/MF2

>Ry

-~

CCl + HU1 [55) “*“f; :

EMERSON.



AVENTICS CCI ' U—X VNI RIS
(ISO 21287)

4
2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
RREE

oyl

RTZY MIEEANY

EERE

it U

it U

SUUNEME. BE BAK

[revy

Z5L—/8 ERRY  ERARY  IFUTLES
HABBE N HBE
IN] IN]
16 5 M5 HMEEE | YIXRYBN M4 | BEETEHR 12 115 R422001392
HEERN Z5L—/N
>
16 10 M5 MRS | YJXY N M4 | BEIER 12 115 R422001402
HEERAN 2oL~/
>
16 15 M5 HERE | YRV M4 | BETXEH 12 115 R422001412
HEERR 25L—I%
>
16 20 M5 BEEE | YITXRYN M4 | BETXR 12 115 R422001422
HEERR Z5L—/N
>
16 25 M5 BUEE | YIXRYKN M4 | BETXR 12 115 R422001432
HEERAN 25 L—)\
>
20 5 M5 EUEE | YIXRYBN M6 | BETXH 13 185 R422001393
HEERARN Z5L—I%
>
20 10 M5 HEEE | YIXRYN M6 | EETZEH 13 185 R422001403
HEERN Z5L—I%
>
20 15 M5 BURE | YIXRYKN M6 | BEIXA 13 185 R422001413
HEERAN Z5L—IN
>
20 20 M5 HMEE | YUXY N M6 | ZBEIXER 13 185 R422001423
HEERAN Z5L—IN
>
20 25 M5 HEEE | YIXRYKN M6 | BEIXHA 13 185 R422001433
HEEAN Z5L—I%
>
25 5 M5 HMEEE | YRV M6 | EETHEH 25 284 R422001394
HEERN Z5L—IN
>
25 10 M5 MR | YUXY N M6 | ZBEIXER 25 284 R422001404
HEERAN 2oL~/
>
25 15 M5 HEEE | YRV M6 | BEIXH 25 284 R422001414
HEERR Z5L—I%
>

EMERSON.



AVENTICSCCI =X AV NI KD H S
(1SO 21287) 2023-11-22

AN  ARO—% K-k Z5L—/8 ERRY  ERARY  IFUTLES
> o [mm] HABE BB
mm] IN] IN]
25 20 M5 MR | YUXY N M6 | ZBEIXR 25 284 R422001424
HEERAN 25 L=\
>
25 25 M5 BUEE | YRV M6 | BEIXHA 25 284 R422001434
HEEARN Z5L—I%
>
32 5 G 1/8 HEEE | YRV M8 | EETZEH 35 472 R422001395
HEEAN Z5L—I%
Y
32 10 G 1/8 BUEE | YIXRYKN M8 | BRETXA 35 472 R422001405
HEERN Z5L—/N
>
32 15 G 1/8 HMEE | YUXY N M8 | BEIXRA 35 472 R422001415
HEERAN Z5L—IN
>
32 20 G1/8 HEEE | YRV M8 | EETZEH 35 472 R422001425
HEEAN Z5L—I%
>
32 25 G1/8 HMEEE | YRV M8 | BEETHEH 35 472 R422001435
HEERAN Z5L—/N
>
40 5 G 1/8 HMEE | YUXY N M8 | ZBEIXR 43 749 R422001396
HEERAN Z5L—IN
>
40 10 G 1/8 BUEE | YRV M8 | BETIXHA 43 749 R422001406
HEEAN Z5L—I%
>
40 15 G1/8 HMEEE | YITXRYBN M8 | EETZEH 43 749 R422001416
HEERN Z5L—/N
>
40 20 G 1/8 HMEE | YJXY N M8 | EBEIXR 43 749 R422001426
HEERAN 25 L=\
>
40 25 G 1/8 HUEE | YIXRYBN M8 | BEIXHA 43 749 R422001436
HEEAR Z5L—I%
>
50 5 G 1/8 HEEE | YRV M10| ZEETEH 82 1155 R422001397
HEEAN Z5L—I%
>
50 10 G 1/8 BURE | YIXRYKN M10| BETHEHR 82 1155 R422001407
HEERN Z5L—/N
>
50 15 G 1/8 HMEE | YUXY N M10| ZBEIER 82 1155 R422001417
HEERAN Z5L—I%
>
50 20 G1/8 HEEE | YIXRYKN M10| EETEH 82 1155 R422001427
HEEAN Z5L—I%
>
50 25 G 1/8 BMEEE | YIXRYBN M10| BEETEH 82 1155 R422001437
HEERAN Z5L—/N
>
63 5 G 1/8 HMEE | YUXY N M10| ZEIER 82 1882 R422001398
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 6
(1SO 21287) 2023-11-22

EAN  ARO—% K-k Z5L—/8 EARY  EARY  IFUTLES
> o [mm] HAKE D HEE
[mm] IN] IN]
63 10 G 1/8 EUEE | YIXRYHN M10| EETEHR 82 1882 R422001408
HEERN Z5L—IN
>
63 15 G1/8 HEEE | YRV M10| EBETEH 82 1882 R422001418
HEERR 29 L—/\
>
63 20 G 1/8 HEEE | YRV M10| EETHEH 82 1882 R422001428
HEERN 25 L—/\
>
63 25 G 1/8 HMEEE | VIRV M10| BETEHR 82 1882 R422001438
HEERR 2oL~/
>
80 5 G 1/8 BUEE | YRV M12| BETEH 105 3062 R422001399
HEERR 29 L—/\
>
80 10 G1/8 HEEE | YRV M12 | EETEH 105 3062 R422001409
HEERR Z5L—I%
>
80 15 G1/8 HMEEE | VIRV M12| BETEHR 105 3062 R422001419
HEERR 25L—IN
>
80 20 G 1/8 BUEE | YRV N M12| ZBETER 105 3062 R422001429
HEERN 25 L—/\
>
80 25 G1/8 HEEE | YRV M12| EETEH 105 3062 R422001439
HEERR Z5L—I%
>
100 5 G 1/8 BUEE | YRV BN M12| EETEH 215 4733 R422001400
HEERR 2oL~/
>
100 10 G 1/8 EUEE | YIXRYN M12| EBETEHR 215 4733 R422001410
HEERN Z5L—IN
>
100 15 G1/8 HEEE | YRV M12| BETEA 215 4733 R422001420
HEERR 29 L—/\
>
100 20 G 1/8 HEEE | YRV M12| EETHEHR 215 4733 R422001430
HEERN 25 L—/\
>
100 25 G 1/8 HMEEE | VIRV M12| BETHER 215 4733 R422001440
HEERR 2oL~/
>

EMERSON.



AVENTICSCCI =X AV NI KD H 4
(1SO 21287) 2023-11-22
3% -
NI
N |
i LA /EE Lw AF
f \
L (2 s
LSS SRS TR B
TG LB -
E BG
ZA+S
ZB+S

LJ

z <
=
v
[(e]
o
@16 @ 20 - 40 @50 - 100
S=ARO—%
EARY @ AF BG DA H11 DT E EE KF KV LA LB
16 10 15 10 6 29.3 M5 M4 10 2.5 35
20 12 15.5 12 7.5 36.3 M5 M6 13 2.5 4.5
25 12 155 12 8 40.3 M5 M6 13 2.5 45
32 12 17 14 8.6 50 G1/8 M8 17 2.5 5
40 12 17 14 9.2 58 G1/8 M8 17 2.5 5
50 16 17 18 11 68.3 G1/8 M10 19 2.5 5
63 16 17 18 11 80 G1/8 M10 19 25 5
80 20 20 23 15 9 G1/8 M12 24 3 5
100 20 20 28 15 116 G1/8 M12 24 3 5

4

od

EMERSON.



"

AVENTICSCCI > U—=X AV NI KRIVUE 8
(ISO 21287) 2023-11-22

EANY @ LE LJ MM f8 PL RR RT 6H sw TG WH X1
16 45 0 8 8 33 M4 7 18 4,8+0,9 -
20 4.5 45 10 10 4.2 M5 8 22 5,6 0,9 4.2
25 45 4 10 10 42 M5 8 26 5,6 0,9 45
32 7.5 4.85 12 12 5.1 M6 10 325 7,440,9 6.5
40 7.5 9.85 12 12 5.1 M6 10 38 7,409 11
50 7.5 12 16 12 6.7 M8 13 465 8,4 0,9 13
63 7.5 14.8 16 12 6.7 M8 13 56.5 8,50,9 18
80 75 22 20 14 8.5 M10 16 72 9,8 £1 18
100 7.5 27 25 16.5 8.5 M10 21 89 9,8 £1 20

EARY @ X2 X3 zA zB
16 - - 34,9 39,7 £0,8
20 - - 37,3 43,6 40,8
25 - - 39 44,5 0,9
32 - - 44 51,4 +1
40 - - 45 52,4 +1
50 4 13 45,5 53,6 +1
63 12 21 49 57,4 £1
80 16.5 25.5 54,7 64,4 +1
100 20 29 67 76,7 +1

EMERSON.



AVENTICS CCI ' U—X VNI RIS
(ISO 21287)

9
2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
RREE

oyl

RTZY MIEEANY

EMERE

U

it U

SUUNEME. BE BAK

[revy

ATL—/IY ERARY  ERRY  IFUFLES
HABBE N HBE
IN] IN]
16 5 M5 HMEEE | YIXRYBN Méex1| EEIXH 12 115 R422001442
HEERN Z5L—/N
>
16 10 M5 MRS | YJXY N Mé6x1| EETER 12 115 R422001452
HEERAN 2oL~/
>
16 15 M5 HERE | YRV Mé6x1| EETHEHR 12 115 R422001462
HEERR 25L—I%
>
16 20 M5 BEEE | YITXRYN Méex1| ZEEIX¥H 12 115 R422001472
HEERR Z5L—/N
>
16 25 M5 BUEE | YIXRYKN Méx1| HEI¥HA 12 115 R422001482
HEERAN 25 L—)\
>
20 5 M5 EUEE | YIXRYBN M8x1,25| ZERET¥MA 13 185 R422001443
HEERARN Z5L—I%
>
20 10 M5 HEEE | YIXRYN M8x1,25 | 1ZEAET¥H 13 185 R422001453
HEERN Z5L—I%
>
20 15 M5 BURE | YIXRYKN M8x1,25 | ZEETXMH 13 185 R422001463
HEERAN Z5L—IN
>
20 20 M5 BUEE | YRV M8x1,25| ZBETXHA 13 185 R422001473
HEERAN Z5L—IN
>
20 25 M5 HEEE | YIXRYKN M8x1,25| 1ZEARET¥H 13 185 R422001483
HEEAN Z5L—I%
>
25 5 M5 HMEEE | YRV M8x1,25 | 1ZEARET XA 25 284 R422001444
HEERN Z5L—IN
>
25 10 M5 BUEE | YIXRYN M8x1,25| ZBEIXA 25 284 R422001454
HEERAN 2oL~/
>
25 15 M5 HEEE | YRV M8x1,25| ZERET¥HA 25 284 R422001464
HEERR Z5L—I%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 10
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
25 20 M5 HMEEE | YRV M8x1,25 | ZET¥MR 25 284 R422001474
FEERN AO9L—N
>
25 25 M5 HEEE | YRV M8x1,25| 1ZERET¥MA 25 284 R422001484
FEERDL AIL—N
>
32 5 G1/8 HEEE | YRV M10x1,25 | ZXETEH 35 472 R422001445
HEEAN AOL—N
>
32 10 G 1/8 HMEEE | VIRV M10x1,25 | HZXTH 35 472 R422001455
HEEARAN AOL—N
>
32 15 G 1/8 BUEE | YRV M10x1,25 | ZET ¥R 35 472 R422001465
FEERDN AIL—N
>
32 20 G1/8 HEEE | YRV M10x1,25 | ZXETEH 35 472 R422001475
FEEARAN AIL—N
>
32 25 G1/8 BUEE | YRV BN M10x1,25 | HZEXETHEH 35 472 R422001485
FEEAN AOL—N
4
40 5 G 1/8 HMEREE | YRV M10x1,25 | ZETEMR 43 749 R422001446
HEERXDN AIL—N
>
40 10 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 43 749 R422001456
HEERN 245 L—/%
>
40 15 G1/8 BUEE | YRV BN M10x1,25 | ZXETEH 43 749 R422001466
FEEAKN AOL—N
>
40 20 G 1/8 HMEREE | YRV M10x1,25 | ZETER 43 749 R422001476
HEERN 25L—N
>
40 25 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 43 749 R422001486
HEERDL AIL—N
>
50 5 G1/8 HEEE | YRV M12x1,25 | ZXETEH 82 1155 R422001447
HEERN 245 L—/
>
50 10 G 1/8 HMEEE | VIRV M12x1,25 | HZXETEH 82 1155 R422001457
HEEZN 25L—)%
>
50 15 G 1/8 HEEE | YRV M12x1,25 | ZET¥MA 82 1155 R422001467
FEERB AIL—N
>
50 20 G1/8 HEEE | YIXRYKN M12x1,25 | ZEXTEH 82 1155 R422001477
FEEARAN AIL—N
>
50 25 G 1/8 BUEE | YRV BN M12x1,25 | HZXETHEH 82 1155 R422001487
FEEAN AOL—N
4
63 5 G 1/8 HMEREE | YRV M12x1,25 | ZETER 82 1882 R422001448
HEEZN 25L—)%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 1"
(1SO 21287) 2023-11-22

AN  ARO—% K-k Z5L—/8 ERRY  ERARY  IFUTLES
> o [mm] HABE BB
mm] IN] IN]
63 10 G 1/8 HMEEE | YRV M12x1,25 | ZETER 82 1882 R422001458
HEERAN Z5L—IN
>
63 15 G1/8 BUEE | YRV M12x1,25 | ZET¥MA 82 1882 R422001468
HEEARN Z5L—I%
>
63 20 G 1/8 HEEE | YRV M12x1,25 | ZXETEH 82 1882 R422001478
HEERN Z5L—I%
Y
63 25 G 1/8 BUEE | YIXRYKN M12x1,25 | BETEMH 82 1882 R422001488
HEERN Z5L—/N
>
80 5 G 1/8 HMEE | YUXY N M16x1,5| ZETEMA 105 3062 R422001449
HEERAN Z5L—IN
>
80 10 G1/8 HEEE | YRV M16x1,5| BEIXHA 105 3062 R422001459
HEEAN Z5L—I%
>
80 15 G1/8 BURE | YIXRYN M16x1,5| ZETEH 105 3062 R422001469
HEERAN Z5L—/N
>
80 20 G 1/8 HMEREE | YRV M16x1,5| ZBEIHERA 105 3062 R422001479
HEERAN Z5L—IN
>
80 25 G1/8 BUEE | YRV M16x1,5| BEIXEHA 105 3062 R422001489
HEEAN Z5L—I%
>
100 5 G 1/8 HMEEE | YITXRYBN M16x1,5| ZXTHEH 215 4733 R422001450
HEERN Z5L—/N
>
100 10 G 1/8 HMEREE | YRV M16x1,5| ZEIER 215 4733 R422001460
HEERAN Z5L—IN
>
100 15 G1/8 HEEE | YRV M16x1,5| ZET¥MA 215 4733 R422001470
HEEAR Z5L—I%
>
100 20 G 1/8 HEEE | YRV M16x1,5| ZXETHEH 215 4733 R422001480
HEERN Z5L—I%
>
100 25 G 1/8 BURE | YIXRYKN M16x1,5| ZEEIEH 215 4733 R422001490
HEERN Z5L—/N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 12
(1SO 21287) 2023-11-22
3%
R
A o
B, B LA /EE KW

TG

" 7
= + L
‘E\ L, // =
4 1
D=0
. TG
E
Z 685
535
2 \‘TJ
o \
S=AkO—%

RT

KK

EI A
e
Ky

x < P’
@ 8] g \
= @ 7 ]
= 7777
[ ——
» .
LB WH
BG
ZA+S
ZB+S

@50 - 100

MM

16 12 15 10 6 29.3 M5 M6 10 3 25
20 16 15.5 12 7.5 36.3 M5 M8 13 4 25
25 16 15.5 12 8 40.3 M5 M8 13 4 25
32 19 17 14 8.6 50 G1/8 M10x1,25 17 5 25
40 19 17 14 9.2 58 G1/8 M10x1,25 17 5 25
50 22 17 18 1" 68.3 G1/8 M12x1,25 19 6 25
63 22 17 18 1" 80 G1/8 M12x1,25 19 6 25
80 28 20 23 15 96 G1/8 M16x1,5 24 8 3
100 28 20 28 15 116 G1/8 M16x1,5 24 8 3

4

od

EMERSON.



"

AVENTICSCCI > U—=X AV NI KRIVUE 13
(ISO 21287) 2023-11-22
EANY @ LB LE LJ MM f8 PL RR RT 6H sw TG WH
16 35 45 0 8 8 33 M4 7 18 4,809
20 4.5 45 4.5 10 10 4.2 M5 8 22 5,6 £0,9
25 45 45 4 10 10 42 M5 8 26 5,6 0,9
32 5 7.5 4.85 12 12 5.1 M6 10 325 7,440,9
40 5 7.5 9.85 12 12 5.1 M6 10 38 7,409
50 5 7.5 12 16 12 6.7 M8 13 465 8,4 0,9
63 5 7.5 14.8 16 12 6.7 M8 13 56.5 8,50,9
80 5 7.5 22 20 14 8.5 M10 16 72 9,8 £1
100 5 7.5 27 25 16.5 8.5 M10 21 89 9,8 £1
EARY @ X1 X2 X3 ZA zB
16 - - - 34,9 39,7 £0,8
20 42 - - 37,3 43,6 40,8
25 45 - - 39 44,50,9
32 6.5 - - 44 51,4 +1
40 11 - - 45 52,4 +1
50 13 4 13 455 53,6 +1
63 18 12 21 49 57,4 £1
80 18 16.5 255 54,7 64,4 +1
100 20 20 29 67 76,7 +1

EMERSON.



AVENTICSCCI =X AV NI KD H 14
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
oyl

RTZY MIEEANY

EERE

it U

it U

SUUNEE, E|E BHL

Pt

EAb ANO—2 R— K ®=E AU9L—=IN EAMY EANY NTUTILES
o [mm] A AAE 7 HEmE
[mm] [N] [N]
16 5 M5 HEEE | YRV M4 | BETER 127 12 R422001492
FTEEAN ATL—N
>
16 10 M5 HMEE | YRV BN M4 | EBETER 127 12 R422001502
HEEAN 25L—/%
>
16 15 M5 BUEE | YUXRY BN M4 | EETHEAR 127 12 R422001512
FEERA KN AUL—N
>
16 20 M5 BUEE | YRV M4 | EETER 127 12 R422001522
FEEAN AIL—N
>
16 25 M5 WUEE | YRV BN M4 | BETER 127 12 R422001532
FEEAR KN AOL—N
>
20 5 M5 BUEE | YRV BN M6 | EETZEH 198 13 R422001493
FEERA KN AL—N
>
20 10 M5 BUEE | VIRV KN M6 | EETEHR 198 13 R422001503
FTEEARAN AOL—N
>
20 15 M5 BUEE | YRV M6 | EETZEH 198 13 R422001513
FTEEAN ATL—N
>
20 20 M5 HBUEE | YUXRYBN M6 | EETXA 198 13 R422001523
HEEZN 25L—/%
>
20 25 M5 HMEEE | VIRV M6 | BEETITHA 198 13 R422001533
FEEARA KN AUL—N
>
25 5 M5 HEREE | YRV M6 | BEIXR 309 25 R422001494
TEEAN ATL—N
>
25 10 M5 HBMEE | YRV M6 | BEIXHA 309 25 R422001504
HEEAN 25L—/%
>
25 15 M5 BUEE | YRV BN M6| EEITXA 309 25 R422001514
FEERA KN AUL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 15
(1SO 21287) 2023-11-22

AN  ARO—% K-k Z5L—/8 ERRY  ERARY  IFUTLES
> o [mm] HABE BB
mm] IN] IN]
25 20 M5 MR | YUXY N M6 | ZBEIXR 309 25 R422001524
HEERAN 25 L=\
>
25 25 M5 BUEE | YRV M6 | BETXH 309 25 R422001534
HEEARN Z5L—I%
>
32 5 G 1/8 HEEE | YRV M8 | EETZEH 507 35 R422001495
HEEAN Z5L—I%
Y
32 10 G 1/8 BUEE | YIXRYKN M8 | BRETXA 507 35 R422001505
HEERN Z5L—/N
>
32 15 G 1/8 HMEE | YUXY N M8 | BEIXRA 507 35 R422001515
HEERAN Z5L—IN
>
32 20 G1/8 HEEE | YRV M8 | EETZEH 507 35 R422001525
HEEAN Z5L—I%
>
32 25 G1/8 HMEEE | YRV M8 | BEETHEH 507 35 R422001535
HEERAN Z5L—/N
>
40 5 G 1/8 HMEE | YUXY N M8 | ZBEIXR 792 43 R422001496
HEERAN Z5L—IN
>
40 10 G 1/8 BUEE | YRV M8 | BETIXHA 792 43 R422001506
HEEAN Z5L—I%
>
40 15 G1/8 HMEEE | YITXRYBN M8 | EETZEH 792 43 R422001516
HEERN Z5L—/N
>
40 20 G 1/8 HMEE | YJXY N M8 | EBEIXR 792 43 R422001526
HEERAN 25 L=\
>
40 25 G 1/8 HUEE | YIXRYBN M8| BETXH 792 43 R422001536
HEEAR Z5L—I%
>
50 5 G 1/8 HEEE | YRV M10| ZEETEH 1237 82 R422001497
HEEAN Z5L—I%
>
50 10 G 1/8 BURE | YIXRYKN M10| BETHEHR 1237 82 R422001507
HEERN Z5L—/N
>
50 15 G 1/8 HMEE | YUXY N M10| ZBEIER 1237 82 R422001517
HEERAN Z5L—I%
>
50 20 G1/8 HEEE | YIXRYKN M10| EETEH 1237 82 R422001527
HEEAN Z5L—I%
>
50 25 G 1/8 BMEEE | YIXRYBN M10| BEETEH 1237 82 R422001537
HEERAN Z5L—/N
>
63 5 G 1/8 HMEE | YUXY N M10| ZEIER 1964 82 R422001498
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 16
(1SO 21287) 2023-11-22

EAN  ARO—% K-k Z5L—/8 EARY  EARY  IFUTLES
> o [mm] HAKE D HEE
[mm] IN] IN]
63 10 G 1/8 EUEE | YIXRYHN M10| EETEHR 1964 82 R422001508
HEERN Z5L—IN
>
63 15 G1/8 HEEE | YRV M10| EBETEH 1964 82 R422001518
HEERR 29 L—/\
>
63 20 G 1/8 HEEE | YRV M10| EETHEH 1964 82 R422001528
HEERN 25 L—/\
>
63 25 G 1/8 HMEEE | VIRV M10| BETEHR 1964 82 R422001538
HEERR 2oL~/
>
80 5 G 1/8 BUEE | YRV M12| BETEH 3167 105 R422001499
HEERR 29 L—/\
>
80 10 G1/8 HEEE | YRV M12 | EETEH 3167 105 R422001509
HEERR Z5L—I%
>
80 15 G1/8 HMEEE | VIRV M12| BETEHR 3167 105 R422001519
HEERR 25L—IN
>
80 20 G 1/8 BUEE | YRV N M12| ZBETER 3167 105 R422001529
HEERN 25 L—/\
>
80 25 G1/8 HEEE | YRV M12| EETEH 3167 105 R422001539
HEERR Z5L—I%
>
100 5 G 1/8 BUEE | YRV BN M12| EETEH 4948 215 R422001500
HEERR 2oL~/
>
100 10 G 1/8 EUEE | YIXRYN M12| EBETEHR 4948 215 R422001510
HEERN Z5L—IN
>
100 15 G1/8 HEEE | YRV M12| BETEA 4948 215 R422001520
HEERR 29 L—/\
>
100 20 G 1/8 HEEE | YRV M12| EETHEHR 4948 215 R422001530
HEERN 25 L—/\
>
100 25 G 1/8 HMEEE | VIRV M12| BETHER 4948 215 R422001540
HEERR 2oL~/
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 17

(ISO 21287) 2023-11-22
ik
PL  WH+S
EE
LE _ SW LA \ AF
| (D F [ \
i / ‘@ 3
<
Sl g @ O s
L = 5 S
N - 7 L L L LA
@ = - 5
- ®,
E BG
ZA+S
ZB+S
L
Z o5
5,35
(NN
[To}
gL\
16 @50 -100
s=Z2kO-%
EARY @ AF BG DA H11 DT E 53 G LA LB LE
16 10 15 10 6 29.3 M5 M4 25 35 45
20 12 15.5 12 7.5 36.3 M5 M6 25 45 45
25 12 15.5 12 8 403 M5 M6 25 45 45
32 12 17 14 8.6 50 G118 YE 25 5 7.5
40 12 17 14 9.2 58 G118 M8 25 5 7.5
50 16 17 18 11 68.3 G1/8 M10 25 5 75
63 16 17 18 11 80 G118 M10 25 5 7.5
80 20 20 23 15 9 G118 M12 3 5 7.5
100 20 20 28 15 116 G118 M12 3 5 7.5
EALNY @ LJ MM f8 PL RR RT 6H sw TG WH X1 X2
16 0 8 8 33 M4 7 18 4,8+0,9 - -
20 45 10 10 42 M5 8 22 5,6 0,9 42 -
25 4 10 10 42 M5 8 26 5,6 0,9 45 -
Q

o

EMERSON.



AVENTICSCCI =X AV NI KD H 18
(ISO 21287) 2023-11-22
EANY @ LJ MM f8 PL RR RT 6H Sw TG WH X1 X2
32 4.85 12 12 5.1 M6 10 325 7,409 6.5 -
40 9.85 12 12 5.1 M6 10 38 7,4 40,9 11 -
50 12 16 12 6.7 M8 13 465 8,4 40,9 13 4
63 14.8 16 12 6.7 M8 13 56.5 8,50,9 18 12
80 22 20 14 8.5 M10 16 72 9,8 £1 18 16.5
100 27 25 16.5 8.5 M10 21 89 9,8 +1 20 20
ERALY @ X3 ZA zB
16 - 34,9 £0,1 39,7 £0,8
20 - 37,3 0,1 43,6 40,8
25 - 39 £0,1 44,510,9
32 - 44 20,1 51,4 +1
40 - 45 0,1 52,4 +1
50 13 45,5 10,1 53,6 +1
63 21 49 20,1 57,4 +1
80 25.5 54,7 +0,1 64,4 +1
100 29 67 0,1 76,7 £1

EMERSON.



AVENTICSCCI =X AV NI KD H 19
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
oyl

RTZY MIEEANY

EMERE

U

it U

SUUNEE, E|E BHL

Pt

EAN ANO—2 R—bK =E A9L—=IN EAK> EAN NTUTILES
N} [mm] A AFE 7 HEmE
[mm] [N] [N]
16 5 M5 HUEE | YRV Méx1| ZEEXETHEH 127 12 R422001542
fEEA N AOL—N
>
16 10 M5 HMEF | YIRYDB Mé6x1| ZEXETHEHR 127 12 R422001552
FEEAR AOL—N
>
16 15 M5 BMEF | YIRYDB Mox1| ZEIHH 127 12 R422001562
FEEAR AIL—N
>
16 20 M5 HMEEE | YRV Méx1| ZETEH 127 12 R422001572
FEEAKN AIL—N
>
16 25 M5 WUEE | YRV BN M6x1| ZEXETHEHR 127 12 R422001582
FEEAR AOL—N
>
20 5 M5 EMEF| YRV M8x1,25 | EET XA 198 13 R422001543
HEEAN 25 L—/\
>
20 10 M5 HMEE | VIRV N M8x1,25 | ZXETH 198 13 R422001553
FEEAN ATL—N
>
20 15 M5 WUEE | YRV M8x1,25 | ZEXTHH 198 13 R422001563
fEEAN AOL—N
>
20 20 M5 BMEF | YIRYDB M8x1,25 | EBET XA 198 13 R422001573
FEERA KN AOL—N
>
20 25 M5 HUEEE | VIRV N M8x1,25 | EETHEHA 198 13 R422001583
FEEAK AIL—N
>
25 5 M5 HUEE | VIRV N M8x1,25 | ZEXETHEH 309 25 R422001544
fEEA N AOL—N
>
25 10 M5 HMEF| IRV M8x1,25 | EET XA 309 25 R422001554
HEEAN 25L—/%
>
25 15 M5 BMEF | YIRYDB M8x1,25 | EET XA 309 25 R422001564
FEEAR AIL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 20
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
25 20 M5 HMEEE | YRV M8x1,25 | ZET¥MR 309 25 R422001574
FEERN AO9L—N
>
25 25 M5 HEEE | YRV M8x1,25| 1ZERET¥MA 309 25 R422001584
FEERDL AIL—N
>
32 5 G1/8 HEEE | YRV M10x1,25 | ZXETEH 507 35 R422001545
HEEAN AOL—N
>
32 10 G 1/8 HMEEE | VIRV M10x1,25 | HZXTH 507 35 R422001555
HEEARAN AOL—N
>
32 15 G 1/8 HEREE | YRV M10x1,25 | ZET ¥R 507 35 R422001565
FEERDN AIL—N
>
32 20 G1/8 HEEE | YRV M10x1,25 | ZXETEH 507 35 R422001575
FEEARAN AIL—N
>
32 25 G1/8 BUEE | YRV BN M10x1,25 | HZEXETHEH 507 35 R422001585
FEEAN AOL—N
4
40 5 G 1/8 HMEREE | YRV M10x1,25 | ZETEMR 792 43 R422001546
HEERXDN AIL—N
>
40 10 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 792 43 R422001556
HEERN 245 L—/%
>
40 15 G1/8 BUEE | YRV BN M10x1,25 | ZXETEH 792 43 R422001566
FEEAKN AOL—N
>
40 20 G 1/8 HMEREE | YRV M10x1,25 | ZETER 792 43 R422001576
HEERN 25L—N
>
40 25 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 792 43 R422001586
HEERDL AIL—N
>
50 5 G1/8 HEEE | YRV M12x1,25 | ZXETEH 1237 82 R422001547
HEERN 245 L—/
>
50 10 G 1/8 HMEEE | VIRV M12x1,25 | HZXETEH 1237 82 R422001557
HEEZN 25L—)%
>
50 15 G 1/8 HEEE | YRV M12x1,25 | ZET¥MA 1237 82 R422001567
FEERB AIL—N
>
50 20 G1/8 HEEE | YIXRYKN M12x1,25 | ZEXTEH 1237 82 R422001577
FEEARAN AIL—N
>
50 25 G 1/8 BMEEE | YIXRYBN M12x1,25 | HZXETHEH 1237 82 R422001587
HEERN 245 L—/\
4
63 5 G 1/8 HMEREE | YRV M12x1,25 | ZETER 1964 82 R422001548
HEERXDN AIL—N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 21

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h R AIL—=N ERR> EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]

63 10 G1/8 BMEE | YIRYbN M12x1,25 | BETEMR 1964 82 R422001558
HEERN ATL—N
>
63 15 G1/8 HMEE | YUXY N M12x1,25 | BETIXA 1964 82 R422001568
HEEAL AIL—=/\
>
63 20 G 1/8 HMEE | YUJXY N M12x1,25| BEI XM 1964 82 R422001578
HEEAN 25 L—)\
>
63 25 G 1/8 HMEE | YIRYN M12x1,25 | HETZA 1964 82 R422001588
FEEAR A7L—=N
>
80 5 G1/8 BMEE | YIRY A M16x1,5| HRETIXA 3167 105 R422001549
HEEARL AIL—=/N\
>
80 10 G1/8 BMEE | YIXRY N M16x1,5| HETIH¥A 3167 105 R422001559
HEERR 29 L=\
>
80 15 G1/8 HMEE | YIRYN M16x1,5| BEEIXA 3167 105 R422001569
FEEAR A7L—=N
>
80 20 G1/8 BMEE | YIRYbN M16x1,5| BEIXH 3167 105 R422001579
HEERR ZoL—N
>
80 25 G1/8 BMEE | YIRYbN M16x1,5| BETEH 3167 105 R422001589
REEAN AOL—N
>
100 5 G1/8 HMEE | YJXY N M16x1,5| HEIXA 4948 215 R422001550
FEEAR A7L—=N
>
100 10 G1/8 BMEE | YTXRYbN M16x1,5| BETER 4948 215 R422001560
HEERN AL—N
>
100 15 G1/8 HMEE | YUXY N M16x1,5| HRETXA 4948 215 R422001570
HEEAL AIL—=/\
>
100 20 G1/8 HMEE | YJXY N M16x1,5| BEIXHA 4948 215 R422001580
HEEAN 25 L—)\
>
100 25 G1/8 HMEE | YIRYN M16x1,5| HEETIXA 4948 215 R422001590
FEEAR A7L—=N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA

(ISO 21287) 2023-11-22
RR:S
N
\\\\\\\\\\\ I
PL  WH+S A
EE
LA \ KW
; s
- g
w 7N \_) =~ (] '
x| <€ - folj
] xl & 7,;}_./,7,7,41_// < j] §
() Q ) )
v A f
E 1 &
-8 -//
kv
LB o
BG
ZA+S
ZB+S
LJ
Te}
RN
@50 - 100
EANY @ A BG DA H11 DT E EE KK KV KW LA
16 12 15 10 6 29.3 M5 M6 10 3 25
20 16 155 12 75 36.3 M5 M8 13 4 25
25 16 15.5 12 8 40.3 M5 M8 13 4 25
32 19 17 14 8.6 50 G1/8 M10x1,25 17 5 25
40 19 17 14 9.2 58 G1/8 M10x1,25 17 5 25
50 22 17 18 1 68.3 G 18 M12x1,25 19 6 25
63 22 17 18 1 80 G1/8 M12x1,25 19 6 25
80 28 20 23 15 96 G1/8 M16x1,5 24 8 3
100 28 20 28 15 116 G118 M16x1,5 24 8 3
EARY O ;] LE LJ LW MM 8 PL RR RT 6H SW TG
16 35 45 0 4 8 8 3.3 M4 7 18
20 45 45 45 4 10 10 4.2 M5 8 22

EMERSON.




AVENTICSCCI =X AV NI KD H 23
(ISO 21287) 2023-11-22
EANY @ LB LE LJ LW MM f8 PL RR RT 6H sw TG
25 4.5 4.5 4 4 10 10 4.2 M5 8 26
32 5 7.5 4.85 45 12 12 5.1 M6 10 325
40 5 7.5 9.85 45 12 12 5.1 M6 10 38
50 5 7.5 12 6 16 12 6.7 M8 13 465
63 5 7.5 14.8 6 16 12 6.7 M8 13 56.5
80 5 7.5 22 7 20 14 8.5 M10 16 72
100 5 75 27 7 25 16.5 8.5 M10 21 89
EANY @ WH X1 X2 X3 zA zB
16 4,8£0,9 - - - 34,9 £0,1 39,7 £0,8
20 5,6 0,9 42 - - 37,3 10,1 43,6 0,8
25 5,6 0,9 45 - - 39 £0,1 44,5 0,9
32 7,4 40,9 6.5 - - 44 0,1 51,4 +1
40 7,4 10,9 11 - - 45 £0,1 52,4 +1
50 8,4 0,9 13 4 13 45,5 £0,1 53,6 +1
63 8,50,9 18 12 21 49 20,1 57,4 +1
80 9,8 £1 18 16.5 255 54,7 £0,1 64,4 £1
100 9,8 £1 20 20 29 67 £0,1 76,7 +1

EMERSON.



AVENTICSCCI =X AV NI KD H 24
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
BB

RTZY MIEEANY

EERE

it U

it U

SUUNEME. BE BAK

— LAy

EAN AkO—% R—K 7 AOL—=/)N EARR>
O [mm] A ABEE
[mm] [N]
16 5 M5 BMEF | YIRYBN M4 | EETHEAR 12 83 R422001592
fEER N AIL—N
>
16 10 M5 HMEEE | YRV M4 | EBEIXR 12 83 R422001602
HEERARN ATL—N
>
16 15 M5 MR | YRV N M4 | EBETER 12 83 R422001612
FEEA N ATL—N
>
16 20 M5 EMEF | YIRYDB M4 | EETER 12 83 R422001622
fEERAN AUL—N
>
16 25 M5 HMEREE | YIRY BN M4 | EEITXER 12 83 R422001632
FEERAN ATL—N
>
20 5 M5 HERE | YRV M6 | EETZEH 13 135 R422001593
HEERAN ATL—=N
>
20 10 M5 HMEF| IRV M6 | ZBEIHH 13 135 R422001603
fEERAN ATL—N
>
20 15 M5 HMEEE | YRV N M6 | BEETIXA 13 135 R422001613
FEERN AIL—N
>
20 20 M5 HEREE | YRV M6 | EETZEHR 13 135 R422001623
FEERAN ATL—=N
>
20 25 M5 BUEE | YRV N M6 | EETZEH 13 135 R422001633
FEEA N ATL—N
>
25 5 M5 BMEEF | YRV M6 | EEIXA 25 235 R422001594
fEERN AUL—N
>
25 10 M5 HMEEE | YRV M6 | EETEHR 25 235 R422001604
FEERAN AIL—N
>
25 15 M5 HUEE | YRV BN M6 | EETXERA 25 235 R422001614
FEEA N ATL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 25
(1SO 21287) 2023-11-22

AN  ARO—% K-k Z5L—/8 ERRY  ERARY  IFUTLES
> o [mm] HABE BB
mm] IN] IN]
25 20 M5 MR | YUXY N M6 | ZBEIXR 25 235 R422001624
HEERAN 25 L=\
>
25 25 M5 BUEE | YRV M6 | BEIXHA 25 235 R422001634
HEEARN Z5L—I%
>
32 5 G 1/8 HEEE | YRV M8 | EETZEH 35 400 R422001595
HEEAN Z5L—I%
Y
32 10 G 1/8 BUEE | YIXRYKN M8 | BRETXA 35 400 R422001605
HEERN Z5L—/N
>
32 15 G 1/8 HMEE | YUXY N M8 | BEIXRA 35 400 R422001615
HEERAN Z5L—IN
>
32 20 G1/8 HEEE | YRV M8 | EETZEH 35 400 R422001625
HEEAN Z5L—I%
>
32 25 G1/8 HMEEE | YRV M8 | BEETHEH 35 400 R422001635
HEERAN Z5L—/N
>
40 5 G 1/8 HMEE | YUXY N M8 | ZBEIXR 43 677 R422001596
HEERAN Z5L—IN
>
40 10 G 1/8 BUEE | YRV M8 | BETIXHA 43 677 R422001606
HEEAN Z5L—I%
>
40 15 G1/8 HMEEE | YITXRYBN M8 | EETZEH 43 677 R422001616
HEERN Z5L—/N
>
40 20 G 1/8 HMEE | YJXY N M8 | EBEIXR 43 677 R422001626
HEERAN 25 L=\
>
40 25 G 1/8 HUEE | YIXRYBN M8| BETXH 43 677 R422001636
HEEAR Z5L—I%
>
50 5 G 1/8 HEEE | YRV M10| ZEETEH 82 1028 R422001597
HEEAN Z5L—I%
>
50 10 G 1/8 BURE | YIXRYKN M10| BETHEHR 82 1028 R422001607
HEERN Z5L—/N
>
50 15 G 1/8 HMEE | YUXY N M10| ZBEIER 82 1028 R422001617
HEERAN Z5L—I%
>
50 20 G1/8 HEEE | YIXRYKN M10| EETEH 82 1028 R422001627
HEEAN Z5L—I%
>
50 25 G 1/8 BMEEE | YIXRYBN M10| BEETEH 82 1028 R422001637
HEERAN Z5L—/N
>
63 5 G 1/8 HMEE | YUXY N M10| ZEIER 82 1745 R422001598
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 26
(1SO 21287) 2023-11-22

EAN  ARO—% K-k Z5L—/8 EARY  EARY  IFUTLES
> o [mm] HAKE D HEE
[mm] IN] IN]
63 10 G 1/8 EUEE | YIXRYHN M10| EETEHR 82 1745 R422001608
HEERN Z5L—IN
>
63 15 G1/8 HEEE | YRV M10| EBETEH 82 1745 R422001618
HEERR 29 L—/\
>
63 20 G 1/8 HEEE | YRV M10| EETHEH 82 1745 R422001628
HEERN 25 L—/\
>
63 25 G 1/8 HMEEE | VIRV M10| BETEHR 82 1745 R422001638
HEERR 2oL~/
>
80 5 G 1/8 BUEE | YRV M12| BETEH 105 2864 R422001599
HEERR 29 L—/\
>
80 10 G1/8 HEEE | YRV M12 | EETEH 105 2864 R422001609
HEERR Z5L—I%
>
80 15 G1/8 HMEEE | VIRV M12| BETEHR 105 2864 R422001619
HEERR 25L—IN
>
80 20 G 1/8 BUEE | YRV N M12| ZBETER 105 2864 R422001629
HEERN 25 L—/\
>
80 25 G1/8 HEEE | YRV M12| EETEH 105 2864 R422001639
HEERR Z5L—I%
>
100 5 G 1/8 BUEE | YRV BN M12| EETEH 215 4424 R422001600
HEERR 2oL~/
>
100 10 G 1/8 EUEE | YIXRYN M12| EBETEHR 215 4424 R422001610
HEERN Z5L—IN
>
100 15 G1/8 HEEE | YRV M12| BETEA 215 4424 R422001620
HEERR 29 L—/\
>
100 20 G 1/8 HEEE | YRV M12| EETHEHR 215 4424 R422001630
HEERN 25 L—/\
>
100 25 G 1/8 HMEEE | VIRV M12| BETHER 215 4424 R422001640
HEERR 2oL~/
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA

(ISO 21287) 2023-11-22
ik
WH+S PL
«AF—
R
~ =
&
% LB
LBG, |
Z
6,85
535 -
%
s N )
% Y
216 @ 20-40 250-100
S=2Z2kO—7
EANY @ AF BG DT E 53 KF LB LE LJ LW
16 10 15 6 29.3 M5 M4 35 45 - 4
20 12 15.5 75 36.3 M5 M6 45 45 45 4
25 12 15.5 8 403 M5 M6 45 45 4 4
32 12 17 8.6 50 G118 M8 5 7.5 4.85 45
40 12 17 9.2 58 G1/8 M8 5 7.5 9.85 45
50 16 17 11 68.3 G118 M10 5 7.5 12 6
63 16 17 11 80 G118 M10 5 7.5 14.8 6
80 20 20 15 9 G1/8 M12 5 75 22 7
100 20 20 15 116 G118 M12 5 7.5 27 7
EAR> @ MM PL RR RT 6H Sw TG WH X1 X2 X3
16 8 8 33 M4 7 18 4,8£0,9 - - -
20 10 10 42 M5 8 22 5,6 0,9 42 - -
25 10 10 4.2 M5 8 26 5,6 0,9 45 - -
32 12 12 5.1 M6 10 325 7,4 40,9 6.5 - -
40 12 12 5.1 M6 10 38 7,4 40,9 11 - -
50 16 12 6.7 M8 13 465 8,4 40,9 13 4 13
63 16 12 6.7 M8 13 56.5 8,5+0,9 18 12 21
80 20 14 8.5 M10 16 72 9,8 £1 18 16.5 255
100 25 16.5 8.5 M10 21 89 9,8 +1 20 20 29

4

o

EMERSON.




AVENTICSCCI =X AV NI KD H 28
(ISO 21287) 2023-11-22
EALY @ ZA zB

16 34,9 £0,1 39,7 +0,8

20 37,3 0,1 43,6 40,8

25 39 £0,1 44,5 10,9

32 44 20,1 51,4 +1

40 45 10,1 52,4 £1

50 45,5 10,1 53,6 +1

63 49 20,1 57,4 +1

80 54,7 £0,1 64,4 £1

100 67 £0,1 76,7 +1

EMERSON.



AVENTICSCCI =X AV NI KD H 29
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
BB

RTZY MIEEANY

EMERE

U

it U

SUUNEME. BE BAK

— LAy

AN ARO—% K-k i A9L—)N ERRY EARY  IFUTLES
> o [mm] HAFE  hHEE
[mm] IN] IN]
16 5 M5 BUEE | YRV BN Méex1| HEEIXH 12 83 R422001642
HEERN 2oL~/
>
16 10 M5 BUEE | YRV KN Mex1| ZEET¥MR 12 83 R422001652
HEERN 29 L—/\
>
16 15 M5 HERE | YRV Mex1| ZEETI¥HA 12 83 R422001662
HEERN Z5L—I%
>
16 20 M5 BUEE | YRV BN Méex1| ZEEIX¥H 12 83 R422001672
HEERR 2oL~/
>
16 25 M5 BUEE | YIXRY KN Méex1| ZEEIXR 12 83 R422001682
HEERN 2oL~/
>
20 5 M5 BUEE | YRV M8x1,25| 1ZERET¥MA 13 135 R422001643
HEERN 29 L—/\
>
20 10 M5 HEEE | YRV M8x1,25 | 1ZEXTHH 13 135 R422001653
HEERN 25 L—/\
Y
20 15 M5 HMEEE | VIRV M8x1,25 | ZEETHMH 13 135 R422001663
HEERN 2oL~/
>
20 20 M5 EMEE | TRV M8x1,25| EETXHA 13 135 R422001673
HEERN 29 L—/\
>
20 25 M5 HEEE | YIXRYN M8x1,25 | 1ZEXTHH 13 135 R422001683
HEERN Z5L—I%
>
25 5 M5 BUEE | YRV BN M8x1,25 | 1ZEXETHH 25 235 R422001644
HEERN 2oL~/
>
25 10 M5 HMEEE | YRV M8x1,25 | ZRET¥MR 25 235 R422001654
HEERN 25 L—/%
>
25 15 M5 HERE | YRV M8x1,25| ZERET¥MA 25 235 R422001664
HEERR Z5L—I%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 30
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
25 20 M5 HMEEE | YRV M8x1,25 | ZET¥MR 25 235 R422001674
FEERN AO9L—N
>
25 25 M5 HEEE | YRV M8x1,25| 1ZERET¥MA 25 235 R422001684
FEERDL AIL—N
>
32 5 G1/8 HEEE | YRV M10x1,25 | ZXETEH 35 400 R422001645
HEEAN AOL—N
>
32 10 G 1/8 HMEEE | VIRV M10x1,25 | HZXTH 35 400 R422001655
HEEARAN AOL—N
>
32 15 G 1/8 HEREE | YRV M10x1,25 | ZET ¥R 35 400 R422001665
FEERDN AIL—N
>
32 20 G1/8 HEEE | YRV M10x1,25 | ZXETEH 35 400 R422001675
FEEARAN AIL—N
>
32 25 G1/8 BUEE | YRV BN M10x1,25 | HZEXETHEH 35 400 R422001685
FEEAN AOL—N
4
40 5 G 1/8 HMEREE | YRV M10x1,25 | ZETEMR 43 677 R422001646
HEERXDN AIL—N
>
40 10 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 43 677 R422001656
HEERN 245 L—/%
>
40 15 G1/8 BUEE | YRV BN M10x1,25 | ZXETEH 43 677 R422001666
FEEAKN AOL—N
>
40 20 G 1/8 HMEREE | YRV M10x1,25 | ZETER 43 677 R422001676
HEERN 25L—N
>
40 25 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 43 677 R422001686
HEERDL AIL—N
>
50 5 G1/8 HEEE | YRV M12x1,25 | ZXETEH 82 1028 R422001647
HEERN 245 L—/
>
50 10 G 1/8 HMEEE | VIRV M12x1,25 | HZXETEH 82 1028 R422001657
HEEZN 25L—)%
>
50 15 G 1/8 HEEE | YRV M12x1,25 | ZET¥MA 82 1028 R422001667
FEERB AIL—N
>
50 20 G1/8 HEEE | YIXRYKN M12x1,25 | ZEXTEH 82 1028 R422001677
FEEARAN AIL—N
>
50 25 G 1/8 BMEEE | YIXRYBN M12x1,25 | HZXETHEH 82 1028 R422001687
HEERN 245 L—/\
4
63 5 G 1/8 HMEREE | YRV M12x1,25 | ZETER 82 1745 R422001648
HEERXDN AIL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 31
(1SO 21287) 2023-11-22

AN  ARO—% K-k Z5L—/8 ERRY  ERARY  IFUTLES
> o [mm] HABE BB
mm] IN] IN]
63 10 G 1/8 HMEEE | YRV M12x1,25 | ZETER 82 1745 R422001658
HEERAN Z5L—IN
>
63 15 G1/8 HEEE | YRV M12x1,25 | ZET¥MA 82 1745 R422001668
HEEARN Z5L—I%
>
63 20 G 1/8 HEEE | YRV M12x1,25 | ZXETEH 82 1745 R422001678
HEERN Z5L—I%
Y
63 25 G 1/8 BUEE | YIXRYKN M12x1,25 | BETEMH 82 1745 R422001688
HEERN Z5L—/N
>
80 5 G 1/8 HMEE | YUXY N M16x1,5| ZETEMA 105 2864 R422001649
HEERAN Z5L—IN
>
80 10 G1/8 HEEE | YRV M16x1,5| BEIXHA 105 2864 R422001659
HEEAN Z5L—I%
>
80 15 G1/8 BURE | YIXRYN M16x1,5| ZETEH 105 2864 R422001669
HEERAN Z5L—/N
>
80 20 G 1/8 HMEREE | YRV M16x1,5| ZBEIHERA 105 2864 R422001679
HEERAN Z5L—IN
>
80 25 G1/8 BUEE | YRV M16x1,5| BEIXEHA 105 2864 R422001689
HEEAN Z5L—I%
>
100 5 G 1/8 HMEEE | YITXRYBN M16x1,5| ZXTHEH 215 4424 R422001650
HEERN Z5L—/N
>
100 10 G 1/8 HMEREE | YRV M16x1,5| ZEIER 215 4424 R422001660
HEERAN Z5L—IN
>
100 15 G1/8 HEEE | YRV M16x1,5| ZET¥MA 215 4424 R422001670
HEEAR Z5L—I%
>
100 20 G 1/8 HEEE | YRV M16x1,5| ZXETHEH 215 4424 R422001680
HEERN Z5L—I%
>
100 25 G 1/8 BURE | YIXRYKN M16x1,5| ZEEIEH 215 4424 R422001690
HEERN Z5L—/N
>

EMERSON.



AVENTICSCCI > U—X AN R A 32
(1SO 21287) 2023-11-22
3%

EE

6,85
5,35
"

3,65

WH+S —_PL» s H A | WH+S VH A
| Kkw \
f 1T
/ i L 2
/ p Silk '] 8
16 @ — O] @ ==
0N 2 [y S ] }==’ =
- | K*< i j —]
v 7 f K
P ; = & \ — =
[ i e I3
z Vkv
S 1B Jolw oW
BG
ZA+S
ZB+S
s
<
1
=3 g
3 1

220

-40

NARO—EARN B AVE—FY N Web A RTOHIEXVELETFET)

s=2ZAk0O—7

o

50 - 100

16 12 10 15 2 6 29.3 M5 M6 / M5 10 3

20 16 12 15.5 3.8 7.5 36.3 M5 M8/G 1/8 13 4

25 16 12 15.5 3.8 8 40.3 M5 M8/G 1/8 13 4
M10x1,25 /

32 19 12 17 4.5 8.6 50 G1/8 G 18 17 5
M10x1,25 /

40 19 12 17 4.5 9.2 58 G1/8 G1/8 17 5
M12x1,25/

50 22 16 17 6 1" 68.3 G1/8 G 1/4 19 6
M12x1,25 /

63 22 16 17 6 1" 80 G1/8 G 1/4 19 6
M16x1,5/

80 28 20 20 8 15 96 G1/8 M16x1.5 24 8
M16x1,5/

100 28 20 20 8 15 116 G1/8 M16x1.5 24 8

EANY @ LB LE LJ LW MM 8 PL RR RT 6H SwW TG

16 35 45 0 4 8 8 3.3 M4 7 18

20 4.5 4.5 4.5 4 10 10 4.2 M5 8 22

25 4.5 4.5 4 4 10 10 4.2 M5 8 26

\

&

EMERSON.



"

AVENTICSCCI > U—=X AV NI KRIVUE 33
(ISO 21287) 2023-11-22
EANY @ LB LE LJ LW MM f8 PL RR RT 6H sw TG
32 5 75 4.85 45 12 12 5.1 M6 10 325
40 5 7.5 9.85 45 12 12 5.1 M6 10 38
50 5 7.5 12 6 16 12 6.7 M8 13 465
63 5 7.5 14.8 6 16 12 6.7 M8 13 56.5
80 5 7.5 22 7 20 14 8.5 M10 16 72
100 5 7.5 27 7 25 16.5 8.5 M10 21 89
EANY @ WH X1 X2 X3 zA zB
16 4,840,9 - - - 34,9 £0,1 39,7 £0,8
20 5,6 £0,9 42 - - 37,3 0,1 43,6 40,8
25 5,6 0,9 45 - - 39 20,1 44,510,9
32 7,4 40,9 6.5 - - 44 20,1 51,4 +1
40 7,409 11 - - 45 0,1 52,4 +1
50 8,4 0,9 13 4 13 45,5 10,1 53,6 +1
63 8,5 0,9 18 12 21 49 20,1 57,4 +1
80 9,8 +1 18 16.5 255 54,7 +0,1 64,4 +1
100 9,8 £1 20 20 29 67 0,1 76,7 £1

EMERSON.



AVENTICSCCI =X AV NI KD H 34
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

1ISO 21287
AN RN —EBARNA—IS DB —
ATEX TH 7> a>
Rl
RITZY RMIEERARNY
MR
1 U
e U
A7) EE
ATEX TH 7> a>
EAK AkO—2 R—k 7 AUL—=IN EARAKY
N’} [mm] B AKEME
[mm] [N]
16 5 M5 HBUEE | YRV BN M4 | BEETEHR 95 127 R422001002
FTEEAN ATL—=N
>
16 10 M5 BUEE | YIXRYN M4 | BEIER 95 127 R422001012
TEEAN ATL—=N
>
16 15 M5 HEEE | YRV M4 | EETEH 95 127 R422001022
TEEAN AIL—=N
>
16 20 M5 BUEE | YRV BN M4 | EETER 95 127 R422001032
TEEAN ATL—=N
>
16 25 M5 HMEEE | YIXRY BN M4 | BETHER 95 127 R422001042
TEEAN ATL—=N
>
16 30 M5 HUEE | YRV M4 | EETEHR 95 127 R422001052
RFEEAN ATL—=N
>
16 40 M5 HEEE | YIXRYN M4 | EETER 95 127 R422001062
TEEAN A7L—=N
>
16 50 M5 HMEEE | VIRV M4 | BETHER 95 127 R422001072
FTEEAN ATL—N
>
16 60 M5 BUEE | YRV M4 | BETER 95 127 R422001082
FEEAN ATL—=N
>
20 5 M5 HEEE | YIXRYKN M6 | EETZEH 148 198 R422001003
TEEAN AIL—=N
>
20 10 M5 BUEE | YUXRY BN M6 | EETHEH 148 198 R422001013
FTEEAN ATL—=N
>
20 15 M5 BUEE | YIXRYN M6 | ZBEIXER 148 198 R422001023
TEEAN ATL—=N
>
20 20 M5 HEEE | YRV M6 | BEIXHA 148 198 R422001033
TEEAN AIL—=N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 35
(1SO 21287) 2023-11-22

AN  ARO—% K-k ZOL—N ERARY  EARY  IFUTLES
> o [mm] HABE P KA
mm] IN] IN]
20 25 M5 MR | YUXY N M6 | ZBEIXR 148 198 R422001043
HEERAN Z5L—IN
>
20 30 M5 HEEE | YRV M6 | BEIXHA 148 198 R422001053
HEEARN Z5L—I%
>
20 40 M5 HEEE | YRV M6 | EETZEH 148 198 R422001063
HEEAN 25 L—)\
>
20 50 M5 BUEE | YIXRYKN M6 | BETHEH 148 198 R422001073
HEERN 25 L=\
>
20 60 M5|  mMEE| TTxv A M6| BETHM 148 198 R422001083
HEERAN Z5L—IN
>
25 5 M5 HEEE | YRV M6 | BEIXHA 260 309 R422001004
HEEAN Z5L—I%
>
25 10 M5 HMEEE | YRV M6 | BETHEH 260 309 R422001014
HEERAN 25 L—)\
>
25 15 M5 HMEE | YUXY N M6 | ZBEIXR 260 309 R422001024
HEERAN Z5L—IN
>
25 20 M5 HEEE | YRV M6 | BEIXHA 260 309 R422001034
HEEAN Z5L—I%
>
25 25 M5 HMEEE | YITXRYBN M6 | EETZEH 260 309 R422001044
HEERN 25 L—)\
>
25 30 M5 HMEE | YJXY N M6 | ZBEIXR 260 309 R422001054
HEERAN Z5L—IN
>
25 40 M5 HEEE | YRV M6 | BETXH 260 309 R422001064
HEEAR Z5L—I%
>
25 50 M5 HEEE | YRV M6 | EETZEH 260 309 R422001074
HEEAN 25 L—)\
>
25 60 M5 BURE | YIXRYKN M6 | BETHEH 260 309 R422001084
HEERN 25 L=\
>
32 5 G 1/8 BUEE | YRV M8| BREETXH 435 507 R422001005
HEERAN Z5L—I%
>
32 10 G1/8 HEEE | YIXRYKN M8 | BETIXH 435 507 R422001015
HEEAN Z5L—I%
>
32 15 G 1/8 BMEEE | YIXRYBN M8 | BEETHEH 435 507 R422001025
HEERAN 25 L—)\
>
32 20 G 1/8 HMEE | YUXY N M8 | ZBEIXRA 435 507 R422001035
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 36
(1SO 21287) 2023-11-22

AN  ARO—% K-k Z5L—/8 ERRY  ERARY  IFUTLES
> o [mm] HABE BB
mm] IN] IN]
32 25 G 1/8 MR | YUXY N M8 | ZBEIXR 435 507 R422001045
HEERAN 25 L=\
>
32 30 G1/8 BUEE | YRV M8 | BEIXHA 435 507 R422001055
HEEARN Z5L—I%
>
32 40 G 1/8 HEEE | YRV M8 | EETZEH 435 507 R422001065
HEEAN Z5L—I%
Y
32 50 G 1/8 BUEE | YIXRYKN M8 | BRETXA 435 507 R422001075
HEERN Z5L—/N
>
32 60 G 1/8 HMEE | YUXY N M8 | BEIXRA 435 507 R422001085
HEERAN Z5L—IN
>
32 80 G 1/8 HEEE | YRV M8 | EETZEH 435 507 R422001095
HEEAN Z5L—I%
>
32 100 G1/8 HMEEE | YRV M8 | BEETHEH 435 507 R422001105
HEERAN Z5L—/N
>
32 125 G 1/8 HMEE | YUXY N M8 | ZBEIXR 435 507 R422001115
HEERAN Z5L—IN
>
32 150 G1/8 BUEE | YRV M8 | BETIXHA 435 507 R422001125
HEEAN Z5L—I%
>
40 5 G1/8 HMEEE | YITXRYBN M8 | EETZEH 720 792 R422001006
HEERN Z5L—/N
>
40 10 G 1/8 HMEE | YJXY N M8 | EBEIXR 720 792 R422001016
HEERAN 25 L=\
>
40 15 G 1/8 HUEE | YIXRYBN M8 | BEIXHA 720 792 R422001026
HEEAR Z5L—I%
>
40 20 G 1/8 HEEE | YRV M8 | EETZEH 720 792 R422001036
HEEAN Z5L—I%
>
40 25 G 1/8 BURE | YIXRYKN M8 | BETXA 720 792 R422001046
HEERN Z5L—/N
>
40 30 G18| mMEEm| vTxvhA M8| BETEM 720 792 R422001056
HEERAN Z5L—I%
>
40 40 G 1/8 HEEE | YIXRYKN M8 | EETZEH 720 792 R422001066
HEEAN Z5L—I%
>
40 50 G 1/8 BMEEE | YIXRYBN M8 | BEETHEH 720 792 R422001076
HEERAN Z5L—/N
>
40 60 G 1/8 HMEE | YUXY N M8 | ZBEIXRA 720 792 R422001086
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 37
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
40 80 G 1/8 EUEE | YIXRYHN M8 | ZBEIXR 720 792 R422001096
FEERN AO9L—N
>
40 100 G1/8 HEEE | YRV M8 | BEIXHA 720 792 R422001106
HEERN 25L—N
>
40 125 G 1/8 HEEE | YRV M8| EETXEA 720 792 R422001116
HEERN 245 L—/
>
40 150 G 1/8 HMEEE | VIRV M8 | BETHH 720 792 R422001126
HEEARAN AOL—N
>
50 5 G1/8 HMEE | YUXY N M10| ZBEIER 1110 1237 R422001007
FEERDN AIL—N
>
50 10 G1/8 HEEE | YRV M10| EETEH 1110 1237 R422001017
FEEARAN AIL—N
>
50 15 G1/8 BUEE | YRV BN M10| BEETEH 1110 1237 R422001027
FEEAN AOL—N
4
50 20 G 1/8 BUEE | YRV N M10| ZEIER 1110 1237 R422001037
HEEZN 25L—)%
>
50 25 G1/8 HEEE | YRV M10| EETEH 1110 1237 R422001047
HEEARAN AOL—N
>
50 30 G1/8 BUEE | YRV BN M10| EETHH 1110 1237 R422001057
HEEZN 245 L—/
>
50 40 G 1/8 EUEE | YIXRYN M10| ZBEIER 1110 1237 R422001067
FEERAN AO9L—N
>
50 50 G1/8 HEEE | YRV M10| EBETEH 1110 1237 R422001077
HEEAN 25L—N
>
50 60 G 1/8 HEEE | YRV M10| EETHEH 1110 1237 R422001087
HEEAN AOL—N
>
50 80 G 1/8 HMEEE | VIRV M10| BETHEHR 1110 1237 R422001097
HEEZN 25L—)%
>
50 100 G1/8 HMEE | YUXY N M10| ZBEIER 1110 1237 R422001107
FEERB AIL—N
>
50 125 G1/8 HEEE | YIXRYKN M10| EETEH 1110 1237 R422001117
FEEARAN AIL—N
>
50 150 G 1/8 BUEE | YRV BN M10| BEETEH 1110 1237 R422001127
FEEAN AOL—N
4
63 5 G 1/8 BUEE | YIXRYHN M10| ZEIER 1827 1964 R422001008
HEERXDN AIL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 38
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
63 10 G 1/8 EUEE | YIXRYHN M10| ZBEIER 1827 1964 R422001018
FEERN AO9L—N
>
63 15 G1/8 HEEE | YRV M10| EBETEH 1827 1964 R422001028
FEERDL AIL—N
>
63 20 G 1/8 HEEE | YRV M10| EETHEH 1827 1964 R422001038
HEERN 245 L—/
>
63 25 G 1/8 HMEEE | VIRV M10| BETEHR 1827 1964 R422001048
HEEARAN AOL—N
>
63 40 G 1/8 HEREE | YRV M10| ZBEIER 1827 1964 R422001068
FEERDN AIL—N
>
63 30 G1/8 HEEE | YRV M10| EETEH 1827 1964 R422001058
FEEARAN AIL—N
>
63 50 G1/8 BUEE | YRV BN M10| BEETEH 1827 1964 R422001078
FEEAN AOL—N
4
63 60 G 1/8 BUEE | YRV N M10| ZEIER 1827 1964 R422001088
HEERXDN AIL—N
>
63 80 G1/8 HEEE | YRV M10| EETEH 1827 1964 R422001098
HEEARAN AOL—N
>
63 100 G1/8 BUEE | YRV BN M10| EETEH 1827 1964 R422001108
FEEAKN AOL—N
>
63 125 G 1/8 EUEE | YIXRYN M10| ZBEIER 1827 1964 R422001118
HEERN 25L—N
>
63 150 G1/8 HEEE | YRV M10| EBETEH 1827 1964 R422001128
HEERDL AIL—N
>
80 5 G 1/8 HEEE | YRV M12| EETHEHR 2969 3167 R422001009
HEEAN AOL—N
>
80 10 G 1/8 HMEEE | VIRV M12| BETHER 2969 3167 R422001019
HEEZN 25L—)%
>
80 15 G 1/8 HEEE | YRV M12| BETIER 2969 3167 R422001029
FEERB AIL—N
>
80 20 G1/8 HEEE | YIXRYKN M12 | EETEH 2969 3167 R422001039
FEEARAN AIL—N
>
80 25 G 1/8 BUEE | YRV BN M12| BEETEHR 2969 3167 R422001049
FEEAN AOL—N
4
80 30 G 1/8 BUEE | YIXRYHN M12| ZETER 2969 3167 R422001059
HEEZN 25L—)%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 39
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
80 40 G 1/8 EUEE | YIXRYHN M12| ZETIER 2969 3167 R422001069
FEERN AO9L—N
>
80 50 G1/8 HEEE | YRV M12| BETEH 2969 3167 R422001079
HEERN 25L—N
>
80 60 G 1/8 HEEE | YRV M12| EETHEHR 2969 3167 R422001089
HEEAN AOL—N
>
80 80 G 1/8 HMEEE | VIRV M12| BETHER 2969 3167 R422001099
HEEARAN AOL—N
>
80 100 G 1/8 BUEE | YRV M12| BETEH 2969 3167 R422001109
FEERDN AIL—N
>
80 125 G1/8 HEEE | YRV M12 | EETEH 2969 3167 R422001119
HEERN 245 L—/%
>
80 150 G1/8 BUEE | YRV BN M12| BETEHR 2969 3167 R422001129
FEEAN AOL—N
4
100 5 G 1/8 BUEE | YRV N M12| ZBETER 4639 4948 R422001010
HEERXDN AIL—N
>
100 10 G1/8 HEEE | YRV M12| EETEH 3886 4145 R422001020
HEEARAN AOL—N
>
100 15 G 1/8 BUEE | YRV BN M12| EETEH 3886 4145 R422001030
FEEAKN AOL—N
>
100 20 G 1/8 EUEE | YIXRYN M12| ZBETIER 3886 4145 R422001040
FEERAN AO9L—N
>
100 25 G1/8 HEEE | YRV M12| BETEA 3886 4145 R422001050
HEERDL AIL—N
>
100 30 G 1/8 HEEE | YRV M12| EETHEHR 3886 4145 R422001060
HEEAN AOL—N
>
100 40 G 1/8 HMEEE | VIRV M12| BETHER 3886 4145 R422001070
HEEZN 25L—)%
>
100 50 G 1/8 BUEE | YRV M12| BETEH 3886 4145 R422001080
FEERB AIL—N
>
100 60 G1/8 HEEE | YIXRYKN M12 | EETEH 3886 4145 R422001090
FEEARAN AIL—N
>
100 80 G 1/8 BUEE | YRV BN M12| BEETEHR 3886 4145 R422001100
FEEAN AOL—N
4
100 100 G 1/8 BUEE | YIXRYHN M12| ZETER 3886 4145 R422001110
HEEZN 25L—)%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 40
(1SO 21287) 2023-11-22

EAN  ARO—% K-k EARY  EARY  IFUTLES
> o [mm] HAKE D HEE
[mm] IN] IN]
100 125 G 1/8 EUEE | YIXRYHN M12| ZETIER 3886 4145 R422001120
HEEAN Z5L—IN
>
100 150 G1/8 HEEE | YRV M12| BETEH 3886 4145 R422001130
HEEAN 25 L—)\
>
125 5 G1/4 HEEE | YRV M16| EETHEH 7422 7731 R481636828
HEERR 2oL~/
>
125 10 G1/4 HMEEE | VIRV M16 | BETHEHR 7422 7731 R481636829
HEEAN 2oL~/
>
125 15 G 1/4 HEREE | YRV M16| ZBEIHER 7422 7731 R481636830
HEEAN 25 L—/%
>
125 20 G 1/4 HEEE | YRV M16 | EETEH 7422 7731 R481636831
HEERR 29 L=\
>
125 25 G1/4 BUEE | YRV BN M16 | BEETEH 7422 7731 R481636832
HEEAN 25L—IN
4
125 30 G1/4 BUEE | YRV N M16| ZETHER 7422 7731 R481636833
HEEAN 25 L—/\
>
125 40 G 1/4 HEEE | YRV M16| BETHEHA 7422 7731 R481636834
HEERR 2 L—/\
>
125 50 G1/4 BUEE | YRV BN M16 | EETEH 7422 7731 R481636835
HEEAN 2oL~/
>
125 60 G1/4 EUEE | YIXRYN M16| ZETIER 7422 7731 R481636836
HEEAN Z5L—IN
>
125 80 G 1/4 HEEE | YRV M16| BETIHEA 7422 7731 R481636837
HEEAN 25 L—)\
>
125 100 G1/4 HEEE | YRV M16| EETHEH 7422 7731 R481636838
HEERR 2oL~/
>
125 125 G1/4 HMEEE | VIRV M16 | BETHEH 7422 7731 R481636839
HEEAN 2oL~/
>
125 150 G14| BEEE| ITFY K Mi6| EET%R 7422 7731 R481636840
HEEAN 25 L—)%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 41
(1SO 21287) 2023-11-22

RP:

@50 -100

EANY @ AF BG DA H11 DT E EE G LA LB LE
16 10 15 10 6 29.3 M5 M4 25 3.5 4.5
20 12 15.5 12 7.5 36.3 M5 M6 25 4.5 4.5
25 12 15.5 12 8 40.3 M5 M6 25 4.5 4.5
32 12 17 14 8.6 50 G1/8 M8 25 5 7.5
40 12 17 14 9.2 58 G1/8 M8 25 5 7.5
50 16 17 18 11 68.3 G1/8 M10 25 5 7.5
63 16 17 18 1" 80 G1/8 M10 25 5 7.5
80 20 20 23 15 96 G1/8 M12 3 5 7.5
100 20 20 28 15 116 G1/8 M12 3 5 7.5
125 25 35 12 - 134.6 G 1/4 M16 2.6 b ?7??

EANY @ LJ LW MM f8 PL RR RT 6H SW TG WH X1
16 0 4 8 8 3.3 M4 7 18 4,8+0,9 -
20 4.5 4 10 10 4.2 M5 8 22 5,6 0,9 4.2
25 4 4 10 10 4.2 M5 8 26 5,6 0,9 4.5
32 4.85 4.5 12 12 5.1 M6 10 325 7,4+0,9 6.5
40 9.85 4.5 12 12 5.1 M6 10 38 7,4+0,9 1"
50 12 6 16 12 6.7 M8 13 46.5 8,4 10,9 13
63 14.8 6 16 12 6.7 M8 13 56.5 8,5+0,9 18
80 22 7 20 14 8.5 M10 16 72 9,8 +1 18
100 27 7 25 16.5 8.5 M10 21 89 9,8 +1 20
125 39 7.5 25 20.5 111 M12 21 110 11 29

16 - - 34.9 39,7 +0,8

4

o

EMERSON.



AVENTICSCCI =X AV NI KD H 42
(ISO 21287) 2023-11-22
EANY @ X2 X3 ZA 20,1 zB

20 - - 37.3 43,6 40,8

25 - - 39 44,5 10,9

32 - - 44 51,4 1

40 - - 45 52,4 £1

50 4 13 455 53,6 +1

63 12 21 49 57,4 +1

80 16.5 255 54.7 64,4 +1

100 20 29 67 76,7 +1

125 29 38 81 92

EMERSON.



AVENTICSCCI =X AV NI KD H 43
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
ATEX THT> 3>

oyl

RTFY MIEEANY

EREEFNE

it U

it U

LTI EE

ATEX THAT> 3>

EARN AkO—2 R—k i AU9L—I EARRY
> @ [mm] A AKEME
[mm] [N]
20 5 M5| ZEREE| YITRY N M6 | EETIHA 148 198 R481654373
HIEE | FEEARAL ATL—=N
>
20 10 M5 | ZEEREE| XIxY N M6 | EETEHR 148 198 R481654374
HIBE | FEERS AIL—N
>
20 15 M5 | ZEEREE| XIxY KN M6 | EETZEH 148 198 R481654375
HEE | FEERS AOL—N
>
20 20 M5 | ZEREHE| XIxRY KN M6 | EEIXA 148 198 R481654376
HIEE | FEEAS ATL—=N
>
20 25 M5| ZERENE| YTXRY KN M6 | EETEHR 148 198 R481654377
HIBE | FEERS AIL—N
>
20 30 M5 | ZEEREE| XIxY N M6 | EETZEH 148 198 R481654378
HiEE | FEERBN AOL—N
>
20 40 M5 | ZEEREE| XIxRY KN M6 | EEITXA 148 198 R481654379
HIEE | FEERAS ATL—=N
>
20 50 M5| ZERENER| YTXRY BN M6 | BETHEHR 148 198 R481654380
KIBE | FEEARAS ATL—=N
>
20 60 M5 | ZEEREE| XIxY N M6 | BEIXRA 148 198 R481654381
HIBE | FEERS AIL—N
>
25 5 M5 | ZEEREE| XIxRY KN M6 | EEITXEA 260 309 R481654382
HIEE | FEERS AOL—N
>
25 10 M5| ZEREE| YITRY N M6| EEIXA 260 309 R481654383
HIEE | FEERAS ATL—N
>
25 15 M5 | ZEEREE| XIxY N M6 | ZBEIXR 260 309 R481654384
HIBE | FEERS AIL—N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 44

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h =& EAK> EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]

25 20 M5 | ZEBHEF| YTERY A M6 | BETXR 260 309 R481654385
KiBE | HEEAL ATL—N
>
25 25 M5| ZEREHE| YITERY b M6 | BETXA 260 309 R481654386
*iBE | NEEARDL AIL—=/\
>
25 30 M5| ZEBHE| YTXRY b M6 | BREIXA 260 309 R481654387
hiEE | FEEXBL AOL—=N
>
25 40 M5 | ZEBHEF| NTERY A M6 | HRETXA 260 309 R481654388
LEE| HEEAN 25 L—/%
>
25 50 M5| ZERAEHE| YITXRY B M6 | BETXH 260 309 R481654389
*iBE | NHEEADL AIL—=/N\
>
25 60 M5| ZEBEHE| YTERY b M6 | BEIXAH 260 309 R481654390
HiBE | NEEADL AIL—N
>
32 5 G1/8| ZEREE| YIJxXY N M8| BRETIXA 435 507 R481654391
hiEE | HEEXBL A7L—=N
>
32 10 G1/8| ZEREE| YJXY N M8 | BEIXA 435 507 R481654392
KiEE | HEEARDL AIL—=/NN
>
32 15 G1/8| ZEREE| YJXY N M8 | BETXH 435 507 R481654393
HimE | NEERDL AIL—=/NN
>
32 20 G1/8| ZEREE| NIV N M8| BREIXA 435 507 R481654394
hiEE | FEEXBL A7L—=N
>
32 25 G1/8| ZERHE| XT=RY K M8 | BEIXA 435 507 R481654395
KiBE | HEEADL AL—N
>
32 30 G1/8| ZEREE| YJXY N M8| BETXH 435 507 R481654396
*iBE | NEEADL AIL—=/\
>
32 40 G1/8| ZEREE| YJXY N M8| BEIXAH 435 507 R481654397
hiEE | FEEXL AOL—=N
>
32 50 G1/8| ZEREE| YIT=RY K M8 | HRETXA 435 507 R481654398
HE®| HEEAN 25 L—/\
>
32 60 G1/8| ZEREE| YJXY N M8| BETXH 435 507 R481654399
*iBE | NEEADL AIL—=/NN
>
32 80 G1/8| ZEREE| YJxXY N M8| BRETIXAH 435 507 R481654400
HiBE | NEEADL AIL—=NN
>
32 100 G1/8| ZEFREE| NIV N M8| BRETIXA 435 507 R481654401
hiEE | HEEXBS A7L—=N
>
32 125 G1/8| ZEREE| YJ/XY N M8| BETXH 435 507 R481654402
KiEE | NHEEADL AIL=NN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 45
(1SO 21287) 2023-11-22

BN ARO—% K-k EARY ERRY  XFUTLES
> o [mm] HAKE D HEE
[mm] IN] IN]
32 150 G1/8| Z=EREE| YITxRY KN M8 | ZBEIXR 435 507 R481654403
LEE| HEEAN Z5L—IN
>
40 5 G1/8| Z=EREE| YITXY KN M8 | EETZEH 720 792 R481654404
HEE | HEERN 29 L—/\
>
40 10 G1/8| Z=EREE| YXTXY KN M8| EETXEA 720 792 R481654405
HEE| HEERN 2oL~/
>
40 15 G1/8| Z=EREE| YIxY N M8 | BETHH 720 792 R481654406
HEE | HEERN 2oL~/
>
40 20 G18| BEBEHE| ¥I%Y K M8| BETEM 720 792 R481654407
LEE| HEEAN 29 L—/\
>
40 25 G1/8| Z=EREE| YTXY KN M8 | EETZEH 720 792 R481654408
X | HEEAN Z5L—I%
>
40 30 G1/8| ZERHE| XTIV K M8 | BEETHEH 720 792 R481654409
HEE | HEERN 25L—IN
>
40 40 G1/8| Z=EREE| YITXRY KN M8 | ZBEIXR 720 792 R481654410
LEE| HEEAN 25 L—/\
>
40 50 G1/8| Z=EREE| NITXY KN M8 | EETZEH 720 792 R481654411
HiEE | HEERN Z5L—I%
>
40 60 G1/8| ZERHE| XTIV KN M8 | EETZEH 720 792 R481654412
HEE | HEERN 2oL~/
>
40 80 G1/8| Z=EREE| YITxY KN M8 | EBEIXR 720 792 R481654413
LEE| HEEAN Z5L—IN
>
40 100 G1/8| Z=EREE| YITXY KN M8 | EETHEH 720 792 R481654414
HEE | HEERN 29 L—/\
>
40 125 G1/8| Z=EREE| YXTXY KN M8| EETXA 720 792 R481654415
HEE| HEERN 2oL~/
>
40 150 G1/8| Z=EREE| YIxY N M8 | BETHH 720 792 R481654416
HEE | HEERN 2oL~/
>
50 5 G18| BEREE| ¥I%Y K M10| BETEM 1110 1237 R481654417
LEE| HEEAN 29 L—/\
>
50 10 G1/8| Z=EREE| YXTXY KN M10| EETEH 1110 1237 R481654418
HEE| HEERN Z5L—I%
>
50 15 G1/8| ZERHE| XIXRY K M10| EETHH 1110 1237 R481654419
HEE | HEERAN 25L—IN
>
50 20 G1/8| Z=EREE| YITXRY KN M10| ZEIER 1110 1237 R481654420
LEE| HEEAN 25 L—/\
>

EMERSON.



AVENTICSCCI =X AV NI KD H 46
(1SO 21287) 2023-11-22

EAN  AhO—Y K-k EARY ERRY  IXFUTLES
> o [mm] HABE O HEE
(mm] IN] IN]
50 25 G1/8| Z=EREE| YITxRY KN M10| EETEHR 1110 1237 R481654421
HE®| HEEAN 25 L—)\
>
50 30 G1/8| ZERHE| XIxY N M10| EBETEH 1110 1237 R481654422
HEE| HECAN 29 L—)\
>
50 40 G1/8| ZERHE| XTIV KN M10| EETHEH 1110 1237 R481654423
HEW| HEEAN 25 L—/\
>
50 50 G1/8| Z=EREE| YIxY N M10| BETEHR 1110 1237 R481654424
HEm| HEEAN 25 L—/%
>
50 60 Gs| mEBEE| vTxYN M10| BET%R 1110 1237 R481654425
HEE| HECAN 29 L—)\
>
50 80 G1/8| ZERHE| XIxY KN M10| EBETHEH 1110 1237 R481654426
HEE| HEEAN 2oL~/
>
50 100 G1/8| ZERHE| XTIV K M10| EETHH 1110 1237 R481654427
HEm| HEEAN 25 L—/\
4
50 125 G1/8| Z=EREE| YITXRY KN M10| EETEHR 1110 1237 R481654428
HE®| HEEAN 29 L—)\
>
50 150 G1/8| ZERHE| XIxY K~ M10| EETEH 1110 1237 R481654429
LEE| HEEAN Z5L—IN
>
63 5 G1/8| ZERHE| XTIV KN M10| EETHH 1827 1964 R481654430
HEm| HEEAN 25 L—/\
>
63 10 G1/8| Z=EREE| YITxY KN M10| ZBEIER 1827 1964 R481654431
HE®| HEEAN 25 L—/\
>
63 15 G1/8| ZERHE| XIxY N M10| EBETEH 1827 1964 R481654432
HEE| HECAN 29 L—)\
>
63 20 G1/8| ZERHE| XTIV KN M10| EETHEH 1827 1964 R481654433
HE®| HEEAN 25 L—/\
>
63 25 G1/8| Z=EREE| YIxY N M10| BETHEHR 1827 1964 R481654434
HEm| HEEAN 25 L—/\
>
63 30 G1/8| ZEREE| YITXY KN M10| ZBEIER 1827 1964 R481654435
HEE| HECAN 29 L—)\
>
63 40 G1/8| Z=EREE| YXTXY KN M10| EETEH 1827 1964 R481654436
HEW| HEEAN 2oL~/
>
63 50 G1/8| ZERHE| XIXRY K M10| EETHH 1827 1964 R481654437
HEm| HEEAN 25 L—)%
4
63 60 G1/8| Z=EREE| YITXRY KN M10| EETEHR 1827 1964 R481654438
HE®| HEEAN 29 L—)\
>

EMERSON.



AVENTICS CCI =X AU NO KD A 47
(ISO 21287) 2023-11-22
EAN AkO—7 =y § % EANY
v o [mm] B AKEE il b
[mm] [N] [N]
63 80 G1/8| BEREE| YT%RY N M10 | EET¥A 1827 1964 R481654439
HiEE | FEEAD AIL—N
>
63 100 G1/8| BERER| YT%RY b M10 | EXET %A 1827 1964 R481654440
HIBE | FEERS AIL—N
>
63 125 G1/8| =ER/EZ| YTV b M10 | EET%A 1827 1964 R481654441
HIEE | FEEAS AOL—N
>
63 150 G1/8| BEREE| YT%xY b M10| EXET¥RA 1827 1964 R481654442
HEEE | FEERAL AUL—N
>
&
AF E
LW s LA
+ A 2
= —-—-—»—A———\\— ! S w
1 o
s| < AT NwE
= | 1H T ——- e —]
(S
= =
9 LB i B
Q
PL \ ,L&
BG BG
WH
ZA+S
ZB+S
CCI-PC 220-240 CCI-PC 250-263
. X1
7 X1 . .
2:1 —@ﬁ
g_ 6,85£0,15 X @ @ <
b | ‘\ 535+0,15 T = '
: ©
© A s
(_ 145 :

|
_.JA
X1 -

EMERSON.



"

AVENTICSCCIZU—X OO KU A 48
(ISO 21287) 2023-11-22
EANY O AF BG DA H11 DT = EE KF LA LB min. L]
20 12 15.5 12 7.5 36.3 M5 M6 2.5 4.5 4.5
25 12 15.5 12 8 40.3 M5 M6 2.5 4.5 4
32 12 17 14 8.6 50 G1/8 M8 25 5 5
40 12 17 14 9.2 58 G1/8 M8 2.5 5 10
50 16 17 18 1 68.3 G1/8 M10 2.5 5 1.5
63 16 17 18 1 80 G1/8 M10 2.5 5 15
EANY O LW MM 8 PL RR min. RT 6H SW TG WH X1 X2
20 3.7 10 8 4.2 M5 8 22 +0.4 5614 4.2 -
25 3.7 10 8 4.2 M5 8 26 +0.4 5614 4.5 -
32 5 12 1M 5.1 M6 10 32505 7516 6.5 -
40 5 12 7.9 5.1 M6 10 38 £0.5 75%1.6 11 -
50 57 16 8 6.7 M8 13 46.5 +0.6 8+1.6 13 4
63 5.7 16 8.2 6.7 M8 13 56.5 0.7 8+1.6 18 12
EANY O X3 ZA +0,1 ZB
20 - 37.3 42.9 £0.8
25 - 39 44.6 +0.9
32 - 44 51.5 +1
40 - 45 52.1 +1
50 13 455 53.1 1
63 21 49 57 £1
4

EMERSON.



AVENTICSCCI =X AV NI KD H 49
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
ANV R—EBANO—I VA —
¥REE
ATEX THA 7> 3>
pag ]
NTZY MIZEERKNY
MG
il
a2 U
A7 )L EE
ATEX THA 7> 3>
EA b ANO—2 R—b T AOL—=IN EALRY EANY
> @ [mm] H ABE B HAEmE
[mm] [N] [N]
16 5 M5 EUEE | YIRY N Méx1| BETHMH 95 127 R422001132
FEEAR AIL—N
>
16 10 M5 BUEE | YIXRYN Méx1| BETEHR 95 127 R422001142
FEEAN AIL—N
>
16 15 M5 EMEE | YUY N Méx1| EETHEMH 95 127 R422001152
HEERK AUL—N
Y
16 20 M5 EMEE | YRV Méx1| ERETHMH 95 127 R422001162
FEEAR AL—N
>
16 25 M5 EUEE| IRV Méx1| EETHMH 95 127 R422001172
FEEAN ATL—N
>
16 30 M5 HMEE | YUXY N Méx1| BETEHR 95 127 R422001182
fEEAN AIL—N
2
16 40 M5 EMEE | YUY N Méx1| EXETHH 95 127 R422001192
FEERA KN AOL—N
>
16 50 M5 EMUEE| YIRY N Méx1| BETHMH 95 127 R422001202
FEEAK AIL—N
>
16 60 M5 BUEE | YRV Méx1| BETEHR 95 127 R422001212
HFEEAN AIL—N
Y
20 5 M5 EMEE| YUY N M8x1,25| ZETHMA 148 198 R422001133
FEEAR AOL—N
2
20 10 M5 EUEE | YIRY N M8x1,25| BRT%HA 148 198 R422001143
FEEAR AIL—N
>
20 15 M5 EMEE | YUY N M8x1,25| EXET¥R 148 198 R422001153
FEEAN AIL—N
>
20 20 M5 EMEE | YUY N M8x1,25| EXTXA 148 198 R422001163
FEEAR AIL—N
Y

EMERSON.



AVENTICS CCI =X AV NI R IUHA 50

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h R AOL—=IN EARRY EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]

20 25 M5 BMEE | YIRYbN M8x1,25| BETXH 148 198 R422001173
HEERN ATL—N
>
20 30 M5 HMEE | YUXY N M8x1,25 | {RETXHA 148 198 R422001183
HEEAL AIL—=/\
>
20 40 M5 HMEE | YUJXY N M8x1,25| RETXHA 148 198 R422001193
HEERR 2oL~/
>
20 50 M5 HMEE | YIRYN M8x1,25 | HETXHA 148 198 R422001203
FEEAR A7L—=N
>
20 60 M5 BUEE | YIxYE M8x1,25| RETXA 148 198 R422001213
HEEARL AIL—=/N\
>
25 5 M5 BMEE | YIXRY N M8x1,25 | RETH¥HA 260 309 R422001134
REEAN AOL—=N
>
25 10 M5 HMEE | YJXY N M8x1,25 | #HEET*HA 260 309 R422001144
FEEAR A7L—=N
>
25 15 M5 BMEE | YIRYbN M8x1,25| BETXH 260 309 R422001154
HEERR ZoL—N
>
25 20 M5 HMEE | YUXY N M8x1,25| EETXH 260 309 R422001164
REEAN AOL—N
>
25 25 M5 HMEE | YJXY N M8x1,25 | #HRETI*HA 260 309 R422001174
FEEAR A7L—=N
>
25 30 M5 BMEE | YTXRYbN M8x1,25| BETXH 260 309 R422001184
HEERN AL—N
>
25 40 M5 HMEE | YUXY N M8x1,25 | {RETXA 260 309 R422001194
HEEAL AIL—=/\
>
25 50 M5 HMEE | YJXY N M8x1,25| RETXHA 260 309 R422001204
HEERR 2oL~/
>
25 60 M5 HMEE | YIRYN M8x1,25 | HETXHA 260 309 R422001214
FEEAR A7L—=N
>
32 5 G1/8 BMEE | YIRYbA M10x1,25 | RETHEM 435 507 R422001135
HEEARN AIL—=/NN
>
32 10 G1/8 HMEE | YUXY N M10x1,25 | BRETHMA 435 507 R422001145
REEAN AOL—=N
>
32 15 G1/8 HMEE | YUY N M10x1,25 | HRETZA 435 507 R422001155
FEEAR A7L—=N
>
32 20 G1/8 BMEE | YIRYbN M10x1,25 | BEIXMA 435 507 R422001165
HEERR Z5L—N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 51

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h R AOL—=IN EARRY EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]

32 25 G1/8 BMEE | YIRYbN M10x1,25 | BET XA 435 507 R422001175
HEERN ATL—N
>
32 30 G1/8 HMEE | YUXY N M10x1,25 | HRETHM 435 507 R422001185
HEEAL AIL—=/\
>
32 40 G 1/8 HMEE | YUJXY N M10x1,25 | BEIXEH 435 507 R422001195
HEERR 2oL~/
>
32 50 G 1/8 HMEE | YIRYN M10x1,25 | HETZA 435 507 R422001205
FEEAR A7L—=N
>
32 60 G1/8| BMEE| TUFYN| MIOx125| BEIEH 435 507 R422001215
HEEARL AIL—=/N\
>
32 80 G1/8 HMEE | YUXY N M10x1,25 | HRETHMA 435 507 R422001225
REEAN AOL—=N
>
32 100 G1/8 HMEE | YJXY N M10x1,25 | HRETZA 435 507 R422001235
FEEAR A7L—=N
>
32 125 G1/8 BMEE | YIRYbN M10x1,25 | BEIXMA 435 507 R422001245
HEERR ZoL—N
>
32 150 G1/8 BMEE | YIRYbN M10x1,25 | BETXA 435 507 R422001255
REEAN AOL—N
>
40 5 G1/8 HMEE | YJXY N M10x1,25 | BREIHMA 720 792 R422001136
FEEAR A7L—=N
>
40 10 G1/8 BMEE | YTXRYbN M10x1,25 | BET XA 720 792 R422001146
HEERN AL—N
>
40 15 G1/8 HMEE | YUXY N M10x1,25 | HRETHMA 720 792 R422001156
HEEAL AIL—=/\
>
40 20 G1/8 HMEE | YJXY N M10x1,25 | BEI XM 720 792 R422001166
HEERR 2oL~/
>
40 25 G1/8 HMEE | YIRYN M10x1,25 | RETZA 720 792 R422001176
FEEAR A7L—=N
>
40 30 G1/8| BMEE| TUFYN| MIOx125| BEIEA 720 792 R422001186
HEEARN AIL—=/NN
>
40 40 G1/8 HMEE | YUXY N M10x1,25 | BRETHMA 720 792 R422001196
REEAN AOL—=N
>
40 50 G1/8 HMEE | YUY N M10x1,25 | HRETZA 720 792 R422001206
FEEAR A7L—=N
>
40 60 G1/8 BMEE | YIRYbN M10x1,25 | BEIXMA 720 792 R422001216
HEERR Z5L—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 52
(1SO 21287) 2023-11-22

EAbB AkO—2 R—k AO9L—=IN EARRY EANY NTUTINES
> @ [mm] HABEE 1 HEmE
[mm] [N] [N]
40 80 G1/8| BMES| TURYN| MIOx125| EETEAM 720 792 R422001226
FEEA N A7L—=N
>
40 100 G1/8| BMER| IURYN| MI0x125| EEIEA 720 792 R422001236
FEEAN AO9L—N
>
40 125 G1/8| HBMEE| IURYN| MI0x125| BEIEA 720 792 R422001246
HEEAN AoL—N
>
40 150 G1/8| BMEE| IYEFYN| MIOx125| BETEAH 720 792 R422001256
FEEA N AOL—N
>
50 5 G1/8| BMEE| TUFYN| MI2x125| BEIEH 1110 1237 R422001137
HEERR Z5L—N
>
50 10 G1/8| BMEE| ITRYN| M2x125| BETER 1110 1237 R422001147
FEEARAN AOL—N
>
50 15 G1/8| BMEE| IURYN| MI2x125| BEIXAH 1110 1237 R422001157
HEERN 25L—/X
>
50 20 G1/8| BMES| TURYN| MI2x125| EETEAH 1110 1237 R422001167
HEEA N AO9L—N
>
50 25 G1/8| BMEG| IUZYN| MI2x125| BETEH 1110 1237 R422001177
HEEARAN AO9L—N
>
50 30 G1/8| BMEE| IUFYN| MI2x125| BETEAH 1110 1237 R422001187
FEEAR AOL—N
>
50 40 G1/8| BMES| TURYN| MI2x125| EETEAH 1110 1237 R422001197
HEERR 25 L—/%
>
50 50 G1/8| BMER| IURYN| MI2x125| EEIEA 1110 1237 R422001207
FEEA N AO9L—N
>
50 60 G1/8| BMER| IURYN| MI2x125| BEIXAH 1110 1237 R422001217
HEEAN AoL—N
>
50 80 G1/8| BMER| IUFYN| MI2x125| BETEAH 1110 1237 R422001227
HEEZR 25 L—/%
>
50 100 G1/8 HMEE | YUXY N M12x1,25 | BET¥#H 1110 1237 R422001237
FEEA N AO9L—N
>
50 125 G1/8| BMEE| ITRYN| M2x125| BETER 1110 1237 R422001247
FEEARAN AOL—N
>
50 150 G1/8| BMEE| IUFYN| MI2x125| BETEAH 1110 1237 R422001257
FEEA L AOL—N
>
63 5 G1/8| BMES| TURYN| MI2x125| EETEAH 1837 1964 R422001138
HEEA N AO9L—N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 53

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h R AIL—=N ERR> EAKY XTUT7ILES
> o [mm] A AFE O HEE
[mm] [N] [N]

63 10 G1/8 MR | YUXY N M12x1,25 | BETHM 1837 1964 R422001148
HEERN AIL=N
>
63 15 G1/8 HMEE | YUXY N M12x1,25 | BRETHM 1837 1964 R422001158
HEEAL AIL—=/\
>
63 20 G 1/8 HMEE | YUJXY N M12x1,25| BEI XM 1837 1964 R422001168
HEERN 25 L—/\
>
63 25 G 1/8 HMEE | YIRYN M12x1,25 | HETZA 1837 1964 R422001178
FEEAR A7L—=N
>
63 30 G1/8| BMEE| TUFYN| MI2x125| BEIEH 1837 1964 R422001188
HEEARL AIL—=/N\
>
63 40 G1/8 HMEE | YUXY N M12x1,25 | BREIHMA 1837 1964 R422001198
REEAN AOL—=N
>
63 50 G1/8 HMEE | YJXY N M12x1,25 | BEIT¥H 1837 1964 R422001208
FEEAR A7L—=N
>
63 60 G1/8 HMEE | YUXY N M12x1,25 | BEIXMA 1837 1964 R422001218
HEERR ZoL—N
>
63 80 G1/8 HMEE | YUXY N M12x1,25 | BREITHMA 1837 1964 R422001228
REEAN AOL—N
>
63 100 G1/8 HMEE | YJXY N M12x1,25 | BEI¥HA 1837 1964 R422001238
FEEAR A7L—=N
>
63 125 G1/8 HMEE | YJXY N M12x1,25 | BETHEMH 1837 1964 R422001248
HEERN AIL—=N
>
63 150 G1/8 HMEE | YUXY N M12x1,25 | BRETHM 1837 1964 R422001258
HEEAL AIL—=/\
>
80 5 G1/8 HMEE | YJXY N M16x1,5| BEIXHA 2969 3167 R422001139
HEERN 25 L—/\
>
80 10 G1/8 HMEE | YIRYN M16x1,5| HEETIXA 2969 3167 R422001149
FEEAR A7L—=N
>
80 15 G1/8 HMEE | YUXY N M16x1,5| HRETIXA 2969 3167 R422001159
HEEARN AIL—=/NN
>
80 20 G1/8 HMEE | YUXY N M16x1,5| HETIH¥A 2969 3167 R422001169
HEERN 25 L—)\
>
80 25 G1/8 HMEE | YUY N M16x1,5| HEEIXA 2969 3167 R422001179
FEEAR A7L—=N
>
80 30 G1/8 BMEE | YIRYbN M16x1,5| BEITXH 2969 3167 R422001189
HEERR Z5L—N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 54

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h R AOL—=IN EARRY EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]

80 40 G1/8 BMEE | YIRYbN M16x1,5| BETER 2969 3167 R422001199
HEERN ATL—N
>
80 50 G1/8 BMEE | YIXRYA M16x1,5| HRETXA 2969 3167 R422001209
HEEAL AIL—=/\
>
80 60 G 1/8 HMEE | YUJXY N M16x1,5| BEIXHA 2969 3167 R422001219
HEERR 2oL~/
>
80 80 G 1/8 HMEE | YIRYN M16x1,5| HEIXA 2969 3167 R422001229
FEEAR A7L—=N
>
80 100 G1/8 BUEE | YIxYE M16x1,5| BETXH 2969 3167 R422001239
HEEARL AIL—=/N\
>
80 125 G1/8 BMEE | YIXRY N M16x1,5| EETXEH 2969 3167 R422001249
REEAN AOL—=N
>
80 150 G1/8 HMEE | YJXY N M16x1,5| BEEIXA 2969 3167 R422001259
HEEAN 25L—IN
>
100 5 G1/8 BMEE | YIRYbN M16x1,5| BEIXH 4639 4948 R422001140
FEEAR A7L—N
>
100 10 G1/8 BMEE | YIRYbN M16x1,5| BETEH 4639 4948 R422001150
REEAN AOL—N
>
100 15 G1/8 HMEE | YJXY N M16x1,5| HEIXA 4639 4948 R422001160
FEEAR A7L—=N
>
100 20 G1/8 BMEE | YTXRYbN M16x1,5| BETER 4639 4948 R422001170
HEERN AL—N
>
100 25 G1/8 BMEE | YIRYbA M16x1,5| BETEH 4639 4948 R422001180
HEEAL AIL—=/\
>
100 30 G1/8 HMEE | YJXY N M16x1,5| BEIXHA 4639 4948 R422001190
REEAN AOL—=N
>
100 40 G1/8 HMEE | YIRYN M16x1,5| HEETIXA 4639 4948 R422001200
FEEAR A7L—=N
>
100 50 G1/8 BUEE VIRV A M16x1,5| BETXH 4639 4948 R422001210
HEEARN AIL—=/NN
>
100 60 G1/8 HMEE | YUXY N M16x1,5| HETIH¥A 4639 4948 R422001220
REEAN AOL—=N
>
100 80 G1/8 HMEE | YUY N M16x1,5| HEEIXA 4639 4948 R422001230
FEEAR A7L—=N
>
100 100 G1/8 BMEE | YIRYbN M16x1,5| BEITXH 4639 4948 R422001240
FEEAR A7L—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 55
(1SO 21287) 2023-11-22

BN ARO—% K-k EARY  ERRY  XFUPLES
> o [mm] HAKFE  hHAE
[mm] IN] IN]
100 125 G 1/8 HMEEE | YRV M16x1,5| ZEIER 4639 4948 R422001250
HEERAN Z5L—IN
>
100 150 G1/8 HEEE | YRV M16x1,5| ZETI¥HA 4639 4948 R422001260
HEERN Z5L—I%
>
125 5 G1/4 HEEE | YRV M20x1,5| ZXTHH 7422 7731 R481636841
HEERR 25 L—/\
>
125 10 G1/4 HMEEE | VIRV M20x1,5| ZEEIEH 7422 7731 R481636842
HEERN 25 L—/X
>
125 15 G 1/4 HEREE | YRV M20x1,5| ZEET¥MA 7422 7731 R481636843
HEERN Z5L—IN
>
125 20 G 1/4 HEEE | YRV M20x1,5| ZEXTZEH 7422 7731 R481636844
HEERR Z5L—I%
>
125 25 G1/4 BUEE | YRV BN M20x1,5| ZEXETHH 7422 7731 R481636845
HEERN 25L—/X
>
125 30 G1/4 HMEREE | YRV M20x1,5| ZETER 7422 7731 R481636846
HEERAN Z5L—IN
>
125 40 G 1/4 HEEE | YRV M20x1,5| ZEET¥MA 7422 7731 R481636847
HEERR Z5L—I%
>
125 50 G1/4 BUEE | YRV BN M20x1,5| ZEXETHEH 7422 7731 R481636848
HEERN 25 L—/\
>
125 60 G1/4 HMEREE | YRV M20x1,5| ZEI¥R 7422 7731 R481636849
HEERAN Z5L—IN
>
125 80 G 1/4 HEEE | YRV M20x1,5| ZEET¥MA 7422 7731 R481636850
HEERN Z5L—I%
>
125 100 G1/4 HEEE | YRV M20x1,5| ZXETHEH 7422 7731 R481636851
HEERR 25 L—/\
>
125 125 G1/4 HMEEE | VIRV M20x1,5| ZEEIEH 7422 7731 R481636852
HEERN 25 L—/X
>
125 150 G14| WEHEE| YTRYRN|  M20x15| EETEM 7422 7731 R481636853
HEERN Z5L—I%
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 56

(ISO 21287) 2023-11-22
ik
[
PL PL A
LE_ sw LA EE w
OFRO—
b e
3
TG
E
Z 685
5,35
CIIN
216 220 - 40 250 - 100 125
EANY @ A BG DA H11 DT E EE KK KV Kw LA
16 12 15 10 6 29.3 M5 M6 10 3 25
20 16 15.5 12 7.5 36.3 M5 M8 13 4 25
25 16 15.5 12 8 403 M5 M8 13 4 25
32 19 17 14 8.6 50 G118 M10x1,25 17 5 25
40 19 17 14 9.2 58 G118 M10x1,25 17 5 25
50 22 17 18 11 68.3 G1/8 M12x1,25 19 6 25
63 22 17 18 11 80 G118 M12x1,25 19 6 25
80 28 20 23 15 9 G118 M16x1,5 24 8 3
100 28 20 28 15 116 G1/8 M16x1,5 24 8 3
125 40 25 12 - 134.6 G1/4 M20x1.5 30 10 26
ERALNY @ LB LE LJ MM f8 PL RR RT 6H sw TG WH
16 35 45 - 8 8 33 M4 7 18 4,8£0,9
20 45 45 45 10 10 42 M5 8 22 5,6 0,9
25 45 45 4 10 10 4.2 M5 8 26 5,6 0,9
32 5 7.5 4.85 12 12 5.1 M6 10 325 7,4 40,9
40 5 7.5 9.85 12 12 5.1 M6 10 38 7,4£0,9
50 5 7.5 12 16 12 6.7 M8 13 465 8,4 40,9
63 5 75 14.8 16 12 6.7 M8 13 56.5 8,50,9
80 5 7.5 22 20 14 8.5 M10 16 72 9,8 £1
100 5 7.5 27 25 16.5 8.5 M10 21 89 9,8 +1
125 - 2?72 39 25 205 11.1 M12 21 110 11
EALN>Y @ X1 X2 X3 zA zB
16 - - - 34,9 £0,1 39,7 £0,8
20 42 - - 37,3 10,1 43,6 10,8

EMERSON.



AVENTICSCCI =X AV NI KD H o7
(ISO 21287) 2023-11-22
EANY @ X1 X2 X3 zA zB

25 45 - - 39 £0,1 44,50,9

32 6.5 - - 44 20,1 51,4 +1

40 11 - - 45 20,1 52,4 +1

50 13 4 13 45,5 £0,1 53,6 +1

63 18 12 21 49 20,1 57,4 +1

80 18 16.5 25.5 54,7 +0,1 64,4 +1

100 20 20 29 67 0,1 76,7 £1

125 29 29 38 81 92 £1

EMERSON.



AVENTICS CCI ' U—X VNI RIS
(ISO 21287)

58
2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
ATEXTHAT> 3>

oyl

RTFY RMIEEANY

ERE
U
it U
27\ aE

ATEX THAT> 3>

AN  ARO—% Z5L—I8 EARRY  ERRY
> o HAKE BB
[mm] IN] IN]
20 5 M5| ZEREE| YITRY N M8x1,25 | 1ZXTHH 148 198 R481654443
HE®| HEEAN 2oL~/
>
20 10 M5| ZERENE| YXTXRY KN M8x1,25 | ZERET ¥R 148 198 R481654444
HEE| HEEAN ZoL—N
>
20 15 M5 | ZEEREE| XIxY KN M8x1,25| 1ZEARET¥H 148 198 R481654445
LEE| HEEAN 25 L—)\
>
20 20 M5 | ZEREHE| XIxRY KN M8x1,25 | 1ZEXETHH 148 198 R481654446
LEW| HEEAN 2oL~
>
20 25 M5| ZERENE| YTXRY KN M8x1,25| fZET¥MR 148 198 R481654447
HEm| HEEAN 25 L—/%
>
20 30 M5| ZERENE| YXTXRY KN M8x1,25 | ZERET¥MA 148 198 R481654448
HEE| HEERN 25 L—)%
>
20 40 M5 | ZEEREE| XIxRY KN M8x1,25 | 1ZEXTHH 148 198 R481654449
HEW| HEEAN 2oL~/
>
20 50 M5| ZERENER| YTXRY BN M8x1,25 | 1ZEXETHH 148 198 R481654450
HEm| HEEAN 25 L—/\
>
20 60 M5| ZERENE| YXTXRY KN M8x1,25| ZERET¥MA 148 198 R481654451
LEm| HEEAN Z5L—N
>
25 5 M5| ZERENE| YXTXRY KN M8x1,25 | 1ZEXTHH 260 309 R481654452
LEE| HEEAN 25 L—)\
>
25 10 M5| ZEREE| YITRY N M8x1,25 | 1ZEXTHH 260 309 R481654453
HE®| HEEAN 2oL~/
>
25 15 M5| ZERENE| YXTXRY KN M8x1,25| ZRET ¥R 260 309 R481654454
HEE| HEEAN Z5L—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 59
(1SO 21287) 2023-11-22

EAN AkO—7 R—K EANY EANY XTUT7ILES
N, [mm] HAFE  HHEAE
[mm] [N] [N]
25 20 M5| ZERENE| YTXRY KN M8x1,25 | ZET¥MR 260 309 R481654455
HiEE | FEEAD AO9L—N
>
25 25 M5| ZERENE| YXTXRY KN M8x1,25| 1ZERET¥MA 260 309 R481654456
HIBE | FEERS AIL—N
>
25 30 M5 | ZEEREHE| XIxRY KN M8x1,25 | 1ZEXTHH 260 309 R481654457
HIEE | FEEAS AOL—N
>
25 40 M5| ZEREE| YITXRY N M8x1,25 | ZEETXMH 260 309 R481654458
HEEE | FEERAL AOL—N
>
25 50 M5| ZERENE| YXTXRY KN M8x1,25| ZERET¥MA 260 309 R481654459
HEE | FEEAD AIL—N
>
25 60 M5| ZERENE| YTXRY KN M8x1,25 | 1ZEXTHH 260 309 R481654460
HiBE | HEERL AOL—=N
>
32 5 G1/8| ZERHE| XTIV K M10x1,25 | HZEXETHEH 435 507 R481654461
HIEE | FEERAS AOL—N
4
32 10 G1/8| Z=EREE| YITXRY KN M10x1,25 | ZETEMR 435 507 R481654462
HIEE | FEEAD AIL—N
>
32 15 G1/8| Z=EREE| NITXY KN M10x1,25 | ZET¥MA 435 507 R481654463
HBE | FEERL AOL—N
>
32 20 G1/8| ZERHE| XTIV KN M10x1,25 | ZXETEH 435 507 R481654464
HEE | FEEAS AOL—N
>
32 25 G1/8| Z=EREE| YITxY KN M10x1,25 | ZETER 435 507 R481654465
HiEE | FEEAD AO9L—N
>
32 30 G1/8| Z=EREE| YITXY KN M10x1,25 | ZET¥MA 435 507 R481654466
HEE| HEEZN 25 L—/%
>
32 40 G1/8| ZERHE| XTIV KN M10x1,25 | ZXETEH 435 507 R481654467
HEE | FEEAS AOL—N
>
32 50 G1/8| Z=EREE| YIxY N M10x1,25 | HZEXETH 435 507 R481654468
HEE| HEERN 25L—)%
>
32 60 G1/8| ZEREE| YITXY KN M10x1,25 | ZETEMA 435 507 R481654469
HIEE | FEEAD AIL—N
>
32 80 G1/8| Z=EREE| YXTXY KN M10x1,25 | ZXTEH 435 507 R481654470
HiBE | HEERL AOL—=NI
>
32 100 G1/8| ZERHE| XIXRY K M10x1,25 | HZEXETHEH 435 507 R481654471
HIEE | FEERAS AOL—N
4
32 125 G1/8| Z=EREE| YITXRY KN M10x1,25 | ZETEMR 435 507 R481654472
HIEE | FEEAD AIL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 60
(1SO 21287) 2023-11-22

EAN AkO—7 R—K EANY EANY XTUT7ILES
N, [mm] HAFE  HHEAE
[mm] [N] [N]
32 150 G1/8| Z=EREE| YITxRY KN M10x1,25 | ZETEMR 435 507 R481654473
HiEE | FEEAD AO9L—N
>
40 5 G1/8| Z=EREE| YITXY KN M10x1,25 | ZET¥MA 720 792 R481654474
HIBE | FEERS AIL—N
>
40 10 G1/8| ZERHE| XTIV KN M10x1,25 | ZXETEH 720 792 R481654475
HIEE | FEEAS AOL—N
>
40 15 G1/8| Z=EREE| YIxY N M10x1,25 | HZXTH 720 792 R481654476
HEEE | FEERAL AOL—N
>
40 20 G1/8| Z=EREE| YITXY KN M10x1,25 | ZET ¥R 720 792 R481654477
HEE | FEEAD AIL—N
>
40 25 G1/8| Z=EREE| YTXY KN M10x1,25 | ZXETEH 720 792 R481654478
HiBE | HEERL AOL—=N
>
40 30 G1/8| ZERHE| XTIV K M10x1,25 | HZEXETHEH 720 792 R481654479
HIEE | FEERAS AOL—N
4
40 40 G1/8| Z=EREE| YITXRY KN M10x1,25 | ZETEMR 720 792 R481654480
HEH| HEERN 29L—N
>
40 50 G1/8| Z=EREE| NITXY KN M10x1,25 | ZET¥MA 720 792 R481654481
HBE | FEERL AOL—N
>
40 60 G1/8| ZERHE| XTIV KN M10x1,25 | ZXETEH 720 792 R481654482
HEE | FEEAS AOL—N
>
40 80 G1/8| Z=EREE| YITxY KN M10x1,25 | ZETER 720 792 R481654483
HiEE | FEEAD AO9L—N
>
40 100 G1/8| Z=EREE| YITXY KN M10x1,25 | ZET¥MA 720 792 R481654484
HEE| HEEZN 25 L—/%
>
40 125 G1/8| ZERHE| XTIV KN M10x1,25 | ZXETEH 720 792 R481654485
HEE | FEEAS AOL—N
>
40 150 G1/8| Z=EREE| YIxY N M10x1,25 | HZEXETH 720 792 R481654486
HEEE | FEERAS AOL—N
>
50 5 G1/8| ZERHE| YITXRY B M12x1,25 | ZET¥MA 1110 1237 R481654487
HIEE | FEEAD AIL—N
>
50 10 G1/8| Z=EREE| YXTXY KN M12x1,25 | ZEXTEH 1110 1237 R481654488
HiBE | HEERL AOL—=NI
>
50 15 G1/8| ZERHE| XIXRY K M12x1,25 | HZXETHEH 1110 1237 R481654489
HIEE | FEERAS AOL—N
4
50 20 G1/8| Z=EREE| YITXRY KN M12x1,25 | ZETER 1110 1237 R481654490
HIEE | FEEAD AIL—N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 61

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h =& EAK> EAKY XTUT7ILES
D) [mm] A AFE O HEE
Ll [N] (N]

50 25 G1/8| ZERHE| XT=RY K M12x1,25 | BETEMR 1110 1237 R481654491
KiBE | HEEAL ATL—N
>
50 30 G1/8| ZEREE| YJXY N M12x1,25 | BRETHM 1110 1237 R481654492
*iBE | NEEARDL AIL—=/\
>
50 40 G1/8| ZEREE| YJXY N M12x1,25| BEI XM 1110 1237 R481654493
LEE| HEEAN 2oL~/
>
50 50 G1/8| ZEREE| YIT=RY K M12x1,25 | HETZA 1110 1237 R481654494
hEF| FEERB A7L—=N
>
50 60 G1/8| ZBERER| IUZYN| MI2x125| BETEH 1110 1237 R481654495
*iBE | NHEEADL AIL—=/N\
>
50 80 G1/8| ZEREE| YJxXY N M12x1,25 | BREIHMA 1110 1237 R481654496
HiBE | NEEADL AIL—N
>
50 100 G1/8| ZEREE| YIJxXY N M12x1,25 | BEIT¥H 1110 1237 R481654497
hiEE | HEEXBL A7L—=N
>
50 125 G1/8| ZEREE| YIT=RY K M12x1,25 | BEIXMA 1110 1237 R481654498
KiEE | HEEARDL AIL—=/NN
>
50 150 G1/8| ZEREE| YJXY N M12x1,25 | BETXA 1110 1237 R481654499
HimE | NEERDL AIL—=/NN
>
63 5 G1/8| ZEREE| NIV N M12x1,25 | BHEIHA 1837 1964 R481654500
hiEE | FEEXBL A7L—=N
>
63 10 G1/8| ZERHE| XT=RY K M12x1,25 | BETHEMH 1837 1964 R481654501
KiBE | HEEADL AL—N
>
63 15 G1/8| ZEFEE| YIT=RY K M12x1,25 | BRETHM 1837 1964 R481654502
*iBE | NEEADL AIL—=/\
>
63 20 G1/8| ZEREE| YJXY N M12x1,25| BEIXEH 1837 1964 R481654503
hiEE | FEEXL AOL—=N
>
63 25 G1/8| ZEREE| YIT=RY K M12x1,25 | HETHA 1837 1964 R481654504
hEF| FEEXB A7L—=N
>
63 30 G1/8| ZEFEE| YT=RY K M12x1,25 | BEIXA 1837 1964 R481654505
*iBE | NEEADL AIL—=/NN
>
63 40 G1/8| ZEREE| YJxXY N M12x1,25 | BREIHMA 1837 1964 R481654506
HiBE | NEEADL AIL—=NN
>
63 50 G1/8| ZEFREE| NIV N M12x1,25 | HRETZA 1837 1964 R481654507
hiEE | HEEXBS A7L—=N
>
63 60 G1/8| ZEREE| YT=RY K M12x1,25 | BEIXA 1837 1964 R481654508
KiEE | NHEEADL AIL=NN
>

EMERSON.



AVENTICSCCI > U—X O NI R UVA 62
(ISO 21287) 2023-11-22
EAN ANO—2 R—bK EARNY EANY XTUVTILES

o [mm] A AFEE h HAE
[mm] [N] [N]
63 80 G1/8| ZERHE| XIxY N M12x1,25 | ZXTEH 1837 1964 R481654509
HBEE | FEEAL ATL—N
>
63 100 G1/8| ZERHE| XIxY N M12x1,25| BETXH 1837 1964 R481654510
HIBE | FEERAD AOL—N
>
63 125 G1/8| ZEFE®| YIRYN| M12x1,25| EETER 1837 1964 R481654511
HiBE | FEEAL AL—N
>
63 150 G1/8| ZERHER| XIxY L M12x1,25 | ZET¥HR 1837 1964 R481654512
HIBRE | FEEAS AIL—N
>
&
A E
. LW* Ep LA
W*
S! —\ 5
* M q =
- —-— g—————~————\\— ! 51 w
N ﬂmﬁ—i
. 4
E <l kv T === i — —
S KW ¥ A 7] X
LB % B
PL | PL
BG BG
WH
ZA+S
ZB+S
CCI-PC 220-240 CCI-PC 250-263
V4
2:1
2 6,85+0,15
o
g | 5,35+0,15
[32]
4
{

20

15.5

7.5

25

36.3 M5 M8x1.25

EMERSON.



AVENTICSCCIZU—X OO KU A 63
(ISO 21287) 2023-11-22
EANY O A BG DA H11 DT E EE KK KV KW LA
25 16 15.5 12 8 40.3 M5 M8x1.25 13 4 2.5
32 19 17 14 8.6 50 G1/8 M10x1.25 16 5 2.5
40 19 17 14 9.2 58 G1/8 M10x1.25 16 5 2.5
50 22 17 18 1 68.3 G1/8 M12x1.25 18 6 2.5
63 22 17 18 1 80 G1/8 M12x1.25 18 6 2.5
EANY O LB min ILJ) MM f8 PL RR min. RT 6H SW TG WH X1
20 4.5 4.5 10 8 4.2 M5 8 22 +0.4 5614 4.2
25 4.5 4 10 8 4.2 M5 8 26 £0.4 5614 4.5
32 5 5 12 1 5.1 M6 10 32.5+0.5 7516 6.5
40 5 10 12 7.9 5.1 M6 10 38 £0.5 7516 1
50 5 11.5 16 8 6.7 M8 13 46.5 +0.6 8 1.6 13
63 5 15 16 8.2 6.7 M8 13 56.5 +0.7 8+1.6 18
EANY O X2 X3 ZA ZB
20 - - 37.3 42.9 +0.8
25 - - 39 44.6 £0.9
32 - - 44 51.5 +1
40 - - 45 52.1 +1
50 4 13 455 53.1 +1
63 12 21 49 57 £1

EMERSON.



AVENTICSCCI =X AV NI KD H 64
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

1ISO 21287
OAVNIRIDE—EEANO—92 ) E—
ATEX TH7>a>r
BB
RTZY MIEEARNY
EEEE
It U
It U
A7 EE
ATEX TH7>a>
EAbB ANO—2 R— K ®=E AUL—=IN EAMY EANY NTUTILES
o [mm] I AAE 7 HEmE
[mm] [N] [N]
16 5 M5 BUEE | YRV M4 | EETEHR 91 91 R422001692
TEEAN ATL—N
>
16 10 M5 HBMEE | YRV N M4 | EBETER 91 91 R422001702
HEEAN 25L—/%
>
16 15 M5 BUEE | YRV BN M4 | EETHER 91 91 R422001712
FEERA KN AUL—N
>
16 20 M5 BUEE | YRV KN M4 | BEIXER 91 91 R422001722
HEEAN 25 L—/\
>
16 25 M5 BUEE | YIXRYBN M4 | EBETER 91 91 R422001732
FEER KN AOL—N
>
20 5 M5 BUEE | YRV BN M6 | EEITXA 137 137 R422001693
HEEAN 25 L—/\
>
20 10 M5 BUEE | YIXRYKN M6 | EETEHR 137 137 R422001703
FTEEARAN AOL—N
>
20 15 M5 HEEE | YRV M6 | BEIXHA 137 137 R422001713
TEEAN AUL—N
2
20 20 M5 HBUEE | YRV BN M6 | EETXEA 137 137 R422001723
FEEAN AOL—N
>
20 25 M5 HMEEE | IRV M6 | EETITHA 137 137 R422001733
HEEAN 2L —/%
>
25 5 M5 BUEE | YRV M6 | EETZEHR 216 216 R422001694
TEEAN ATL—N
>
25 10 M5 HBUEE | YRV N M6 | EEITXEA 216 216 R422001704
HEEAN 25L—)%
>
25 15 M5 BUEE | YRV BN M6 | EEITXA 216 216 R422001714
FEEARA KN AUL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 65
(1SO 21287) 2023-11-22

AN ZRhO—2 K-k ZOL—N ERARY  EARY  IFUTLES
> o [mm] HABE P KA
[mm] IN] IN]
25 20 M5 EUEE | YIXRYHN M6 | ZBEIXR 216 216 R422001724
HEERAN Z5L—IN
>
25 25 M5 HEEE | YRV M6 | BEIXHA 216 216 R422001734
HEEAN Z5L—I%
>
32 5 G 1/8 HEEE | YRV M8 | EETZEH 364 364 R422001695
HEERR 25 L—)\
>
32 10 G 1/8 BUEE | YIXRYKN M8 | BETHH 364 364 R422001705
HEEAN 2oL~/
>
32 15 G 1/8 HMEE | YUXY N M8 | BEIXRA 364 364 R422001715
HEEAN Z5L—IN
>
32 20 G1/8 HEEE | YRV M8 | EETZEH 364 364 R422001725
HEERR Z5L—I%
>
32 25 G1/8 BUEE | YRV BN M8 | BEETHEH 364 364 R422001735
HEEAN 25L—IN
>
40 5 G 1/8 HMEE | YUXY N M8 | ZBEIXR 560 560 R422001696
HEERAN Z5L—IN
>
40 10 G 1/8 HEEE | YRV M8 | BETIXHA 560 560 R422001706
HEERR Z5L—I%
>
40 15 G1/8 BUEE | YRV BN M8 | EETZEH 560 560 R422001716
HEEAN 2oL~/
>
40 20 G 1/8 HMEE | YJXY N M8 | EBEIXR 560 560 R422001726
HEERAN Z5L—IN
>
40 25 G 1/8 HEEE | YRV M8| BETXH 560 560 R422001736
HEEAN Z5L—I%
>
50 5 G 1/8 HEEE | YRV M10| ZEETEH 871 871 R422001697
HEERR 25 L—)\
>
50 10 G 1/8 BURE | YIXRYKN M10| BETHEHR 871 871 R422001707
HEEAN 2oL~/
>
50 15 G 1/8 HMEE | YUXY N M10| ZBEIER 871 871 R422001717
HEEAN Z5L—I%
>
50 20 G1/8 HEEE | YIXRYKN M10| EETEH 871 871 R422001727
HEERR Z5L—I%
>
50 25 G 1/8 BUEE | YRV BN M10| BEETEH 871 871 R422001737
HEEAN 25L—IN
>
63 5 G 1/8 HMEE | YUXY N M10| ZEIER 1478 1478 R422001698
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 66
(1SO 21287) 2023-11-22

AN  ARO—% K-k ZOL—N ERARY  EARY  IFUTLES
> o [mm] HABE P KA
mm] IN] IN]
63 10 G 1/8 MR | YUXY N M10| ZBEIER 1478 1478 R422001708
HEERAN Z5L—IN
>
63 15 G1/8 HEEE | YRV M10| BEIEA 1478 1478 R422001718
HEEARN Z5L—I%
>
63 20 G 1/8 HEEE | YRV M10| ZEETEH 1478 1478 R422001728
HEEAN 25 L—)\
>
63 25 G 1/8 BUEE | YIXRYKN M10| BETEHR 1478 1478 R422001738
HEERN 25 L=\
>
80 5 G 1/8 BUEE | YRV M12| BETHER 2397 2397 R422001699
HEERAN Z5L—IN
>
80 10 G1/8 HEEE | YRV M12 | EETEH 2397 2397 R422001709
HEEAN Z5L—I%
>
80 15 G1/8 HMEEE | YRV M12| BETEHR 2397 2397 R422001719
HEERAN 25 L—)\
>
80 20 G 1/8 HMEE | YUXY N M12| ZBETER 2397 2397 R422001729
HEERAN Z5L—IN
>
80 25 G1/8 HEEE | YRV M12| BETEHA 2397 2397 R422001739
HEEAN Z5L—I%
>
100 5 G 1/8 HMEEE | YITXRYBN M12| EETEH 3886 3886 R422001700
HEERN 25 L—)\
>
100 10 G 1/8 HMEE | YJXY N M12| ZBETIER 3886 3886 R422001710
HEERAN Z5L—IN
>
100 15 G 1/8 HUEE | YIXRYBN M12| BETEA 3886 3886 R422001720
HEEAR Z5L—I%
>
100 20 G 1/8 HEEE | YRV M12 | EETEH 3886 3886 R422001730
HEEAN 25 L—)\
>
100 25 G 1/8 BURE | YIXRYKN M12| BETHER 3886 3886 R422001740
HEERN 25 L=\
>
125 5 G14| BEEE| ITFY K M16| BETEM 7422 7731 R481636854
HEERAN Z5L—I%
>
125 10 G 1/4 HEEE | YIXRYKN M16 | EETEH 7422 7731 R481636855
HEEAN Z5L—I%
>
125 15 G1/4 BMEEE | YIXRYBN M16 | BEETEH 7422 7731 R481636856
HEERAN 25 L—)\
>
125 20 G1/4 HMEE | YUXY N M16| ZETIER 7422 7731 R481636857
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI > U—X AN R A 67
(1SO 21287) 2023-11-22

EAbB AkO—2 R—k EAN
D) [mm]

29L—8 ERZRRY  EARY
R hABE  hHEE
Ll IN] IN]

125 25 G 1/4 EUEE | YIXRYHN M16| EETEHR 7422 7731 R481636858
HEERR 25 L—)\
S
T
@16 250-100 2125

EANY @ AF BG DT = EE KF LB LE LJ LW
16 10 15 6 29.3 M5 M4 35 4.5 - 4
20 12 15.5 7.5 36.3 M5 M6 4.5 4.5 4.5 4
25 12 15.5 8 40.3 M5 M6 4.5 4.5 4 4
32 12 17 8.6 50 G1/8 M8 5 7.5 4.85 4.5
40 12 17 9.2 58 G1/8 M8 5 7.5 9.85 4.5
50 16 17 11 68.3 G1/8 M10 5 7.5 12 6
63 16 17 11 80 G1/8 M10 5 7.5 14.8 6
80 20 20 15 96 G1/8 M12 5 7.5 22 7
100 20 20 15 116 G1/8 M12 5 75 27 7
125 25 35 - 134.6 G1/4 M16 - ?2?? 39 7.5

EANY @ MM f8 PL RR RT 6H SW TG WH X1 X2 X3
16 8 8 3.3 M4 7 18 4,8 +0,9 - - -
20 10 10 4.2 M5 8 22 5,6 £0,9 4.2 - -
25 10 10 4.2 M5 8 26 5,6 £+0,9 4.5 - -
32 12 12 5.1 M6 10 325 7,4 +0,9 6.5 - -
40 12 12 5.1 M6 10 38 7,4 0,9 1 - -
50 16 12 6.7 M8 13 46.5 8,4 £0,9 13 4 13
63 16 12 6.7 M8 13 56.5 8,5 10,9 18 12 21
80 20 14 8.5 M10 16 72 9,8 +1 18 16.5 25.5
100 25 16.5 8.5 M10 21 89 9,8 1 20 20 29

4

&

EMERSON.




AVENTICSCCIZU—X OO KU A 68
(ISO 21287) 2023-11-22
EANY O MM 8 PL RR RT 6H SW TG WH X1 X2 X3
125 25 20.5 1.1 M12 21 110 1 29 29 38
EANY O ZA ZB
16 34,9 £0,1 39,7 £0,8
20 37,3 0,1 43,6 £0,8
25 39 0,1 445 +0,9
32 44 +0,1 51,4 +1
40 45 0,1 52,4 +1
50 45,5 +0,1 53,6 1
63 49 +0,1 57,4 +1
80 54,7 £0,1 64,4 +1
100 67 £0,1 76,7 1
125 81 92 +1
4

EMERSON.



AVENTICSCCI =X AV NI KD H 69
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

1ISO 21287
OAVNIRIDE—EEANO—92 ) E—
ATEX TH7>a>r
BB
RTZY MIEEARNY
EERE
#al
It U
A7 EE
ATEX TH7>a>
EAbB ANO—2 R— K ®=E =y § % EANY NTUTILES
o [mm] I AAE 7 HEmE
[mm] [N] [N]
16 5 M5| BEMEE| ITEY N Méx1| BETEM 91 91 R422001742
TEEAN ATL—N
>
16 10 M5 HBMEE | YRV N Mé6x1| ZEXETHER 91 91 R422001752
FEER KN AOL—N
>
16 15 M5 BUEE | YRV BN Méx1| ZEXETHEH 91 91 R422001762
FEERA KN AUL—N
>
16 20 M5 BUEE | YRV KN Mex1| ZEEIT¥R 91 91 R422001772
HEEAN 25 L—/\
>
16 25 M5 BUEE | YIXRYBN M6x1| ZEXETHEH 91 91 R422001782
FEER KN AOL—N
>
20 5 M5 BUEE | YRV BN M8x1,25 | EET XA 137 137 R422001743
HEEAN 25 L—/\
>
20 10 M5 HUEEE | YRV N M8x1,25 | fZET¥MR 137 137 R422001753
FTEEARAN AOL—N
>
20 15 M5 HEEE | YRV M8x1,25 | ZEXTHH 137 137 R422001763
TEEAN AUL—N
>
20 20 M5 HBUEE | YRV BN M8x1,25 | EBET XA 137 137 R422001773
HEERN 25L—/%
>
20 25 M5 HMEEE | IRV M8x1,25 | 1ZEXTHH 137 137 R422001783
FEEARA N AUL—N
>
25 5 M5| BEHES | YURYRN|  Msx125| EETHA 216 216 R422001744
TEEAN ATL—N
>
25 10 M5 HBUEE | YRV N M8x1,25 | 1ZEXTHH 216 216 R422001754
FEER N AOL—N
>
25 15 M5 BUEE | YRV BN M8x1,25 | 1ZEXETHH 216 216 R422001764
FEEARA KN AUL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 70
(1SO 21287) 2023-11-22

BN ARO—% K-k Z9L—I ERRY ERARY  IFUFLES
> o (mm] HAKFE  hHAE
[mm] IN] IN]
25 20 M5 HMEEE | YRV M8x1,25 | ZET¥MR 216 216 R422001774
HEERN 25L—/X
>
25 25 M5 HEEE | YRV M8x1,25| 1ZERET¥MA 216 216 R422001784
HEERN 29 L—/\
>
32 5 G 1/8 HEEE | YRV M10x1,25 | ZXETEH 364 364 R422001745
HEERN 25 L—/\
>
32 10 G 1/8 HMEEE | VIRV M10x1,25 | HZXTH 364 364 R422001755
HEERN 25 L—/X
>
32 15 G 1/8 BUEE | YRV M10x1,25 | ZET ¥R 364 364 R422001765
HEERN 29 L—/\
>
32 20 G1/8 HEEE | YRV M10x1,25 | ZXETEH 364 364 R422001775
HEERN 29 L—/\
>
32 25 G1/8 BUEE | YRV BN M10x1,25 | HZEXETHEH 364 364 R422001785
HEERN 25L—/X
>
40 5 G 1/8 HMEREE | YRV M10x1,25 | ZETEMR 560 560 R422001746
HEERN 25 L—/\
>
40 10 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 560 560 R422001756
HEERN 25 L—/\
>
40 15 G1/8 BUEE | YRV BN M10x1,25 | ZXETEH 560 560 R422001766
HEERN 25 L—/\
>
40 20 G 1/8 HMEREE | YRV M10x1,25 | ZETER 560 560 R422001776
HEERN 25 L—/X
>
40 25 G1/8 HEEE | YRV M10x1,25 | ZET¥MA 560 560 R422001786
HEERN 29 L—/\
>
50 5 G 1/8 HEEE | YRV M12x1,25 | ZXETEH 871 871 R422001747
HEERN 25 L—/\
>
50 10 G 1/8 HMEEE | VIRV M12x1,25 | HZXETEH 871 871 R422001757
HEERN 25 L—/X
>
50 15 G1/8| MMEE| <UXRYN| MI2x1,25| EEI¥A 871 871 R422001767
HEERN 29 L—/\
>
50 20 G1/8 HEEE | YIXRYKN M12x1,25 | ZEXTEH 871 871 R422001777
HEERN 25 L—/\
>
50 25 G 1/8 BUEE | YRV BN M12x1,25 | HZXETHEH 871 871 R422001787
HEERN 25L—/X
>
63 5 G 1/8 HMEREE | YRV M12x1,25 | ZETER 1478 1478 R422001748
HEERN 25 L—/\
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 71

(ISO 21287) 2023-11-22
EX b AhO—=72 R—h R AOL—=IN EARRY EAKY XTUT7ILES
> o [mm] A AFE O HEE
Ll [N] (N]

63 10 G1/8 BMEE | YIRYbN M12x1,25 | BETEMR 1478 1478 R422001758
HEERN ATL—N
>
63 15 G1/8 HMEE | YUXY N M12x1,25 | BRETHM 1478 1478 R422001768
HEEAL AIL—=/\
>
63 20 G 1/8 HMEE | YUJXY N M12x1,25| BEI XM 1478 1478 R422001778
HEERR 2oL~/
>
63 25 G 1/8 HMEE | YIRYN M12x1,25 | HETZA 1478 1478 R422001788
FEEAR A7L—=N
>
80 5 G1/8 BMEE | YIRY A M16x1,5| HRETIXA 2397 2397 R422001749
HEEARL AIL—=/N\
>
80 10 G1/8 HMEE | YUXY N M16x1,5| HETIH¥A 2397 2397 R422001759
REEAN AOL—=N
>
80 15 G1/8 HMEE | YJXY N M16x1,5| BEEIXA 2397 2397 R422001769
HEEAN 25L—IN
>
80 20 G1/8 BMEE | YIRYbN M16x1,5| BEIXH 2397 2397 R422001779
FEEAR A7L—N
>
80 25 G1/8 HMEE | YUXY N M16x1,5| HRETH¥A 2397 2397 R422001789
HEERR 2 L—/\
>
100 5 G1/8 HMEE | YJXY N M16x1,5| HEIXA 3886 3886 R422001750
FEEAR A7L—=N
>
100 10 G1/8 BMEE | YTXRYbN M16x1,5| BETER 3886 3886 R422001760
HEERN AL—N
>
100 15 G1/8 BMEE | YIRYbA M16x1,5| BETEH 3886 3886 R422001770
HEEAL AIL—=/\
>
100 20 G1/8 HMEE | YJXY N M16x1,5| BEIXHA 3886 3886 R422001780
REEAN AOL—=N
>
100 25 G1/8 HMEE | YIRYN M16x1,5| HEETIXA 3886 3886 R422001790
HEERR 25 L—/\
>
125 5 G 1/4 EUEE | IRV M20x1,5| BEIXH 7422 7731 R481636859
HEEARN AIL—=/NN
>
125 10 G 1/4 BMEE | YIXRY A M20x1,5| HETIH¥HA 7422 7731 R481636860
REEAN AOL—=N
>
125 15 G 1/4 HMEE | YUY N M20x1,5| HEI*A 7422 7731 R481636861
FEEAR A7L—=N
>
125 20 G 1/4 BMEE | YIRYbN M20x1,5| BEIXH 7422 7731 R481636862
HEERR Z5L—N
>

EMERSON.



AVENTICS CCI =X AV NI R IUHA 72

(ISO 21287) 2023-11-22
EAK AIL—=N ERR> EARNY XTUTILES
VERLU A AFE O HEE

[N] (N]
125 25 G 1/4 BMEE | YIRYbN M20x1,5| BETXRH 7422 7731 R481636863
HEERN ATL—N
>
&
WH+S PL JWH A WH+S H A

@50 - 100 @125

16 12 15 2 6 29.3 M5 M6 / M5 10 3 3.5
20 16 15.5 3.8 7.5 36.3 M5 M8/G 1/8 13 4 4.5
25 16 15.5 3.8 8 40.3 M5 M8/G 1/8 13 4 4.5
M10x1.25 /
32 19 17 4.5 8.6 50 G1/8 G 18 17 5 5
M10x1.25 /
40 19 17 4.5 9.2 58 G1/8 G1/8 17 5 5
M12x1.25 /
50 22 17 6 1" 68.3 G1/8 G1/4 19 6 5
M12x1.25/
63 22 17 6 1" 80 G1/8 G 1/4 19 6 5
M16x1.5/
80 28 20 8 15 96 G1/8 M16x1.5 24 8 5
M16x1.5/
100 28 20 8 15 116 G1/8 M16x1.5 24 8 5
M20x1.5/
125 40 35 8 - 134.6 G1/4 M20x1.5 30 10 -
EANY @ LE LJ LK LW MM f8 PL RR RT 6H SW TG
16 4.5 0 1.6 4 8 8 3.3 M4 7 18
20 4.5 4.5 25 4 10 10 4.2 M5 8 22
25 4.5 4 25 4 10 10 4.2 M5 8 26
Q

EMERSON.



AVENTICSCCI =X AV NI KD H 73
(ISO 21287) 2023-11-22

EANY @ LE LJ LK LW MM f8 PL RR RT 6H sw TG
32 75 4.85 25 45 12 12 5.1 M6 10 325
40 7.5 9.85 25 45 12 12 5.1 M6 10 38
50 7.5 12 35 6 16 12 6.7 M8 13 465
63 7.5 14.8 35 6 16 12 6.7 M8 13 56.5
80 7.5 22 35 7 20 14 8.5 M10 16 72
100 7.5 27 35 7 25 16.5 8.5 M10 21 89
125 2?72 39 2?72 75 25 205 11.1 M12 21 110

EANY @ WH X1 X2 X3 zA zB
16 4,8£0,9 - - - 34,9 £0,1 39,7 £0,8
20 5,6 0,9 42 - - 37,3 10,1 43,6 0,8
25 5,6 0,9 45 - - 39 £0,1 44,5 0,9
32 7,4 40,9 6.5 - - 44 0,1 51,4 +1
40 7,4 10,9 11 - - 45 £0,1 52,4 +1
50 8,4 0,9 13 4 13 45,5 £0,1 53,6 +1
63 8,50,9 18 12 21 49 20,1 57,4 +1
80 9,8 £1 18 16.5 255 54,7 £0,1 64,4 £1
100 9,8 £1 20 20 29 67 £0,1 76,7 +1
125 11 29 29 38 81 92 £1

EMERSON.



AVENTICSCCI =X AV NI KD H 74
(1SO 21287) 2023-11-22

NRZ ) A — I1SO 21287, 1) —X CCI

ISO 21287
AVNORIVE—EBARNO—O2 U —
ATEXTAT> 3>

RUNFLE, 7O R7L—bMSE

RTEY MIEEANY

BB
Mt U
Mt U
27 LB
| |g
EAN  ARO—% K-k i ATL—IN ERARY  ERRY
> o [mm] HABBE N HBE
[mm] IN] IN]
16 5 M5 HMEEE | YRV M4 | BEETEHR 95 127 R422001262
HEERRN Z5L—I%
>
16 10 M5 MRS | YUXY N M4 | BETIER 95 127 R422001272
HEERAN 2oL~/
>
16 15 M5 HEEE | YRV M4 | BETEH 95 127 R422001282
HEERR Z5L—I%
>
16 20 M5 BEEE | YITXRYN M4 | EETEHR 95 127 R422001292
HEERR Z5L—I%
>
16 25 M5 BUEE | YIXRYKN M4 | BETHER 95 127 R422001302
HEERAN 2oL~/
>
16 30 M5 HUEE | YRV M4 | EETEHR 95 127 R422001312
HEERAN Z5L—I%
>
16 40 M5 HEEE | YRV M4 | BEETZEHR 95 127 R422001322
HEERN Z5L—I%
>
16 50 M5 BURE | YIXRYKN M4 | BETER 95 127 R422001332
HEERAN Z5L—IN
>
16 60 M5 HMEE | YUXY N M4 | BETER 95 127 R422001342
HEERAN Z5L—IN
>
20 5 M5 HEEE | YIXRY KN M6 | EETZEH 148 198 R422001263
HEEAN Z5L—I%
>
20 10 M5 HMEEE | YIXRYBN M6 | EETHEH 148 198 R422001273
HEERN Z5L—/N
>
20 15 M5 MRS | YUXY N M6 | ZBEIXR 148 198 R422001283
HEERAN Z5L—IN
>
20 20 M5 HEEE | YRV M6 | BEIXHA 148 198 R422001293
HEERR 25L—I%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 75
(1SO 21287) 2023-11-22

AN  ARO—% K-k ZOL—N ERARY  EARY  IFUTLES
> o [mm] HABE P KA
mm] IN] IN]
20 25 M5 MR | YUXY N M6 | ZBEIXR 148 198 R422001303
HEERAN Z5L—IN
>
20 30 M5 HEEE | YRV M6 | BEIXHA 148 198 R422001313
HEEARN Z5L—I%
>
20 40 M5 HEEE | YRV M6 | EETZEH 148 198 R422001323
HEEAN 25 L—)\
>
20 50 M5 BUEE | YIXRYKN M6 | BETHEH 148 198 R422001333
HEERN 25 L=\
>
20 60 M5|  mMEE| TTxv A M6| BETHM 148 198 R422001343
HEERAN Z5L—IN
>
25 5 M5 HEEE | YRV M6 | BEIXHA 260 309 R422001264
HEEAN Z5L—I%
>
25 10 M5 HMEEE | YRV M6 | BETHEH 260 309 R422001274
HEERAN 25 L—)\
>
25 15 M5 HMEE | YUXY N M6 | ZBEIXR 260 309 R422001284
HEERAN Z5L—IN
>
25 20 M5 HEEE | YRV M6 | BEIXHA 260 309 R422001294
HEEAN Z5L—I%
>
25 25 M5 HMEEE | YITXRYBN M6 | EETZEH 260 309 R422001304
HEERN 25 L—)\
>
25 30 M5 HMEE | YJXY N M6 | ZBEIXR 260 309 R422001314
HEERAN Z5L—IN
>
25 40 M5 HEEE | YRV M6 | BEIXHA 260 309 R422001324
HEEAR Z5L—I%
>
25 50 M5 HEEE | YRV M6 | EETZEH 260 309 R422001334
HEEAN 25 L—)\
>
25 60 M5 BURE | YIXRYKN M6 | BETHEH 260 309 R422001344
HEERN 25 L=\
>
32 5 G 1/8 HEEE | YRV M8 | BEIXRA 435 507 R422001265
HEERAN Z5L—I%
>
32 10 G1/8 HEEE | YIXRYKN M8 | BETIXH 435 507 R422001275
HEEAN Z5L—I%
>
32 15 G 1/8 BMEEE | YIXRYBN M8 | BEETHEH 435 507 R422001285
HEERAN 25 L—)\
>
32 20 G 1/8 HMEE | YUXY N M8 | ZBEIXRA 435 507 R422001295
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 76
(1SO 21287) 2023-11-22

AN  ARO—% K-k Z5L—/8 ERRY  ERARY  IFUTLES
> o [mm] HABE BB
mm] IN] IN]
32 25 G 1/8 MR | YUXY N M8 | ZBEIXR 435 507 R422001305
HEERAN 25 L=\
>
32 30 G1/8 BUEE | YRV M8 | BEIXHA 435 507 R422001315
HEEARN Z5L—I%
>
32 40 G 1/8 HEEE | YRV M8 | EETZEH 435 507 R422001325
HEEAN Z5L—I%
Y
32 50 G 1/8 BUEE | YIXRYKN M8 | BRETXA 435 507 R422001335
HEERN Z5L—/N
>
32 60 G 1/8 HMEE | YUXY N M8 | BEIXRA 435 507 R422001345
HEERAN Z5L—IN
>
32 80 G 1/8 HEEE | YRV M8 | EETZEH 435 507 R422001355
HEEAN Z5L—I%
>
32 100 G1/8 HMEEE | YRV M8 | BEETHEH 435 507 R422001365
HEERAN Z5L—/N
>
32 125 G 1/8 HMEE | YUXY N M8 | ZBEIXR 435 507 R422001375
HEERAN Z5L—IN
>
32 150 G1/8 BUEE | YRV M8 | BETIXHA 435 507 R422001385
HEEAN Z5L—I%
>
40 5 G1/8 HMEEE | YITXRYBN M8 | EETZEH 720 792 R422001266
HEERN Z5L—/N
>
40 10 G 1/8 HMEE | YJXY N M8 | EBEIXR 720 792 R422001276
HEERAN 25 L=\
>
40 15 G 1/8 HUEE | YIXRYBN M8 | BEIXHA 720 792 R422001286
HEEAR Z5L—I%
>
40 20 G 1/8 HEEE | YRV M8 | EETZEH 720 792 R422001296
HEEAN Z5L—I%
>
40 25 G 1/8 BURE | YIXRYKN M8 | BETXA 720 792 R422001306
HEERN Z5L—/N
>
40 30 G18| mMEEm| vTxvhA M8| BETEM 720 792 R422001316
HEERAN Z5L—I%
>
40 40 G1/8 HEEE | YIXRYKN M8 | EETZEH 720 792 R422001326
HEEAN Z5L—I%
>
40 50 G 1/8 BMEEE | YIXRYBN M8 | BEETHEH 720 792 R422001336
HEERAN Z5L—/N
>
40 60 G 1/8 HMEE | YUXY N M8 | ZBEIXRA 720 792 R422001346
HEERAN 25L—IN
>

EMERSON.



AVENTICSCCI =X AV NI KD H 77
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
40 80 G 1/8 EUEE | YIXRYHN M8 | ZBEIXR 720 792 R422001356
FEERN AO9L—N
>
40 100 G1/8 HEEE | YRV M8 | BEIXHA 720 792 R422001366
HEERN 25L—N
>
40 125 G 1/8 HEEE | YRV M8| EETXEA 720 792 R422001376
HEERN 245 L—/
>
40 150 G 1/8 HMEEE | VIRV M8 | BETHH 720 792 R422001386
HEEARAN AOL—N
>
50 5 G1/8 HMEE | YUXY N M10| ZBEIER 1110 1237 R422001267
FEERDN AIL—N
>
50 10 G1/8 HEEE | YRV M10| EETEH 1110 1237 R422001277
FEEARAN AIL—N
>
50 15 G1/8 BUEE | YRV BN M10| BEETEH 1110 1237 R422001287
FEEAN AOL—N
4
50 20 G 1/8 BUEE | YRV N M10| ZEIER 1110 1237 R422001297
HEEZN 25L—)%
>
50 25 G1/8 HEEE | YRV M10| EETEH 1110 1237 R422001307
HEEARAN AOL—N
>
50 30 G1/8 BUEE | YRV BN M10| EETHH 1110 1237 R422001317
HEEZN 245 L—/
>
50 40 G 1/8 EUEE | YIXRYN M10| ZBEIER 1110 1237 R422001327
FEERAN AO9L—N
>
50 50 G1/8 HEEE | YRV M10| EBETEH 1110 1237 R422001337
HEEAN 25L—N
>
50 60 G 1/8 HEEE | YRV M10| EETHEH 1110 1237 R422001347
HEEAN AOL—N
>
50 80 G 1/8 HMEEE | VIRV M10| BETHEHR 1110 1237 R422001357
HEEZN 25L—)%
>
50 100 G1/8 HMEE | YUXY N M10| ZBEIER 1110 1237 R422001367
FEERB AIL—N
>
50 125 G1/8 HEEE | YIXRYKN M10| EETEH 1110 1237 R422001377
FEEARAN AIL—N
>
50 150 G 1/8 BUEE | YRV BN M10| BEETEH 1110 1237 R422001387
FEEAN AOL—N
4
63 5 G 1/8 BUEE | YIXRYHN M10| ZEIER 1837 1964 R422001268
HEERXDN AIL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 78
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
63 10 G 1/8 EUEE | YIXRYHN M10| ZBEIER 1837 1964 R422001278
FEERN AO9L—N
>
63 15 G1/8 HEEE | YRV M10| EBETEH 1837 1964 R422001288
FEERDL AIL—N
>
63 20 G 1/8 HEEE | YRV M10| EETHEH 1837 1964 R422001298
HEERN 245 L—/
>
63 25 G 1/8 HMEEE | VIRV M10| BETEHR 1837 1964 R422001308
HEEARAN AOL—N
>
63 30 G 1/8 BUEE | YRV M10| ZBEIER 1837 1964 R422001318
FEERDN AIL—N
>
63 40 G1/8 HEEE | YRV M10| EETEH 1837 1964 R422001328
FEEARAN AIL—N
>
63 50 G1/8 BUEE | YRV BN M10| BEETEH 1837 1964 R422001338
FEEAN AOL—N
4
63 60 G 1/8 BUEE | YRV N M10| ZEIER 1837 1964 R422001348
HEERXDN AIL—N
>
63 80 G1/8 HEEE | YRV M10| EETEH 1837 1964 R422001358
HEEARAN AOL—N
>
63 100 G1/8 BUEE | YRV BN M10| EETEH 1837 1964 R422001368
FEEAKN AOL—N
>
63 125 G 1/8 EUEE | YIXRYN M10| ZBEIER 1837 1964 R422001378
HEERN 25L—N
>
63 150 G1/8 HEEE | YRV M10| EBETEH 1837 1964 R422001388
HEERDL AIL—N
>
80 5 G 1/8 HEEE | YRV M12| EETHEHR 2969 3167 R422001269
HEEAN AOL—N
>
80 10 G 1/8 HMEEE | VIRV M12| BETHER 2969 3167 R422001279
HEEZN 25L—)%
>
80 15 G 1/8 HEEE | YRV M12| BETIER 2969 3167 R422001289
FEERB AIL—N
>
80 20 G1/8 HEEE | YIXRYKN M12 | EETEH 2969 3167 R422001299
FEEARAN AIL—N
>
80 25 G 1/8 BUEE | YRV BN M12| BEETEHR 2969 3167 R422001309
FEEAN AOL—N
4
80 30 G 1/8 BUEE | YIXRYHN M12| ZETER 2969 3167 R422001319
HEEZN 25L—)%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 79
(1SO 21287) 2023-11-22

EAN AkO—7 R—K AOL—=IN EARAKY EANY XTUT7ILES
> @ [mm] HAFE  HHEAE
[mm] [N] [N]
80 40 G 1/8 EUEE | YIXRYHN M12| ZETIER 2969 3167 R422001329
FEERN AO9L—N
>
80 50 G1/8 HEEE | YRV M12| BETEH 2969 3167 R422001339
HEERN 25L—N
>
80 60 G 1/8 HEEE | YRV M12| EETHEHR 2969 3167 R422001349
HEEAN AOL—N
>
80 80 G 1/8 HMEEE | VIRV M12| BETHER 2969 3167 R422001359
HEEARAN AOL—N
>
80 100 G 1/8 BUEE | YRV M12| BETEH 2969 3167 R422001369
FEERDN AIL—N
>
80 125 G1/8 HEEE | YRV M12 | EETEH 2969 3167 R422001379
HEERN 245 L—/%
>
80 150 G1/8 BUEE | YRV BN M12| BETEHR 2969 3167 R422001389
FEEAN AOL—N
4
100 5 G 1/8 BUEE | YRV N M12| ZBETER 4639 4948 R422001270
HEERXDN AIL—N
>
100 10 G1/8 HEEE | YRV M12| BETEHA 4639 4948 R422001280
HEERN 245 L—/%
>
100 15 G 1/8 BUEE | YRV BN M12| EETEH 4639 4948 R422001290
FEEAKN AOL—N
>
100 20 G 1/8 EUEE | YIXRYN M12| ZBETIER 4639 4948 R422001300
FEERAN AO9L—N
>
100 25 G1/8 HEEE | YRV M12| BETEA 4639 4948 R422001310
HEERDL AIL—N
>
100 30 G 1/8 HEEE | YRV M12| EETHEHR 4639 4948 R422001320
HEEAN AOL—N
>
100 40 G 1/8 HMEEE | VIRV M12| BETHER 4639 4948 R422001330
HEEZN 25L—)%
>
100 50 G 1/8 BUEE | YRV M12| BETEH 4639 4948 R422001340
FEERB AIL—N
>
100 60 G1/8 HEEE | YIXRYKN M12 | EETEH 4639 4948 R422001350
FEEARAN AIL—N
>
100 80 G 1/8 BUEE | YRV BN M12| BEETEHR 4639 4948 R422001360
FEEAN AOL—N
4
100 100 G 1/8 BUEE | YIXRYHN M12| ZETER 4639 4948 R422001370
HEERXDN AIL—N
>

EMERSON.



AVENTICSCCI =X AV NI KD H 80
(1SO 21287) 2023-11-22

EAN  ARO—% K-k EARY  EARY  IFUTLES
> o [mm] HAKE D HEE
[mm] IN] IN]
100 125 G 1/8 EUEE | YIXRYHN M12| ZETIER 4639 4948 R422001380
HEEAN Z5L—IN
>
100 150 G1/8 HEEE | YRV M12| BETEH 4639 4948 R422001390
HEEAN 25 L—)\
>
125 5 G1/4 HEEE | YRV M16| EETHEH 7422 7731 R481636864
HEERR 2oL~/
>
125 10 G1/4 HMEEE | VIRV M16 | BETHEHR 7422 7731 R481636865
HEEAN 2oL~/
>
125 15 G 1/4 HEREE | YRV M16| ZBEIHER 7422 7731 R481636866
HEEAN 25 L—/%
>
125 20 G 1/4 HEEE | YRV M16 | EETEH 7422 7731 R481636867
HEERR 29 L=\
>
125 25 G1/4 BUEE | YRV BN M16 | BEETEH 7422 7731 R481636868
HEEAN 25L—IN
4
125 30 G1/4 BUEE | YRV N M16| ZETHER 7422 7731 R481636869
HEEAN 25 L—/\
>
125 40 G 1/4 HEEE | YRV M16| BETHEHA 7422 7731 R481636870
HEERR 2 L—/\
>
125 50 G1/4 BUEE | YRV BN M16 | EETEH 7422 7731 R481636871
HEEAN 2oL~/
>
125 60 G1/4 EUEE | YIXRYN M16| ZETIER 7422 7731 R481636872
HEEAN Z5L—IN
>
125 80 G 1/4 HEEE | YRV M16| BETIHEA 7422 7731 R481636873
HEEAN 25 L—)\
>
125 100 G1/4 HEEE | YRV M16| EETHEH 7422 7731 R481636874
HEERR 2oL~/
>
125 125 G1/4 HMEEE | VIRV M16 | BETHEH 7422 7731 R481636875
HEEAN 2oL~/
>
125 150 G14| BEEE| ITFY K Mi6| EET%R 7422 7731 R481636876
HEEAN 25 L—)%
>

EMERSON.



AVENTICSCCI =X AV NI KD H 81
(1SO 21287) 2023-11-22

PL WH LM
EE
LA / \ PL;
SNNONNNY
Kl Z 4]
x < 2}»& b — ;
Y Di -+ ——- - —1
Ql @ - Q
AT
1 /::: __
LB LW
BG
ZA+S
ZB+8S

LE X1 X1,

X1X1 4 @ . | irl
T ] — O O i

EE
|
|
|

7 685 E - @ - X

5,35 X o X >

. tH < O ‘ o __z !

Lx1_|_x1
Q216 @20-40 @50-125
S=ARO—%
G = RABOHER
EARY @ BC BG DA H11 DG H13 DT E EE FA FB G
16 M3 15 10 3 6 29.3 M5 9.9 +0.1 20 19
20 M4 155 12 4 75 36.3 M5 12 0.1 24 25
25 M5 155 12 5 8 40.3 M5 15.6 £0.1 30 27
32 M5 17 14 5 8.6 50 G1/8 19.8 £0.1 38 34
40 M5 17 14 5 9.2 58 G1/8 23.3 £0.1 44 42
50 M6 17 18 6 11 68.3 G1/8 29.7 0.1 54 49
63 M6 17 18 6 11 80 G1/8 35.4 £0.1 62 60
80 M8 20 23 8 15 96 G1/8 46 £0.1 80 72
100 M10 20 28 10 15 116 G1/8 56.6 0.1 100 92
125 M10 35 12 10 - 134.6 G 1/4 63.64 £0.1 120 110
EARY @ LA LB LE LJ LM LW MM f8 PL RR RT 6H

16 25 35 45 - 6 4 8 8 33 M4
20 25 45 45 45 8 4 10 10 42 M5
25 25 45 45 4 8 4 10 10 42 M5

EMERSON.




"

AVENTICSCCI > U—=X AV NI KRIVUE 82
(ISO 21287) 2023-11-22
EANY @ LA LB LE LJ LM LW MM f8 PL RR RT 6H
32 25 5 7.5 4.85 10 45 12 12 5.1 M6
40 25 5 7.5 9.85 10 45 12 12 5.1 M6
50 25 5 7.5 12 12 6 16 12 6.7 M8
63 25 5 7.5 14.8 12 6 16 12 6.7 M8
80 3 5 7.5 22 14 7 20 14 8.5 M10
100 3 5 7.5 27 14 7 25 16.5 8.5 M10
125 26 - 2?72 39 18 75 25 205 11.1 M12
EANY @ TG WH X1 X2 X3 ZA 20,1 zB
16 18 48109 - - - 34.9 39.7 £0.8
20 22 5.6 0.9 42 - - 37.3 43.6 0.8
25 26 5.6 0.9 45 - - 39 44.50.9
32 325 74209 6.5 - - 44 51.4 £1
40 38 7.410.9 11 - - 45 52.4 +1
50 46.5 8.4 0.9 13 4 13 455 53.6 +1
63 56.5 8.50.9 18 12 21 49 57.4 +1
80 72 9.8 £1 18 16.5 255 54.7 64.4 £1
100 89 9.8 +1 20 20 29 67 76.7 +1
125 110 11 29 29 38 81 92 £1

EMERSON.



AVENTICSCCI =X AV NI KD H 83
(1SO 21287) 2023-11-22

M2 (+7S54 Yy N AB7-HD, ¥ 1J—X CM1
1SO 15552

REB Y 32 -0(EE)

[mm]
32 10 ISO 15552 KRB ESTHFEK 1825805275
40 12 ISO 15552 KRBT B OHEHK 1825805276
50 12 ISO 15552 RREMESOHHK 1825805277
63 16 ISO 15552 KRB ESTHEK 1825805278
80 16 ISO 15552 R B E B UHHK 1825805279
100 20 ISO 15552 KREMMEFOHEHK 1825805280
125 25 ISO 15552 KRB E BTHEK 1825805281

GL EM
@CK EA

|

@ CK H9 @ HB H13 GL JS14 PH JS15 RA JS14
1825805275 32 10 8 10 6.6 26 -0,2/-0,6 21 10 32 18
1825805276 40 1 10 12 6.6 28 -0,2/-0,6 24 12 36 22
\

&

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA 84

(ISO 21287) 2023-11-22
@CKHY = @HBH13 GL JS14 EA &K PH JS15 RA JS14
1825805277 50 13 12 12 9 32-0,2/-0,6 33 16 45 30
1825805278 63 15 12 16 9 40-0,2/-0,6 37 16 50 35
1825805279 80 15 14 16 11 50 -0,2/-0,6 47 20 63 40
1825805280 100 19 15 20 11 60-0,2/-0,6 55 20 71 50
1825805281 125 225 20 25 14 70-0,5/-1,5 70 30 90 60
1825805282 160 315 25 30 14 90-0,5/-1,5 97 36 115 88
1825805283 200 315 30 30 18 90-0,5/-1,5 105 40 135 90
1825805284 250 40 35 40 22 110-0,5/-1,5 128 45 165 110
5239013422 320 45 40 45 26 120-0,5/-1,5 150 55 200 122
7?“7;?% TE JS14 UL &R UR BA

1825805275 38 51 31

1825805276 41 54 35

1825805277 50 65 45

1825805278 52 67 50

1825805279 66 86 60

1825805280 76 9 70

1825805281 94 124 90

1825805282 118 156 126

1825805283 122 162 130

1825805284 150 200 160

5239013422 170 234 186

Q

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA

(ISO 21287)

85
2023-11-22

BZT7/54 v kN CS7,>1)—X CM1

VDMA 24562 & m2

REB Y 32 -0(EE)

[mm]
32 10 VDMA 24562 £5532 HRREMESTHK 1827001784
40 12 VDMA 24562 &2 KRBT B OHEHK 1827001785
50 16 VDMA 24562 &332 RIREMESTHHK 1827001786
63 16 VDMA 24562 £5@2 HRREMESTHK 1827001787
80 20 VDMA 24562 £532 FREMESTHHK 1827001788
100 20 VDMA 24562 £532 RIREMESTHHK 1827001789
125 30 VDMA 24562 £532 HRREMESTHEK 1827001790
&
EN
G1 EU
: g4
HONS o
[ 8 \ — s
T N x
LI) © ‘
I,
a P 7
G2 || @S5 (x4)
G3 " K1
K2

EANY @ 7?)?;% CH JS15 @CN H7 G1JS14 G2 Js14 G3 &K
32 1827001784 32 10 10.5 14 16 21 18 31 16
40 1827001785 36 12 12 16 18 24 22 35 20
50 1827001786 45 16 15 21 21 33 30 45 22
63 1827001787 50 16 15 21 23 37 35 50 27
80 1827001788 63 20 18 25 28 47 40 60 31
100 1827001789 7 20 18 25 30 55 50 70 38
125 1827001790 90 30 25 37 40 70 60 90 40

Q

&

EMERSON.



AVENTICS CCI =X AU NO KD A 86
(ISO 21287) 2023-11-22
EZARY @ 77)?%)% CH JS15 @CN H7 EU &K G1Js14 G2Js14 G3 &K H1 B
160 1827001791 115 35 28 43 44 97 88 126 45
200 1827001792 135 35 28 43 47 105 90 130 45
250 1827001793 165 40 33 49 53 128 110 160 50
320 5239013442 200 50 45 60 63 150 122 186 60
EANY @ H6 K1Js14 K2 Bk @S5 H13 Z &/
32 941 38 51 6.6 4
40 941 41 54 6.6 4
50 1141 50 65 9 4
63 111 52 67 9 4
80 12415 66 86 11 4
100 1315 76 96 11 4
125 17415 04 124 14 4
160 2215 118 156 14 4
200 27 42 122 162 18 4
250 3142 150 200 22 4
320 36 £2 170 234 26 4

EMERSON.



AVENTICSCCI > U—X AN R A 87
(1SO 21287) 2023-11-22

OvY R LEAET T AB3, > 1) —X CM1

REIR V) 312 -0(E &)

[mm]
12,16 6 AF—=I), VO0LXY F 1827001446
20, 25 8 AF—=), V04LXY F 1827001445
— -
Y «
? J 1 1
—
\_'—!—!—!—‘_/ T T
1
— - | - —
e s
e
5 S E&alV)

EANY @O FLES CM @ CK CL FL FO MR aT B UH
8,10 1827001447 8,1 4 13,1 24 1,5 5 4,5 12,5 20
8,10 3323410000 8 4 13 24 1,5 5 4.5 12 20
12, 16 1827001446 12,1 6 18,1 27 2,0 7 55 15 25
12,16 3323416000 12 6 18 27 2,0 7 55 15 25
20, 25 1827001445 16,1 8 241 30 4,0 10 6,6 20 32
20, 25 3323420000 16 8 24 30 4,0 10 6.6 22 34

32 3323432000 26 10 36 32 6,0 12 6.6 24 36
4

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA

(ISO 21287)

88

2023-11-22

Ov R LEAET T AB6, 1) —X CM1

ISO 15552

REB Y 32 -0(EE)

[mm]
32 10 1SO 15552 FILZZIA 1827001593
40 12 1SO 15552 TIZZJA 1827001594
50 16 1SO 15552 TILZZJA 1827001595
63 16 1ISO 15552 FILZIZIA 1827002024
80 20 1SO 15552 FILZZIA 1827001597
100 20 1SO 15552 TILZZJA 1827001598
125 30 1ISO 15552 FTILZ"ZJA 1827001599
CP
CcG
o L4 -
o =)
l Q Q
@110 & = |5
\\. [ m I/ﬂ I
. | w| O B | .
Fl T 8 ¢
R4 iy s i
© SR
N4 I
T L11
L1 ||

CG D10

CP d12

32

1827001593

3.3

34

6.6

30

46

22

40

1827001594

4.3

40

6.6

35

52

25

Q

&

EMERSON.



AVENTICSCCIZU—X OO KU A 89
(ISO 21287) 2023-11-22
O CF F7 CG D10 CP d12

50 1827001595 4.3 16 21 45 9 15 40 64 27

63 1827002024 4.3 16 21 51 9 15 45 74 32

80 1827001597 4.3 20 25 65 11 18 45 94 36

100 1827001598 4.3 20 25 75 1 18 55 113 41

125 1827001599 6.3 30 37 97 14 20 60 138 50

160 1827001600 6.3 35 43 122 18 26 65 180 55

200 1827001601 6.3 35 43 122 18 26 75 220 60

250 1827001602 8.3 40 49 125 22 33 90 280 70

320 5239013432 8.3 50 60 150 26 36 110 340 80

32 4.5 5.5 16.5 17 10 3 32,5+0,2
40 4.5 55 18 20 12 4 38 +0,2
50 4.5 6.5 23 22 15 4 46,5 £0,2
63 4.5 6.5 23 25 15 4 56,5 +0,2
80 4.5 10 27 30 20 4 72 +0,2
100 4.5 10 27 32 20 4 89 0,2
125 7 10 40 42 26 6 110 £0,3
160 10 10 45 46 325 6 140 0,3
200 10 1" 45 49 325 6 175 0,3
250 12 1" 53 55 40 8 220 +0,3
320 11 15 69 65 50 8 270 0,3

EMERSON.



AVENTICSCCI =X AV NI KD H 90
(1SO 21287) 2023-11-22

Oy R L EABATHF MP2-HD, ') — X CM1

SRR ) WE-O(BE) XFUTILES
[mm]
32 10 ISO 15552 TILZZIA 1827001289
40 12 ISO 15552 TILZZOA 1827001290
50 12 ISO 15552 TFINZZOA 1827001291
63 16 ISO 15552 TILZZIA 1827001500
80 16 ISO 15552 TILZZIA 1827001293
100 20 ISO 15552 TFINZZOA 1827001294
125 25 ISO 15552 TILEZZOA 1827004862

E aCD

A
Y
Y

oo
A l "
D
|
|rr-'-|-'-n|

—
|
|,,...}...“|

A
Y
Y
|

EANY @ 73)?;% CB H14 @ CD H9 L & MR &K
32 1827001289 26 10 47.5 22 12 10 45 32.5+0.2
40 1827001290 28 12 53.5 25 15 13 52 38 0.2
50 1827001291 32 12 64 27 15 13 60 46.5 +0.2
63 1827001500 40 16 74 32 18 17 70 56.5 +0.2
80 1827001293 50 16 94 36 20 17 90 72.0 0.2
Q

&

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA 91

(ISO 21287) 2023-11-22
EANY 8 s CBH14 @ CD H9 L & MR &A UBh13
TILES

100 1827001294 60 20 1135 41 25 18 110 89.0 0.2
125 1827004862 70 25 138 50 30 26 130 110 £0.3
160 1827004863 90 30 180 55 35 31 170 140 £0.3
200 1827004864 90 30 220 60 35 31 170 175 +0.3
250 1827004865 110 40 280 70 45 41 200 220 0.3
320 5239813402 120 45 350 80 50 45 220 270£0.3

Q

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA

(ISO 21287)

92

2023-11-22

I L ERABEA T MP4-HD, ') —X CM1

REB Y 32 -0(EE)

[mm]
16 6 FINZIZILMESE 1825805368
20 8 1ISO 21287 AF=I), 70LXYF 1827002300
25 8 ISO 21287 AF—I, VOLXY* 1827002301
32 10 ISO 15552 TINZZ I LA 1827001283
40 12 1ISO 15552 TILZIZOLA 1827001284
50 12 ISO 15552 TILZZOA 1827001285
63 16 ISO 15552 TFILIZOLA 1827020086
80 16 1ISO 15552 FIZZ I LA 1827001287
100 20 ISO 15552 TILIZOLAL 1827001288
125 25 ISO 15552 TILIZOLA 1827004866
MR EW
B ‘ (T i ) ]
| B < g _ | @
44— 8 S
o RS :ém@) |
L1l ||
L TG
CFL E

16 1825805368 6 10 H13 4.5 27 12-0.2/-0.6 16 2.6 10 3
20 1827002300 8 12 H13 5.5 34 16 -0.2/-0.6 20 2.6 14 3
25 1827002301 8 12 H13 5.5 40 16 -0.2/-0.6 20 2.6 14 3
32 1827001283 10 30 H11 6.6 47.5 26 -0.2/-0.6 22 55 12 4.5
40 1827001284 12 35 H11 6.6 53.5 28 -0.2/-0.6 25 5.5 15 4.5
50 1827001285 12 40 H11 9 64 32-0.2/-0.6 27 6.5 15 4.5

EMERSON.




AVENTICSCCIZU—X OO KU A 93
(ISO 21287) 2023-11-22
L & L1 &
63 1827020086 16 45 H11 9 74 40-0.2/-0.6 32 6.5 20 4.5
80 1827001287 16 45 H11 1 94 50-0.2/-0.6 36 10 20 4.5
100 1827001288 20 55 H11 1 113.5 60 -0.2/-0.6 41 10 25 4.5
125 1827004866 25 60 H11 14 138 70-0.5/-1.2 50 10 30 7
160 1827004867 30 65 H11 18 180 90-0.5/-1.2 55 10 35 7
200 1827004868 30 75 H11 18 220 90 -0.5/-1.2 60 11 35 7
250 1827004869 40 90 H11 22 280 110-0.5/-1.2 70 1 45 11
320 5239813412 45 110 H11 26 350 120 -0.5/-1.2 80 15 50 1
EANY @ MR &K TG
16 6 18 £0.2
20 8 22 +0.4
25 8 26 +0.4
32 10 32.5+0.2
40 12 38 £0.2
50 12 46.5 £0.2
63 16 56.5 +0.2
80 16 72 0.2
100 20 89 0.2
125 26 110 £0.3
160 31 140 £0.3
200 31 175 £0.3
250 41 220 +0.3
320 45 270 0.3

EMERSON.



AVENTICSCCI > U—X AN R A 94
(1SO 21287) 2023-11-22

I L EABEA T MP6, =) —X CM1

REB Y 32 -0(EE)

[mm]
32 10 ISO 15552 FILZZ L (&) 1827001619
40 12 ISO 15552 FILZZ L (&) 1827001620
50 16 ISO 15552 FILZZ YA () 1827001621
63 16 ISO 15552 FILZZ YL () 1827020087
80 20 ISO 15552 FILZZ L (&) 1827001623
100 20 ISO 15552 FILZZ YA () 1827001624
125 30 ISO 15552 FILZZ L () 1827001625

MS

DL

TG
E
MBIy M VLERBREBME. BERUMSE

X7l

EANY @ 7ILEE DCX H7 @D H11 @D1 H13 DL £0,2
25 3663602000 10 18 55 20 40 9 14 8 6
32 3663603000 10 20 55 22 46 9 15 8 6
\

EMERSON.



AVENTICSCCIZU—X OO KU A 95
(ISO 21287) 2023-11-22
EANY @ _,7_7_ U.:. @CX H7 @D H11 @D1 H13 DL 0,2
TILES
40 3663604000 12 30 6.6 28 55 12 17 9.5 8
52,5 3663605000 12 40 6,6 28 62 12 17 9.5 9
63 5220163442 10 - 7.5 29 45 14 15 10.5 8
75 3663606000 16 55 9 36 80 16 25 12,5 1
80 5220363442 12 - 10 26 65 16 18 12 10
80 3663608000 16 70 9 38 94 16 28 12,5 12
85, 95 5220463442 16 - 10 30 75 21 22 15 10
100 3663610000 20 90 1 43 114 20 35 16 15
115 5220563442 16 - 12 375 95 21 25 15 12
3
32 0.5 42 6 15 16 32
40 0.5 48 8 17 16 32
52,5 0,5 55 9 17 18 46
63 - - - - - 33
75 0,5 70 1 25 21 59
80 - - - - - 49
80 0,5 80 12 28 21 73
85, 95 - - - - - 59
100 0,5 100 15 35 28 90
115 - - - - - 75
4

EMERSON.




AVENTICSCCI =X AV NI KD H 96
(1SO 21287) 2023-11-22

I L EABEA T MPY, =) —X CM1

REB Y 32 -0(EE)

[mm]
25 10 ISO 21287 FILZZ I LMESHE 3683202000
40 12 ISO 15552 TILZZOA 3683204000
63 16 ISO 15552 TIZZOA 3683206000
100 20 ISO 15552 TFILZZOA 3683210000
EW
eF 4 x1SO 4762
X
’%9 1 |
-
] [y " 4
f ol o -1l x 1SO 7089/7092
i ] ( Qlr
—
i i T 1 L j
==7 ———1) T [ .=
v BT S —H VTN
E o < 2D
/)
_r_'_+_
L 4 -
~ 7 o))
- Er— — H O
w ¥ 2o B
|
SN |
TG /<\X
TG1
NHILRT v

TG1 0,2

25 3683202000 10 - 40 17.5 14,5 26 27 20 14.8

Q

&

EMERSON.



AVENTICS CCI =X AV NI R IUHA 97

(ISO 21287) 2023-11-22
TG1 £0,2
40 3683204000 - 12 53 27 235 38 40 25 16.3
63 3683206000 - 16 75 39.5 335 56.5 59 32 223
100 3683210000 - 20 114 59.5 54 89 90 41 25.8

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA

(ISO 21287)

98

2023-11-22

I L EABEA T MPY, =) —X CM1

EANOER KREB V) HMZ-O(ER) NTUTILES
[mm] [mm]
32 10 1ISO 15552 TILZZIA 3683203000
50 12 1ISO 15552 TILZZOA 3683205000
80 16 1ISO 15552 TFILZZJA 3683208000
50 12 TFILZZIA 3663205000
80 16 TILZZIA 3663208000
125 25 1ISO 15552 FILZZJA R412015973
EW
4, _EP 4 x1S0O 4762
% OV
o
: ] NN i 4 x 1SO 7089/7092
| Q <
1 W —l —
L : ‘ - \ Y
| I | [ !
[}
— @gD1._| |
_l - -t
@D
- E .
[} :
g )
| 2l @
Wl - TR R
———'——,
1) A ‘
\ ]
T
TG
N dARTv>a

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA

(ISO 21287)

2023-11-22

EANY @ 77)?%)%. CD H11 TG1 +0,2
32 3683203000 10 - 46 255 18,9 325 22 13.8
50 3683205000 - 12 65 31 28 46.5 27 17.3
50 3663205000 12 63 31 46 28 15.5
80 3663208000 16 95 49.5 73 38 20.5
80 3683208000 - 16 945 49.5 43 72 36 218
125 R412015973 - 25 138 69.5 60 110 50 33.8
EANY @ MR L1 L4 D H11 D1 H13
32 12.5 5 55 30 6.6
50 16 5 6.5 40 9
50 18
80 24
80 22 5 10 45 1"
125 34 75 10 60 13.5

EMERSON.




AVENTICSCCI =X AV NI KD H 100
(1SO 21287) 2023-11-22

BEERY NS4 Y N MT5, MT6, 1) — X CM1

EANOER ME RXTUTILES
[mm]
20 RIREBHE SO B 1825805360
25 BIREBHE SO H 1825805361
32 HIREBHE ST HK 1827001609
40 BIRB#HE SO HE 1827001610
50 BREBHE SO B 1827001611
63 KIREBMESTHHK 1827002046
80 BIRBHE SO H 1827001613
100 HRREBHE S OB 1827001614
125 KIRBMESTHHK 1827001615
(m)] |
= [
&r ' ~
@) = 3| AT
= o a Q
| ] Y
‘ T =4
! ; i
TK

TL h14 TM h14
20 1825805360 18 5.5 10 8 12 22 14 12 38
25 1825805361 22 5.5 10 8 12 26 14 12 42
25 R412026354 24 5.5 10 8 12 26 14 12 42
32 1825805362 32 6.6 10.5 7 12 32 14 12 52
32 1827001609 30 6.6 11 7.5 12 325 16 12 50
40 1825805363 46 6.6 1" 12 16 42 19 16 63
40 1827001610 35 6.6 1" 7.5 16 38 20 16 63
50 1825805364 53 9 14 10 16 50 19 16 75
4

EMERSON.



AVENTICS CCI =X AV NI R IUHA 101

(ISO 21287) 2023-11-22
TL h14 TM h14

50 1827001611 40 9 15 10 16 465 24 16 75
63 1825805365 69 9 15 15 20 62 24 20 90
63 1827002046 45 9 15 10 20 56.5 24 20 90
80 1825805366 87 11 18 13 20 82 24 20 110
80 1827001613 45 11 18 16 20 72 28 20 110
100 1825805367 55 11 18 18 25 103 29 25 132
100 1827001614 55 11 18 255 25 89 38 25 132
125 1827001615 60 14 20 34 25 110 46 25 160
160 1827001616 65 18 26 38 32 140 50 32 200
200 1827001617 75 18 26 40 32 175 60 32 250
250 1827001618 90 22 33 57 40 220 70 40 320

EANY @ uw
20 35
25 39
25 39
32 46
32 48
40 59
40 56
50 69
50 65
63 84
63 75
80 102
80 100
100 125
100 120
125 145
160 184
200 224
250 286

Q

EMERSON.



AVENTICSCCI > U—X AN R A 102
(1SO 21287) 2023-11-22

BT AT4, >1)—X CM1
IS0 15552

REB Y 32 -0(EE)

[mm]
20, 25, 32 12 1ISO 15552 AF—=I), VO0LXY F 1827001603
40, 50 16 1ISO 15552 AF=), V04LXY F 1827001604
63, 80 20 1ISO 15552 AF=I), VO0LXY* 1827001605
100, 125 25 1ISO 15552 AF—=I), VO0LXY F 1827001606
., __@HB
R A A-A
T ] R
| \I _| —lf A
z o
| | J|_: : S
L Ly | E !
il - ! Y 7
e
o uL B -
e
= RN/
zZ B = T— —] — ]
, A
T i
EANY O R UL NH TH © CR H9 HB H13 FN FK
TILES
20, 25, 32 1827001603 46 18 32 0,2 10.5 12 6.6 30 15 +0,1
40, 50 1827001604 55 21 36 £0,2 12 16 9 36 18 £0,1
63, 80 1827001605 65 23 42 +0,2 13 20 1 40 20 +0,1
100, 125 1827001606 75 28.5 50 +0,2 16 25 14 50 25 +0,1
160, 200 1827001607 92 40 60 £0,3 225 32 18 60 30 0,2
250 1827001608 140 50 90 0,3 27.5 40 22 70 35 10,2
320 R412018903 150 60 100 325 50 26 80 40

Q

&

EMERSON.



AVENTICSCCI =X AV NI KD H 103
(1SO 21287) 2023-11-22

722 TBFH MF1, MF2, 1) — X CM1

1ISO 15552
EANOER R HE RTUTILES
[mm]
32 1ISO 15552 AF—=I), VO0LXY* 1827001277
40 1ISO 156552 AF=I), 70LXYF 1827001278
50 1ISO 15552 AF—II, VOLXY * 1827001279
63 1ISO 15552 AF—=I), VO0LXY* 1827001499
80 1ISO 15552 AF=I), 70LXYF 1827001281
100 1ISO 15552 AF—I, VOLXY* 1827001282
125 1ISO 15552 AF—=I), VOLXYF 1827004861
Y, '} f+\ ‘{ ! Y
= & |
PZZ7A A 1 ‘ 1 “
00| ¢
A . : UG_I
1 ww O | M
‘ D | F
i OREC
|
— |
_é\' 7 o F ! {b’ ; {b*
S S ‘
=t L4 —t R -
| |.MF _T1G
et E e

32 1827001277 30 6.6 1" 50 7 4.5 10 32 64
40 1827001278 35 6.6 11 55 9 4.5 10 36 72
50 1827001279 40 9 15 65 9 6 12 45 90
63 1827001499 45 9 15 75 9 6 12 50 100
80 1827001281 45 11 18 100 12 9 16 63 126
100 1827001282 55 1" 18 120 14 9 16 75 150
125 1827004861 60 14 20 140 16 10.5 20 90 180
\

&

EMERSON.



AVENTICSCCIZU—X OO KU A 104
(ISO 21287) 2023-11-22
EANY @ _,77__U.:. @d H11 ad1 @d2 E&X oOFB L4 MF R TF
TILES

160 1827001460 65 18 26 180 18 9.5 20 115 230

200 1827001461 75 18 26 220 22 12.5 25 135 270

250 1827001462 90 22 33 280 26 10.5 25 165 330

320 5239016012 110 26 40 350 33 15 30 200 270
EANY O TG UF

32 32,5 0,2 80

40 38 +0,2 90

50 46,5 £0,2 110

63 56,5 +0,2 125

80 72 0,2 154

100 89 £0,2 186

125 110 £0,3 220

160 140 £0,3 275

200 175 0,3 312

250 220 +0,3 380

320 270 +0,3 400

EMERSON.



AVENTICSCCI =X AV NI KD H 105
(1SO 21287) 2023-11-22

7S5 EAT T MF1, MF2, 1) — X CMA1

EANOER e XTUTILES
[mm]
16 AF—=I, FOLXY F 1821038241
20 AF=I, JOLXYF 1827002292
25 AF=I, FOLXY F 1827002293

FB

1
A
A
L_l" i O
ol i | @
7
(/]
Y
\J
-l —
EANY O Rcakd @d H11 @d1 @d2 E 1) JFB L4 MF TF TG
FILES
16 1821038241 10 45 10 29 55 5.6 10 43 18
20 1827002292 12 55 10 36 6.6 4.6 10 55 22
25 1827002293 12 55 10 40 6.6 46 10 60 26
EXhY @ UF
16 55
20 70
25 76
1) &K

\

&

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA
(ISO 21287)

106

2023-11-22

RE7Z>2 JP2, 1) —X CM1

B EANY @

XTUTILES

[mm]
16 FILZZOA 1827020290
20 TFIZZOA 1827020267
25 FTILZZT LA 1827020268
32 TFILZIZOLA 1827020269
40 FILZZOA 1827020270
50 FILZZI LA 1827020271
63 FILZZT L 1827020272
80 FILZZOA R412024535
100 FTINZZOA R412024536

EMERSON.



AVENTICSCCI =X AV NI KD H 107
(1SO 21287) 2023-11-22

20 1827020267 CCl, KPZ 12.5 8 - 4 35
25 1827020268 CCl, KPz 13 8 4 4 40
32 1827020269 CCl, Kpz 14.5 10 5 4 50
40 1827020270 CCl, KPzZ 14.5 10 5 4 57.1
50 1827020271 CCl, KPZ 14.5 13 6 8 67.4
63 1827020272 CCl, KpZ 14.5 13 6 8 80
80 R412024535 KPZ 16.5 16 8 16 95
80 1827020273 CCl 16.5 16 - 16 98.4
100 R412024536 CCl 19.5 16 8 16 115
100 1827020274 KPZ 19.5 16 - 16 120
1) B&E LY

EMERSON.



AVENTICSCCI =X AV NI KD H 108
(1SO 21287) 2023-11-22

7y NET T MS1, 1) —X CM1

XTUTILES
16 KPZ, CCI AF—=I, FOLXY F 1821332053
20 KPZ, CCI AF=I, JOLXYF 1827002284
25 KPZ, CCI AF=I, FOLXY F 1827002285
32 PRA/TRB, CCI, CVI ISO 15552 AF=I, JOLXYF 1827001271
40 PRA/TRB, CCI, CVI ISO 15552 AF—=I, VJO0LXY F 1827001272
50 PRA/TRB, CClI, CVI ISO 15552 AF=I, JOLXYF 1827001273
63 PRA/TRB, CClI, CVI ISO 15552 AF=I, JOLXYF 1827001498
80 PRA/TRB, CCI, CVI ISO 15552 AF—I, FJO0LXY F 1827001275
100 CCl, PRA/TRB, CVI ISO 15552 AF=I, JOLXYF 1827001276
125 PRA/TRB, CVI ISO 15552 AF=I), VOLXYF 1827001310

216 220 - 320

16 1821332053 5.5 5 3 13 4.5 29 355 13 8
20 1827002284 6.6 6 4 16 54 36 22 16 10
25 1827002285 6.6 6 4 16 5.4 40 23 17 1"
25 3682202000 7 8 4 22 5.5 40 21 1.5 13.5
32 1827002286 6.6 8 5 18 6.6 50 24 16 -
32 1827001271 7 8 4 +0,3 24 6.6 48 25 15.5 15
32 3662203000 7 8 5 24 5.5 47 26 16 15

EMERSON.



AVENTICS CCI =X AV NI R IUHA

(ISO 21287)

109
2023-11-22

40 1827002287 9 8 5 20 6.6 60 295 215 -

40 1827001272 10 10 40,3 28 6.6 56 26 17 175

40 3662204000 9 11 5 31 6.6 56 28 16 20

50 1827002288 9 8 6 24 9 68 30 22 -

50 1827001273 10 11 50,3 32 9 68 32 215 20

50 3662205000 9 12 6 33 6.6 63 35 22 23

63 1827002289 1 12 6 27 9 84 39 285 -

63 1827001498 10 13 50,3 32 9 78 34 215 225

63 3662206000 9 12 6 36 9 81 40 205 23

80 1827002290 11 12 8 30 11 102 36.5 245 -

80 1827001275 12 16 60,5 41 1 98 47 27 225

80 3662208000 12 15 8 43 9 95 45 265 26

100 1827002291 135 12 8 33 11 123 385 26.5 -

100 1827001276 145 19 60,5 41 1 17 52 26.5 275

100 3662210000 14 17 10 43 11 115 50 26 32

125 1827001310 16.5 20 8+1,0 45 135 144 69 35 30

160 1827001457 185 23 10 £1,0 60 17.5 185 100 45 325

200 1827001458 24 26 12 1,0 70 175 220 120 475 375

250 1827001459 28 33 20 +1,0 75 22 280 135 55 45

320 5239010502 35 45 23 +1,0 85 26 350 200 65 55
EZARY @ TG TR

16 18 £0,2 18

20 22+0,2 22

25 26 +0,2 26

25 27 26

32 32 32

32 32,5 +0,2 32

32 32 32

40 42 42

40 38 +0,2 36

40 40 36

50 50 50

50 46,502 45

50 46 45

63 62 62

63 56,5 +0,2 50

63 59 50

80 82 82

80 72+0,2 63

80 73 63

100 103 103

100 89 +0,2 75

100 90 75

125 110 0,3 90

EMERSON.



AVENTICSCCI =X AV NO KRV HE 110
EZANY @ TG R
160 140203 115
200 17503 135
250 22003 165
320 27003 200

EMERSON.



AVENTICS CCI ' U—X VNI RIS
(ISO 21287)

111
2023-11-22

7Y NEUS I MS9, 1) —X CM1

EANOER ME XTUT7ILES
[mm]
32 AF—I, VOLXY * 1827001018
40 AF—I, VOLXYF 1827001019
50 AF=I), 0L XY F 1827001020
63 AF—I, VOLXY* 1827020085
80 AF—I, VOLXYF 1827001022
100 AF—I, VOLXY* 1827001023
. Te
£
|
_ 3 v T—H =
AR
777 77777 |9 W
» TR - GAB _
. E _ AU | | AO

N7

EANY @ FILES @ AB H13
32 1827001018 7 12 5 18 6.6 79 30 15.8 15
40 1827001019 10 12 5 18 6.6 90 30 17 17.5
50 1827001020 10 14 5 21 9 110 35 21.7 20
63 1827020085 10 14 5 21 9 120 35 217 25
80 1827001022 12 13 5 27 1" 153 50 27 225
100 1827001023 14.5 13 5 27 11 178 50 26.5 275
EANY @ TG 0,1 TR JS14
32 325 65
40 38 75
50 46.5 90
63 56.5 100
80 72 128
\

EMERSON.



AVENTICS CCI =X AV NI R IUHA 112

EARY @ TG0 TR JS14
100 89 148

EMERSON.



AVENTICSCCI > U—X AN R A 113
(1SO 21287) 2023-11-22

RILN AA4, 2 1)—X CM1

EARNOER ME NTUTILES
[mm]
32 AF=I), yO0LXY* EipHOE 1823120020
40 AF=I), 70LXY* FEiNHOE 1823120021
50 AF=I), 70LXY* HEEhHOE 1823120022
63 AF=I), VO0LXY* EipHOE 1823120023
80 AF=I), 70LXY* FEiHOE 1823120024
100 AF=I), 70LXY* HEEhH o E 1823120025
L EL . .l6

N7

EANY @ FILES o d &K EK e8 EL L &K L6 &K
32 1823120020 20 10 45.2+0,3 3.5 9
40 1823120021 22 12 52.2+0,3 4 9
50 1823120022 22 12 60.2 +0,3 4 9
63 1823120023 28 16 70.2+0,3 4.5 11
80 1823120024 28 16 90.2 +0,3 4.5 1"
100 1823120025 38 20 110.2 +0,3 5 1"

EMERSON.



AVENTICSCCI =X AV NI KD H 114
(1SO 21287) 2023-11-22

BT+ S

e RFUTINES
HiR 1827020275
32,2 _
10,2 19
2,2_ » 12 "
| \ , _ (‘\ N L C\
T OGN
M25 _ M4 _ M3 _
__M3ﬁ_ o __M2,5 __Mt}_

Eéal))
TILES )il
1827020275 16-100

4

od

EMERSON.



AVENTICSCCI > U—X AN R A 115
(1SO 21287) 2023-11-22

WEHY TVUY PM5, > 1)—X CM2

ALY R4 X ME XTUTILES
M6x1 AF=I), o0LXYF R412026140
M8x1,25 AF=), V0LXY F R412026141
M10x1,25 AF—=), 704LXYF R412026142
M12x1,25 AF=I), v0LXYF R412026143
M16x1,5 AF=I), o0LXYF R412026144
+ik
— F o
SW3 SW2 SWi1
[s2]
o ) v
Q] ¥
1 |
i i o
| =] Q
A |
* L2
L L -

*O¥EHEOMIE

M4 1826409008 12 13.5 4 13 33 8 12 3.2 7
M5 R412007860 8.5 14.8 6 12 38.5 13.5 7 5 8
M6x1 R412026140 8.5 14.5 6 1" 36.5 1" 7 5 10
M8x1.25 R412026141 12.5 19 8 21 58 21 1" 7 13
M10x1.25 R412026142 22 32 14 23 745 23 19 12 17
M12x1.25 R412026143 22 32 14 24 75 24 19 12 19
M16x1.5 R412026144 32 45 22 30 103 30 30 20 24
M20x1.5 R412026145 32 45 22 40 119 40 30 20 30
M27x2 1826409006 62 62 28 48 147 54 32 24 41
M36x2 1826409007 80 80 38 86 241 72 50 36 55

EMERSON.



AVENTICSCCI > U—X AN R A 116
(1SO 21287) 2023-11-22

M42x2 R412007729 64 98 42 96 271 82 60 36 65
KK SW4 al?] 1) 2)
M4 12 8 0.05-0.2 0-0,5
M5 13 8 0.05-0.2 0-0,5
M6x1 13 6 0.05-0.5 0-1,5
M8x1.25 17 8 0.05-0.5 0-1,5
M10x1.25 30 8 0.05-0.5 0-2
M12x1.25 30 7 0.05-0.5 0-2
M16x1.5 41 6 0.05-0.5 0-2
M20x1.5 41 6 0.05-0.5 0-2
M27x2 55 8 0.05-0.2 0-2
M36x2 75 8 0.05-0.2 0-2
M42x2 85 8 0.05-0.2 0-2
1) it
2) SYTIEY
QN

EMERSON.



AVENTICSCCI > U—X AN R A 17
(1SO 21287) 2023-11-22

WEHY TVUYT PM7, > 1)—X CM2

ALY R4 X e NTUTILES

M10x1,25 AF—=I), VO0LXYF 1827001629
M12x1,25 AF=I), 70LXYF 1827001630

M16x1,5 AF—I, VOLXY * 1827001631

&
|l -
| el -
— e —_=-_

al
e
d7

Y @ | @ \

Bl -
KK ) al a2 d1h11 d6 H13 d7 H13 el H13 e2 h1 2
TILES
M10x1.25 1827001629 60 37 20 6.6 1" 36 0,15 23 0,15 15 7
M12x1.25 1827001630 60 56 25 9 15 42 10,2 38 10,2 20 9
M16x1.5 1827001631 80 80 30 1" 18 58 +0,2 58 +0,2 20 1"

EMERSON.



AVENTICS CCI =X AV NI R IUHA

(ISO 21287) 2023-11-22
KK %7\ al a2 d1 h11 d6 H13 d7 H13 e1 H13 e2 h1 t2
TILES
M20x1.5 | 1827001632 90 90 40 14 20 65 £0,3 65 £0,3 20 13
M27x2 1827001633 90 90 40 14 20 65 20,3 65 20,3 20 13
M36x2 1827001634 125 125 60 18 26 90 +0,3 90 0,3 30 17
Hhy 7TV
JE> D& Y &
Ko 1t NERKR
NILD £5%
M10x1.25 24 17 17 Nm 04-08mm | 1,9-2,3mm
M12x1.25 30 19 29 Nm 04-08mm | 1,9-23mm
M16x1.5 32 24 71 Nm 0,4-0,8mm | 1,9-2,3mm
M20x1.5 35 36 138Nm | 04-0,8mm | 1,9-2,3 mm
M27x2 35 36 350 Nm 04- 1,9-23mm
20,31 mm Eoe
0,4-
M36x2 55 50 1080 Nm 2,8-3,4mm
0,95 mm

EMERSON.




AVENTICSCCI > U—X AN R A 119
(1SO 21287) 2023-11-22

OY RVLEAI> R AP2, 1) —X CM2

XTUTILES
SSI, ICM ATVLARF= 3330510000
CSL-RD, SSI, ICM ATVLAARF=L 3330516000
CCL-IC, CSL-RD, CCI, ICM ATV LAARF—L 3330520000
CCL-IS, CCL-IC, CCI, CSL-RD, SSI, ICM, ICS-D2, 167 ATV LARF—L 3590502000
CCL-IS, CCL-IC, CClI, SSI, 167, ICS-D2 ATV LARF—L 3590504000
CCL-IS, ICS-D2, 167 ATV LAARF=I 3590505000

BL
C

cM
i
|
|
|
|1
K

A
Y

A

Y :

|
KK 7,7)17’_%)% CE CKe8 CL CM B12 ER BL LE
M4 3330510000 16 4 10 5 6 15 8
M6 3330516000 24 6 12 6 7 17 12
M8 3330520000 32 8 16 8 10 22 16

EMERSON.



AVENTICSCCIZU—X OO KU A 120
(ISO 21287) 2023-11-22
KK X7l CE CKe8 CL CM B12 ER BL LE
TILES
M10x1,25 3590502000 40 10 20 10 12 26 20
M12x1,25 3590504000 48 12 24 12 14 31 24
M16x1,5 3590505000 64 16 32 16 19 39 32
M20x1,5 3590508000 80 20 40 20 20 49 40

EMERSON.



AVENTICSCCI > U—X AN R A 121
(1SO 21287) 2023-11-22

OY RVLEAI> R AP2, 1) —X CM2

2 1) —XH & RTUTINES
CCl, MNI, ICM, KHZ AF=I, FOLXY F 1822122009
CCl, MNI, ICM, KHZ AF=I, JOLXYF 1822122010
PRA, TRB, CCI, MNI, ICM, KPZ, 167, CVI, RPC, RDC AF=I, FOLXY F 1822122024
PRA, TRB, CCl, KPZ, 167, CVI, RPC, 102 AF=I), JOLXYF 1822122025
PRA, TRB, CCI, KPZ, 167, CVI, RPC, RDC, 102 AF—=I, FJOLXY F 1822122005
CK

1
s
o3

il
3 o

|
1
I
I
S S O |
T
|
I
{

7 ’1 771 | —
N/ 22— )
LE .
X
ER CE .
I
1
[
|
1
O B B
I
|
|
I
|
KK x7Y BL CE JCK e11 CL CM D1 ER LE
TILES
M4 1822122028 11 16 4 8 4 8 5 8
M6 1822122009 16 24 6 12 6 10 7 12

EMERSON.




AVENTICSCCIZU—X OO KU A 122
(ISO 21287) 2023-11-22
KK _,77__ U.:. BL CH @CK e11 CL CM @D1 ER LE
TILES
M8 1822122010 21,5 32 8 16 8 14 10 16
M10x1,25 1822122024 26 40 10 20 10 18 12 20
M12x1,25 1822122025 31 48 12 24 12 20 14 24
M16x1,5 1822122005 39 64 16 32 16 26 19 32
M20x1,5 1822122004 50 80 20 40 20 34 20 40
M10 8958000122 26 40 10 20 10 18 12 20
M12 8958000132 31 48 12 24 12 20 14 24
M48x2 8958019332 122 192 50 96 50 82 73 96
M5 1822122008 13.5 20 5 10 5 9 6 10

EMERSON.



AVENTICSCCI =X AV NI KD H 123
(1SO 21287) 2023-11-22

Oy RYVLEAI> RPMe, ')—X CM2

REIR V) 312 -0(E &)

[mm]
AP6 14 AF—)L, FOLXY F 1822122032
AP6 16 AF—), JOLXY F 1822122033
APG 21 AF—), FOLXY F 1822122034
L1
|-~
L3
<«
)
‘ —
m.l\ AE(—Q l:}_______
a i
\ X
e
— g —
> I
' \ \ [ o
| LB e o | e —— 0-3, =
4 — A
i
-
EK
KK X b1B12 b2 d12 b3 b4 +0,2 d3 ¢ +0,3 EK f
FILES 2 ’ 9
14 1822122032 14 28 20 33 17 15 10 0.7 20
16 1822122033 16 30 25 43 19 12 12 1 26
21 1822122034 21 40 35 43 24 14 16 1 31
25 1822122035 25 50 40 43 30 16 20 1 43
N

EMERSON.



AVENTICS CCI =X AV NI R IUHA 124

(|SO 21 287) 2023-11-22
E&alV)
PLES b1 B12 b2 d12
30 1822122036 37 67 60 6.3 38 24 30 15 54
KK L1 L2 L3 L4 +1 L6 t+0,2
14 90 78 53 50 35 3
16 108 92 58 55 39 3
21 129 108 65 62 50 3
25 156 131 73 69 60 3
30 200 168 98 92 77 5
QY

EMERSON.



AVENTICSCCI =X AV NI KD H 125
(1SO 21287) 2023-11-22

OYy ROLERAIY KRAP6, Z1)—X CM2

REIR V) 312 -0(E &) RTUTINES
[mm]

MNI, CCl, SSI 6 AF—=I, FOLXY F 1822124001

MNI, CCl, SSI, KPZ 8 AF=I), JOLXYF 1822124002

PRA, TRB, MNI, CCl, SSI, RPC, KPZ, 10 AF=I, FOLXY F 1822124003
167, CVI, RDC

PRA, TRB, CCl, SSI, RPC, KPZ, 167, 12 AF=I), JOLXYF 1822124004
CVI, 102

PRA, TRB, CCl, SSI, RPC, KPZ, 167, 16 AF—=I, FJO0LXY F 1822124005
CVI, RDC, 102

CE

’/ \1/ \\
— -, J \ pE=EfsE v
b ——— —_—t]— ]
- - 4( \ ! ‘::: = x
\\ /!
LF
AV

EMERSON.



AVENTICS CCI U —X YNNI RIS 126
(ISO 21287) 2023-11-22
KK X U.z. AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SW
TILES
M4 1822124000 12 8 27 5 8 9 7.5 9 9
M6 1822124001 13 9 30 6 9 10 7.5 10 1"
M8 1822124002 16 12 36 8 12 12 9.5 12 14
M10 8958206402 19 20 43 10 14 14 10.5 13 17
M12 8958208852 22 22 50 12 16 16 12 16 19
M10x1,25 1822124003 19 15 43 10 14 14 1.5 14 17
M12x1,25 1822124004 22 18 50 12 16 16 12.5 16 19
M16x1,5 1822124005 27 24 64 16 21 21 15.5 21 22
M20x1,5 1822124006 34 30 77 20 25 25 18.5 25 30
M24x2 8958208002 42 36 94 25 31 30 23 30 36
M27x2 1822124013 50 45 110 30 37 35 27 35 41
M36x2 1822124008 60 56 125 35 43 40 32 40 50
M42x2 1822124009 69 60 142 40 49 45.5 37 45 55
M48x2 8958208842 75 65 160 50 60 58 45 60 65
KK Z [°] max.
M4 4
M6 4
M8 4
M10 6
M12 13
M10x1,25 4
M12x1,25 4
M16x1,5 4
M20x1,5 4
M24x2 15
M27x2 4
M36x2 4
M42x2 4
M48x2 6

EMERSON.



AVENTICSCCI =X AV NI KD H 127
(1SO 21287) 2023-11-22

OYy ROLERAIY KRAP6, Z1)—X CM2

REIR V) 312 -0(E &)

[mm]
CCL-IS, CCL-IC, SSI, CSL-RD, ICM, 10 ATVLAART=I 8958209032
ICS-D2
CCL-IS, CCL-IC, SSI, ICS-D2 12 ATV LAARF—L 8958209042
CCL-IS, CCL-IC, SSI, ICS-D2 16 ATV LAARF=I 8958209052
CE

’/ il \\
- - y g pElmETs <
——-— —_——t]——— -
t w { \ ! ‘::: ko= X
AN 7
LF
AV

@ CN H7 EN-0,1
M4 8958209002 11 8 27 5 8 9 6 9 9
M6 8958209012 13 9 30 6 9 10 6,75 10 1"

EMERSON.



AVENTICSCCI > U—X AV NO R UUHA 128
(ISO 21287) 2023-11-22
KK s AA AV min. CE @ CN H7 EN-0,1 ER EU max. LF SwW

7ILES
M8 8958209022 16 12 36 8 12 12 9 12 14
M10x1,25 | 8958209032 19 15 43 10 14 14 105 14 17
M12x1,25 | 8958209042 22 18 50 12 16 16 12 16 19
M16x1,5 | 8958209052 27 24 64 16 21 21 15 21 22
M20x1,5 | 8958209062 34 30 77 20 25 25 18 25 30
M27x2 8958209072 50 45 110 30 37 35 25 35 41
KK Z [°] max.
M4 6,5
M6 6,5
M8 6,5
M10x1,25 6,5
M12x1,25 6,5
M16x1,5 7,5
M20x1,5 7,5
M27x2 7,5

EMERSON.



AVENTICSCCI =X AV NI KD H 129
(1SO 21287) 2023-11-22

EARNVBER., ~J—X CM2

KHZ
SSI

ALY R4 X XTUTILES
M6 ATVLARF= 2701432000
M8 ATVLAARAF=IL 2701450000
M10 ATV LAARF—L 2701463000

— = ~eal}
I
— — m
< S SN O I S I ay)ml
!C“ >
/ ./
357U
KK S LEE KM KT KU NV
M3 2701412000 20 55 1.8 1.5
M5 2701420000 25 8 27 25
M6 2701432000 30 10 3.2 3
M8 2701450000 35 13 4 4
M10 2701463000 40 16 5 5

EMERSON.



AVENTICSCCI =X AV NI KD H 130
(1SO 21287) 2023-11-22

EANEHEAFY b MR9

ALY R4 X e XTUTILES

Mé AF=I, FOLXY F 1823300033

M8 AF=I, JOLXYF 1823300034

M10x1,25 AF=I, FOLXY F 1823A00020

M12x1,25 AF=I, FJO0LXY F 8103190344

M16x1,5 AF—=I, FJOLXY F 1823300030

M8 ATV LAARF=I 3330320000

M10x1,25 ATV LARF— 3590302000

M12x1,25 ATVLARF=L 3590304000

M16x1,5 ATVLARF—L 3590305000

AR
Ik

KK

< KV - e KW
KK 7,7)171_%)%. KV KW
M4 1823300033 10 3.2
M6 1823300034 13 4
M8 1823A00021 19 6
M10 8103190344 19 6
M10x1,25 1823300030 24 8
M20x1,5 1823300031 30 10
M27x2 1823A00029 41 13.5

EMERSON.



AVENTICS CCI =X AV NI R IUHA 131

(ISO 21287) 2023-11-22
KK 77)3;)% KV Kw
M36x2 | 8103190414 50 16
M42x2 | 8103190424 60 21
M6 8103190644 10 3.2
M8 8103190164 13 4
M10x1,25 | 8103190464 17 5
M4 3330310000 7 2.2
M12x1,25 | 3590304000 19 6
M16x1,5 | 3590305000 24 8
M20x1,5 | 3590308000 30 10
M20x1,5 | 8103040344 30 10
M24x2 | 8103190394 36 12
M48x2 | 8103190434 65 25
M10x1,25 | 2990600303 17 5
M12x1,25 | 2990600304 19 6
M16x1,5 | 2990600305 24 8
M20x1,5 | 2990600308 30 10
M27x2 | 2990600312 41 135
M36x2 | 2990600316 50 16
M42x2 | 2990600325 60 21

EMERSON.



AVENTICSCCI =X AV NI KD H 132
(1SO 21287) 2023-11-22

o — 2 1)—XST6

PRA
PRE
CClI

KPZ

SN
GPC
CVI
T—FINIVRAY=THL, ERAYF
CE-BAMENET

cULus

RoHS

UL (Underwriters Laboratories)

S—  aAvry -7 T—7 YRER RER EHEE EBHEE FEBHEE EHEE Ll
ADE K247 JLAN— JIEEL DC, &K AC, &K DC. &/ DC, &K AC., &/ AC. &K

A [m] [A] [A] [V DC] [V DC] [V AC] [V AC]

PRA, —R| RUDL 3 0.13 0.13 10 230 10 230 | BHRE R412022866
PRE, 2 B ik
ccl,

KPZ, SSI,

GPC, CVI
PRA, J—R| RUDL 5 0.13 0.13 10 230 10 230 | BMRE R412027170
PRE, -5 B 1k
ccl,

KPZ, SSI,

GPC, CVI
PRA, —R| RUDL 3 0.3 0.5 10 30 10 30| WRE R412022869
PRE, 2> Brik
ccl,

KPZ, SSlI,

GPC, CVI
PRA, —R| RUDL 5 0.3 0.5 10 30 10 30| BMRE R412022870
PRE, 2 B ik
ccl,

KPZ, SSl,

GPC, CVI
PRA, J—R| RUDL 10 0.3 0.5 10 30 10 30| BHRE R412022871
PRE, R B ik
ccl,

KPZ, SSI,

GPC, CVI
PRA, EFH| RUDL 3 0.13 10 30 A&, R412022853
PRE, PNP 2 i R Ex
ccl, By ik

KPZ, SSI,

GPC, CVI
PRA, EFH| RUDL 5 0.13 10 30 e B, R412022855
PRE, PNP 2 Bt R Bx
ccl, Brik

KPZ, SSlI,

GPC, CVI
PRA, BEFH| RUDL 10 0.13 10 30 e g, R412022857
PRE, PNP 2 T
ccl, B ik

KPZ, SSI,

GPC, CVI

EMERSON.



AVENTICSCCI =X AV NI KD H 133
(1SO 21287) 2023-11-22

JY— dvay g—7 T—7 {BRER RER FIHEE FHEE FHEE FDEE BR
ADE k247 JLAN— JIREL DC, &K AC. &K DC, &/ DC. &K AC. &/ AC. &K

B [m] (Al (Al [VDC] [VDC] [VAC] [VAC]
PRA, NPN| RUSL 3 0.13 10 30 i, R412022849
PRE, Rz B R i
cal, B 1E
KPZ, SSI,
GPC, CVI
PRA, NPN| RUSL 5 0.13 10 30 T sEiE i, R412022850
PRE, 2 Wit R e
cal, B iE
KPZ, SSI,
GPC, CVI
Ii&
57 . 295 oo L _
4
‘ F 1= o 2.7
- . BN
3'2—‘ I — = s ———] BU
BK
X 23 x 0,14 mm?2

1*=4RA > h2*=0OYy 4L 3*=LED V1> RV, EH
L=%—7)IK&EBN=%,BK=8,BU=F
X=EFF :11.6 mm

R412022866, R412027170

32,5 L

4
8 i om 27
T I BN
m e ==

BU
1.2 2x 0,14 mm2
30

ja)
3+ 6\N'2»

1*={BRAR2*=0OY 98U 3*=LED U1 R, EH
L=4—7)L&& BN=%, BU=F

EMERSON.



AVENTICSCCI > U—X AN R A 134
(1SO 21287) 2023-11-22

o — 2 1)—XST6

PRA
PRE
CClI
KPZ
SSI

UL (Underwriters Laboratories)

S)— ARy v—=7 q—7 HRER EBEE EBHEE FEBEE EDHEE
ANE K247 JLAN— JILEEL DC, &K DC. &/» DC, &K AC., &/0 AC. &K

EEE [m] (Al [VDC] [VDC] [VAC] [VAC]

PRA, J—RK| RUIL 0.3 0.13 0.13 10 30 10 30| BMRE R412022868
PRE, 2z B ik
CCl,
KPZ, SSI,
GPC, CVI

PRA, J—R| RUIL 0.3 0.13 0.13 10 30 10 30| BMRE R412027172
PRE, 2 B ik
CCl,
KPZ, SSI,
GPC, CVI

PRA, J—R| RUIL 0.3 0.3 0.5 10 30 10 30| HRE R412022872
PRE, =% bigld
CCl,
KPZ, SSI,
GPC, CVI

PRA, BN | RUJL 0.3 0.13 10 30 iy AR 1, R412022858
PRE, PNP 0% Wt #n
CCl, B ik
KPZ, SSI,
GPC, CVI

PRA, NPN| RUTL 0.3 0.13 10 30 iy AR 1, R412022851
PRE, 2 Wt R Er

CCl, Frik
KPZ, SSI,

GPC, CVI

EMERSON.



AVENTICSCCI =X AV NI KD H 135

(ISO 21287) 2023-11-22
ik
29,5 L
5,7
48 2,7 29-37
L4 /» 1* 2*
._————'——‘-—'__——__—>. —
il — e e = &
" |

1*=4JfRA > ~h2* =AYy YU 3*=LED V1> RV, EH
L=—7ILk&
X=8F: 11,6 mm, J—K:83mm

EMERSON.



AVENTICSCCI =X AV NI KD H 136
(1SO 21287) 2023-11-22

o — 2 1)—XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

729

M12
CE-BAMENEF
cULus

RoHS

UL (Underwriters Laboratories)

S)— ARy v—=7 g—7  YRER YRER EBEE FBHEFE FHEE FEDEE
ANE N247 JLAN— JLEEL DC, &K AC., &K DC. &/ DC, &K AC. &/ AC. &K

A [m] [A] [A] [VDC] [VDC] [VAC] [VAC]
PRA,| U—K| RUIL 03 0.13 0.13 10 30 10 30| WA R412027171
PRE, 2y B
ccl,
KPZ, SSl,
GPC, CVI
PRA,| U—K| RUIL 03 03 05 10 30 10 30| WA R412022876
PRE, 2> Bk
ccl,
KPZ, SSl,
GPC, CVI
PRA,| EBFH| RUIL 0.1 0.13 10 30 it s i, R412022879
PRE, PNP 2> B R
ccl, B
KPZ, SSl,
GPC, CVI
PRA,| BFH| KUIL 03 0.13 10 30 it sE e, R412022863
PRE, PNP 2 B R
ccl, B
KPZ, SSl,
GPC, CVI
PRA,| BFH| RKUIL 3 0.13 10 30 s, R412022877
PRE, PNP 2 att R B
ccl, Bk
KPZ, SSl,
GPC, CVI
PRA,| BFH| RKUIL 5 0.13 10 30 s, R412022878
PRE, PNP 2 LR
ccl, Bk
KPZ, SSl,
GPC, CVI

EMERSON.



AVENTICSCCI =X AV NI KD H 137

(ISO 21287) 2023-11-22
ik
29,5 L
57 2,7 40 - 50
4,8
/71* 2*
: L = S 43
X

P =gIRA > R2*=0Y VR U 3*=LED V1> R, &EH
L=—7Ik&
X=PNP: 11,6 mm, 'J—K:8,3mm

EMERSON.



AVENTICSCCI =X AV NI KD H 138
(1SO 21287) 2023-11-22

toH—, 2 )—-XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

729

M12

ATEX
CE-BAMENET
cULus

RoHS

UL (Underwriters Laboratories)

g (LI M

Ru

ﬂ- 4 BK
PNP 3_jBu ] _

=X a>39 r—7 r—7 YIREFR
O EZERS K247 ILAIN— IERE L DC, &K
[m] [A]

PRA, PRE, PNP| RUIL AR 0.3 0.1 10 30| THELENY, & R412022864
CCl, KPZ, 4 R BBy b
SSI, GPC,

cvi
+3&
29,5 L
5,7 2,7 40 - 50
48 P
[ 5
® ; T o X
o, b e R =" F-—-—R——- = — s RS =
<R =
olelols
X

1*={IRRA > R2*=0Y IRLU 3*=LED V1> R, EH
L=—7IR&
X=PNP: 11,6 mm, 'J—R:83mm

EMERSON.



AVENTICSCCI =X AV NI KD H 139
(1SO 21287) 2023-11-22

o — 2 1)—XST6

PRA
PRE
CClI

KPZ

UL (Underwriters Laboratories)

JU— dvay g7 T—7 {RER RER FIDEE FHEE HHEE FDHEE Rz XTUTILES
ADE k247 JLAN— JIREL DC, &K AC., &K DC, &/ DC. &K AC. &4 AC, &K

EEAS [m] [A] [A] [V DC] [V DC] [V AC] [V AC]

PRA, —R| RUDL 0.3 0.3 0.5 10 30 10 30| WmRE R412022873
PRE, 2> By ik
ccl,

KPZ, SSlI,

GPC, CVI
PRA, —R| KUK 0.3 0.3 0.5 10 30 10 30| BMRE R412022875
PRE, EZIL Bh LE
ccl,

KPZ, SSlI,

GPC, CVI
PRA, J—R| RUDL 0.5 0.3 0.5 10 30 10 30| BHRE R412022874
PRE, 2 B ik
ccl,

KPZ, SSI,

GPC, CVI
PRA, EFH| RUDL 0.3 0.13 10 30 A&, R412022859
PRE, PNP > i R Ex
ccl, By ik

KPZ, SSI,

GPC, CVI
PRA, EFH| KUK 0.3 0.13 10 30 e B, R412022862
PRE, PNP =L B R B
ccl, Brik

KPZ, SSlI,

GPC, CVI
PRA, BEFH| RUDL 0.5 0.13 10 30 e S, R412022861
PRE, PNP 2 B R
ccl, B iE

KPZ, SSI,

GPC, CVI
PRA, NPN| RUJL 0.3 0.13 10 30 A&, R412022852
PRE, 2 B R Ex
ccl, B ik

KPZ, SSI,

GPC, CVI

EMERSON.



AVENTICSCCI =X AV NI KD H 140

(ISO 21287) 2023-11-22
ik

57 29,5 L

4'8 2,7 36-415

4 1* 2*

/,
3 T e e = { —13
X S| WS

1" =4{MfRRA > R2*=0OY Y4l 3*=LED T 1> R, EH
L=—7ILk&
X=EF: 11,6 mm, J—K:83mm

EMERSON.



AVENTICSCCI > U—X AN R A 141
(1SO 21287) 2023-11-22

toH—, 2 )—-XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

729

M8

ATEX
CE-BAMENET
cULus

RoHS

UL (Underwriters Laboratories)

T Hap2M o

Iig BK

=X 29 g—7 g—7 PHRER EBEE EBEE
O EEERM hNaA7 LAN— IS L DC. &K DC. &/» DC. &K

[m] [Al [V DC] [V DC]

PRA, PRE, PNP| RUIL AR 0.3 0.1 10 30| THELENY, & R412022860
CCl, KPZ, L Yl
SSI, GPC,
cVi

R

5,7

2,7 36 -41,5
4,8

5,8
|
|
|
G
|
1
|
|
|
|
|
j
|
|
|
|
|
|
|
i
M8x1

21,75 ,
| 082

32,9

%
iy o>

1T*={R_RA > 2*=0OY V48U 3*=LED V1> R, EH
L=7—7LERE
X=8F: 11,6 mm, J—RK:83mm

EMERSON.



AVENTICSCCI > U—X AN R A 142
(1SO 21287) 2023-11-22

o — 2 1)—XST6

PRA

PRE

CcCl

KPZ

SSi

GPC

CVI

BUTLW2Tr—7 ol
ATEX
CE-BAMENEF
cULus

RoHS

UL (Underwriters Laboratories)

\

T Hap2M o

ﬂ— BK
PNP 3_jBu ]_

=X a>29 g—7 g—7 LIRER EBEE EBEE
O EEERM hNaA7 LAN— LRZ L DC. &K DC. &> DC. &K

[m] Al [V DC] [V DC]

PRA, PRE, PNP| RUIL AR 3 0.1 10 30| THELENY, & R412022854
CCl, KPZ, L Yl
SSI, GPC,

cVI

PRA, PRE, PNP| RUDIL &R 5 0.1 10 30| TR, & R412022856
CCl, KPZ, R ERf LE
SSI, GPC,

CVI

+&

T — BN

BK
X 23x0,14 mm?2

30

@29

9
3* J 6@7/‘

1T*={R_RA > 2*=0OY V8L 3*=LED V1> R, EH
L=7—7)IR&EBN=%,BK=8,BU=F
X=EF:11.6 mm

EMERSON.



AVENTICSCCI > U—X AN R A 143
(1SO 21287) 2023-11-22

oY —, =X ST6-HT

PRA
PRE
CCl
KPzZ
BOTWar—7 Lok
[z
RoHS
UL (Underwriters Laboratories) /
IO_J——O—H—/
ﬂO—(:';I{L—f/ I~

g—7 y—7  ORER EEBERE EBHEE FBEE FHEE Eickoo NTUTILES
IAN— JILEZL DC. &K . DC., &’/ DC. &K AC. &/ AC, &K
[m] [A] [V DC] [V DC] [V AC] [V AC]
PRA, J—R| RUDL 3 0.13 0.13 0 30 0 30| BHRE R412022865
PRE, x> BhIE
CCl, KPzZ
PRA, —R| RUDL 10 0.13 0.13 0 30 0 30| BmERE R412022867
PRE, x> Bh1E
CCl, KPZ
T3k
57 - 29,5 1 e L o
4.8 2.7
1* 2*
r! A — BN
2 e T — X
BU
8,3 3x0,14 mm?

1*=4IWEIRI N 2*=BERL
L=—7)&& BN=%, BU=&

EMERSON.



AVENTICSCCI =X AV NI KD H 144
(1SO 21287) 2023-11-22

o —, 2 1)—XSN3
729
M12

dAVBRIORNEAT BRIER B EFEE DC. X XTVUTILES
[V DC]

PNP 31 10 TiEAR I, MRt R ERRA b 0830100438

EMERSON.



AVENTICS CCI =X AV NI R IUHA 145

(1SO 21287) 2023-11-22
3%
~ M12
i
1 1)
. t ) /_
| W(ﬁ — = } —_ﬁ/ : v
< A (&
. |
2 1 | ' l
| |
u‘:ﬁll _14.8]
o - e
175
- 23:5 - 2)
- S =l
| O oh
w 1
[a|
Y
1)73>7°1’3U
2) LED

E2AHT:1=(+), 3=(-). 4=(0OUT)., EN 60947-5-2:1998

EMERSON.



AVENTICSCCI =X AV NI KD H 146
(1SO 21287) 2023-11-22

oY —, 1) —X SM6

PRA
PRE
CcCl
KPZ
SSi
GPC
CcvI
cULus

BN
BK Ru

G
v/ Dy
1 DA

~ = |~

B
2z
ol

| *

)—X AVRIRNEAT T—7ILEE L B ORI E £ Ecait o9 — XTVTILES
O EZER [m] [mm] [mm]
PRA, PRE, CCl, 7Oy 2 32 45 | THEEM, B R E R412010141
KPZ, SSI, GPC, PriE, BERRE

cVvI
PRA, PRE, CCl, 7Oy 2 64 77 | EEN, B RE R412010143
KPZ, SSI, GPC, Brit, BB RRE

cVvI
PRA, PRE, CCl, 7Oy 2 96 109 | TGN, B RER R412010262
KPZ, SSI, GPC, Bk, BERRE

cvI
PRA, PRE, CCl, 7Oy 2 128 141 | THEHEYE, BERE R412010264
KPZ, SSI, GPC, Brik, BERRE

cvI
PRA, PRE, CClI, 7oy 2 160 173 | RN, BYERER R412010411
KPZ, SSI, GPC, Brit, BB ERE

cVvI
PRA, PRE, CCl, Vo anktsl 2 192 205 | TEsM, B R R412010413
KPZ, SSI, GPC, Brik, BEFRE

cvI
PRA, PRE, CCl, Vioanks 2 224 237 | MEMEMYE, B RE R412010415
KPZ, SSI, GPC, Brik, BERRE

cvI
PRA, PRE, CClI, 7oy 2 256 269 | MY, EitR i R412010417
KPZ, SSI, GPC, Brit, BERERE

cVvI

EMERSON.



AVENTICSCCI =X AV NI KD H 147

(ISO 21287) 2023-11-22
N
A L
22
— %g—-@-—-- e S = S —
@ BU
~63
242
37,1
@ == = '
® N
) ) 2
5,8
[[58]
13,6
1= LED 2* = ¥ WAKR> 3* = RURAE > Max11
L=r—7LEE
(2) WH=F1
A=t —Ke

EMERSON.



AVENTICS CCI ' U—X VNI RIS
(ISO 21287)

148
2023-11-22

oY —, 1) —X SM6

PRA
PRE
CcCl
KPZ
SSi
GPC
CcvI
759
M8x1
cULus

A
|l—il>-i—
3

e

G l—)a"‘iaf
Bk __RU

WH,

Bu R _

)—X AVRIRNEAT T—7ILEEL B ORI E £ Ecait o9 — XTVTILES
(OJ=E::3: 80 [m] [mm] [mm]
PRA, PRE, CCl, 7Oy 0.3 32 45 | THEEM, B R e R412010142
KPZ, SSI, GPC, PriE, BERERE

cVvI
PRA, PRE, CCl, 7Oy 0.3 64 77 | B RERRSLE, MR R412010144
KPZ, SSI, GPC, RERIE, BERR

cVvI E
PRA, PRE, CCl, 7Oy 0.3 96 109 | ftE 8RR IE, ik R412010263
KPz, SSI, GPC, K&, BEREZ

cvI E
PRA, PRE, CCl, 7Oy 0.3 128 141 | BtERERR L, i R412010265
KPZ, SSI, GPC, R, BERARZ

cvI E
PRA, PRE, CClI, 7oy 03 160 173 | B REPA L, Mtk R412010410
KPZ, SSI, GPC, RERIE, BERR

cVvI E
PRA, PRE, CCl, Vo ankts 0.3 192 205 | i REBALL, /R R412010412
KPZ, SSI, GPC, RERHIE, BE TR

cvI E
PRA, PRE, CCl, Vioan ks 0.3 224 237 | WmEREBLL, &R R412010414
KPZ, SSI, GPC, RERLE, BERZ

cvI E
PRA, PRE, CCl, 7Oy 0.3 256 269 | Wi RERPLIE, MR R412010416
KPZ, SSI, GPC, RERIE, BERR

cVvI E

EMERSON.



AVENTICSCCI =X AV NI KD H 149

(ISO 21287) 2023-11-22
3k
1* 2 g
A L %
=
2 \ 4
——— — = == G
1 A3
© ~40
24,2
37,1

28,1

il P .
© N
o) ] S| 3
w

5,8

13,6
1*=LED 2* = 2BRAE> 3*= A UA&HE> M3x11
L=—7IRe
B> EV)ET: 1= (+),2=(OUT 1) 3= (GND), 4 = (OUT 2), EN 60947-5-7
A=t —KZ

EMERSON.



AVENTICSCCI =X AV NI KD H 150
(1SO 21287) 2023-11-22

Y —H1T i+, 1) —X CB1

SN3

HE XTVTINES
TILEZZTA 1827020386

- ~+=,2) B ©3 ©'
>/ o O3 ©

— D

< ]
| LS

NOZ>7RU 2 VY —AEAERL 3) 24—

X7 = P 10
FILES 9Z2>7RU MA1 [Nm]
1827020386 M3x25 1,8+0,4

EMERSON.



AVENTICSCCI > U—X AN R A 151
(1SO 21287) 2023-11-22

ABEAKIRY R, 1) —X CON-RD

LERN
M8x1
348

FF

a>z9 - i BERRE s T — R T — XTUTILES
REIWHT 7 ER & TIER BK
[mm] [mm]

48 V AC/DC 4 31 A-—R1t 35 5 1834484173

38,4
32,4

EMERSON.



AVENTICSCCI > U—X AN R A 152
(1SO 21287) 2023-11-22

ABEAKIRY R, 1) —X CON-RD

Vv K
M8x1
3

FF

a5y = / Bz T — BERARER T — NTUT7ILES
NEIVYHT TIILER & TILER &K
[mm] [mm]
48V AC/DC 4 34 A-J— Rt 35 5 1834484174
+3&E (mm)
ca. 28,0

|
M8x1
29,7
211,6

12,5

max.2 5,0

EMERSON.



AVENTICSCCI =X AV NI KD H 153
(1SO 21287) 2023-11-22

ABEAKIRY R, 1) —X CON-RD

YTy k
M8x1

BERER1, 217 BERER1, A BRER2 247 T—7ILRE NTUTILES
Ly RH4X [m]
48V AC/DC VEEAN M8x1| BAVWTWLWAT—7 LD 3 1834484166
%
48V AC/DC VEEAN M8x1| BILWTWB—T Lo 5 1834484168
%
48V AC/DC VEEAN M8x1| BAVWTWLWAT—T LD 10 1834484247
b
&
L
~40
2
LO“ 3+
<
A &r
(< I
= X
S| - J___ JPEE L T 20—
S =2 H E> ! 07
/
32
3x0,25mm?
L=fx

EMERSON.



AVENTICS CCI =X AV NI R IUHA

(ISO 21287)

154
2023-11-22

ABEAKIRY R, 1) —X CON-RD

YTy k
M8x1

BRER1, 247

BREMH 1, 2
Ly k4 AZ

BRER2, 2147

T—7IRE
[m]

XTUTILES

48 V AC/DC VEEAN M8x1| BLWTWBT—T LD 3 1834484167
i
48 V AC/DC VAN Mex1| BILWTWBS—T Lo 5 1834484169
o
48V AC/DC Vv R M8x1| BILWTWBT—T Lo 10 1834484248
U
Tk
@10
M8x1.
\
1
2
0 3x0,25mm
-
™ Q \
o] i 1
T w
L ___T____E_B_E____Jg_(gr_______
Y [
16 . 32 | |
~20,5 ~40

EMERSON.



AVENTICSCCI =X AV NI KD H 155
(1SO 21287) 2023-11-22

HESR, 2—XA SN

Rl
BEiEE

EER—TI TEA&RE
[dB] [I/min]

M5 72 398 10 0.004 1827000006
G1/8 75 1623 10 0.01 1827000000

1827000000

G 1/8

EMERSON.



AVENTICSCCI 2 U—X AV NI R UUA

(ISO 21287)

156

2023-11-22

HESR, 2—XA SN

Rl
BEiEE

FER—5)
[dB]

79

TEA&RE

[I/min]

252

10

0.005

1827000032

85

700

10

0.001

1827000031

R

L1
L2

1827000032 M5 5 10.3 7
1827000031 G1/8 6 1.5 13
1827000033 G1/4 8 13.5 17
1827000034 G 3/8 10 17.5 22
1827000035 G172 12 19.5 27
8145003400 G 3/4 14 225 32
8145001000 G1 16 22.5 41

6 /N—ILT1mOEBMTRAEL LFER—T)L

EMERSON.



nh elisen: T 12

Efficient pneumatic solutions, our program:
cylinders and drives, valves and valve systems,
air supply management

Visit us: Emerson.com/Aventics
Your local contact: Emerson.com/contactus

Q, Emerson.com
ﬁ Facebook.com/EmersonAutomationSolutions
LinkedIn.com/company/Emerson-Automation-Solutions

pu—

"/ Twitter.com/EMR_Automation

An example configuration is depicted on the title page. The delivered product may thus vary from that in the illustration. Subject to change. This
Document, as well as the data, specifications and other information set forth in it, are the exclusive property of AVENTICS GmbH. It may not be
reproduced or given to third parties without its consent. Only use the AVENTICS products shown in industrial applications. Read the product
documentation completely and carefully before using the product. Observe the applicable regulations and laws of the respective country. When
integrating the product into applications, note the system manufacturer’s specifications for safe use of the product. The data specified only serve
todescribe the product. No statements concerning a certain condition or suitability for a certain application can be derived from our information
The information given does not release the user from the obligation of own judgment and verification. It must be remembered that the products
are subject to a natural process of wear and aging.

The Emerson logo is a trademark and service mark of Emerson Electric Co. Brand logotype are registered trademarks of one of the Emerson
family of companies. All other marks are the property of their respective owners. © 2019 Emerson Electric Co. All rights reserved.

EMERSON

CONSIDER IT SOLVED




